ALGEBRA

storTfora

Previous Year Questions 2017-2020

(SSC CPO-2020)

Ifaz+h2+e2=172 (a_+ b—QC], then -\/m
is:

ACa’ + b +e?=12(a+b-20) N Jab_be + ca A

I F1d
(A6 B)4
(€)3 (D) 8

1f (55" - 33y" )+ (VBx - V3y) = (Ax* + By* +

Cxy), then the value of (SA +B- \/EC) is:
KLE (5\/31&3 ~33y° )+ (\/gx ~ 3y} = (Ax* + By? +

Cxy) %, 1 (34 + B - VI5C) &1 7 31 7t |
(A) 3 (B) 12
(€)8 D)5

1
Ifx'+x"= 194, x > 0 then the value ofx+; is.

. % 1 A
e xT+ x 1= 194,x>0%,?ﬁx+; & HA A1 AL

(A) 4
(€)6

(B) 14

(D) 8

Ifx*+ 8y?- 12y - 4xy + 9@ = 0, then the value of (7x
- 8y)is:

g x* + 8y* - 12y - dxy +9 = 0 &, 1l (7% - 8y) F AF

1 HL |
(A)9 (B) 5
(C) 12 (D) 21

1
Ifx2-5x + 1 =0, then the value of [X4 + ;] = (x?

+ 1ljis:

; 1
e x2 - 5x+ 1=0%Fd {X4 +;)+[x2+ 1) = 9M T

6.

7.

10.

fx+y+z=19, xvz=216andxy+yz+zx =114,
then the value of x* + y* + z* + xyz is :
Fex+y+z=19,xyz=216 siRxy+yz+zx=114
FAl X%+ y* + 2° + Xyz B HH A9 B

(A) 1441 (B) 361

(C) 1225 (D) 577

If x2 — 3x + 1 = 0, then the value of

[X4+l2j+(x2 +1) is ;

X
! 2.
T x2 - 3x+ 1=0, % a1 | X'+ |[«(x* +1] swam
X
M A ?

(A) 5
(€)7

fx+yv+z=17,xyz=17landxy +tyz+zx=111,

then the value of ;/(f +V i+ xyz) is :

Fex+y+z=17,xyz= 171 siixy+yz+zx=111

%, qr ?(/(x:*—i-ya + 7 +xy7.) A T Tl ?
(A) 64 (BYO

(€4
If 2%+ 814 + 12y — dxy + 9 = 0, then the value of
(7x+ 8y is:

T A2+ 82 + 12y —dxy+9 =07, @ (7x+ 8y) FAH
I ?

(A) - 33 (B) 9

{C) 33
[fx+y+z=13,x+y*+2°=133and x* + i + 2°
= 847, then the value of ¥xyz is:

e x+y+z=13, ¢+ + 2= 1338+ y+2°

- =847 %, @ Yfxyz = A TW B |
(A4)21 (B) 25
(C) 24 (D) 22 () 8 (B)7
(C) -9 (D)-6
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11. faf+ b =217and a+ b=17,thenthevalueof | 15. Ifx*+x*%= 194, x>, then what is the value of
ab is :
ofg @ + b* =217 iR a+ b= 17 &, 91 ab % 97 71 x+l+2?
2l X
(4) -6 (B)-1 r e 1
)7 (D) 6 A x4+ x 194,x>0%,?ﬁx+x+2$[ﬂ'ﬁ3ﬂﬁ
12. If 2 + 1> + ¢ + 84 = 4(a — 2b + 4¢), then kol
Jab— be + ca isequal to : (A) 6 (B) 8
i \ (C) 4 (D) 14
I @ + B+ &+ 84 = 4{a- 2b+ 4d T, T .
. 16. Ifa*+ b* =82 and ah =9, then a possible value
Jab—be + ca T AR F@ | of a® + b? is:
(A) 410 B) V10 Iqfg a% + b2 = 82 3 b =9 ¥, d1 =1 | °F =1 |
(C) 5410 (D) 2410 (A) 720 (B) 830
e , (C) 750 (D) 730
13. Ifx+y+z=19,x? +y?+2z*=133 andxz=y% x
> z > 0, what is the value of (x - z) ? 17. Ifx+y+2z=19,xyz=216 andxy tyz +zx=114,
AMex+y+z=19, x> +y>+2°= 133 s xz=y2 x then the value of x° 4+ v® + 2° + xyz is:
>z> 0%, ™ (x - 2) FAE T F) e \
’ X+y+z=10, =216 3R xy+yz +zx=114
(A0 (B)5  (C)=2 (D)-5 XTyTETS ARG
_ _ g -\/X3+y3+za+xyzao‘lqﬁilﬁav_‘fl
. 5¢5x” - 3y3y’ ) +{vBx —/3¥) = (Ax® + By? +
14. If (5v6x" - 3V3y") + (VBx -8y} = (Ax* + By ) 32 ) 28
Cxy) then what is the value of (C) 30 (D) 35
(3a-3B-V15¢C)? IR
_ _ 18. Ifa+b+cthenthevalueofb—+—+ 5 is:
?J'I"E;'(5-\/§X“—S-ng“)+(-\/gx—-\/§y)=[Ax2+By2+ ¢ ca a
. . G -
£, -3B- +th+cid 2+ + 5 mamT@ R
Cxy) %, 1 (34 - 3B - VI5C) 1 5 314 7t | 7t a cEA 4 Elul
(A) 12 (B) 8 (A) O (B) 3
(C)-3 (D) -5 (€)1 (D) -1
Solution
1. (A) a*+bh*+c?+216=12(a+hb-2¢) 2 A) (S\EXS—S\E ”)—(ng—ﬁ)
at+ bt +¢? - 12a— 12b + 24c + 216 = 0 : s Y)
(a2 — 12a+ 36) + (b* — 12b + 36) + (c* + 24c + = Ax®+ By® + cxy
= . . ; R 3
(A6 (b6 + (e + 12720 555 3V3y° _ (5] —(Vy]
a- - C ) = — = = =- -
a=6 VBx— 3y V6x - 3y
b=6 (ng - \/§y)('5x2 +3y% + \/ﬁxy)
c=-12 : A
J5x — 3y
Jab-hc+ca
A=5; B=3; C=.15
J6x6-6x(-12)+(-12)x6 3A+B- Ji5 C
J36+72-72 3x5+3-— 415 x415
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1 1
3. () X+ =194 Sx++2=194+2
. 2
(x3+i,>] =196
=

1 1
X*+ =14 => x+ —=
X X
4, (A) X2+8y*-12v-4xy+9=0

(x* + 4y* - 4xy) + (4y* - 12y + 9)
(x-2y)*+(2y-3)*=0

Xx-2y=0; 2y-3=0
_3
Y= 2
x=2y
x=3
5. D) x*-5x+1=0
X+l=5
h 4
X| X%+ 1
x*] 125-15
B
X X+ —
X
10y,
5
6, (C) x*+y2+2°=361-2x114
=361-228
=133

Xty +zftxyz =
(x+y+z)[x*+y?+2° - (xy + yz +2x)] + Ixyz
= 19[133-(114)] +4 = 216

= 361 + 864
= 1225
7. (B) xX*-3x+1 =0
R 1
=x+ =1 (1)

3

1
X+ =F-3(3)=18

=x0+1=18¢
and x>+ 1="73x

. [x"‘ + Xi] =(x*+1)

x4 +1 1 18x? 1

= T XT3 = > e,

e Xx“+1 X2 3x
18]
3%

8. @)

9. (A)

10. ©)

11. ©)

12. ©)

xtv+z=17

xyz =171

xy +ys+x=111

ARSIy y A [y -3 (xy
+y7+7x)]
=17 {289 - 333)
=17 (-44)
=-748 odxyz =684

%XS +y3 +4 tXys = m

=4

X2+ 8y*+ 12y - dxy +9 =0
xt-dxy 4yt yr - 12y + 9=
(x-2y¥+ 2y +3¥ =0

_, 3
X=2y Y=
o 7x + 8y
14y + 8y =22y
3
- 2(F)
2
=-33
2 -xyz=(x+ty+z) ¢y + 22 - xy -
VZ = ZX)

(x+yv+tzP=x2+ v +22+2(xy+vz+zx)=169
133+ 2 (xy +ya +2x) =169

xy +ys+ax =18

Wyt - Bxyr = (xFy ) [y - (xy +
yz + )]

847 - 3xyz = 13 [133 - 18]

847 - 1495 =3 xyz

Ixys = -648
xys=-216
3|'XYZ = _6

a*+b* =217
at+bh=7

a’+b=(@+by-3ab{a+bh)

217 = 343 - 21ab

21 ab =126

ab=6

aZ+bi+ i+ 84=49-86 1+ 16¢
attdat+d+b+8b+l16+ - 16c+64 =0
(a-2)+(b+4¥+(c-8)>=0
a=2b=-4c=§

Jab—bc+ca =+-8+32+16
- /10
= 210
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13.(B)

14.(C)

15.(4)
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X+y+z=19
X+y*+z4=113
Xy = ¥4, X>2z

Putx=9,y=6,z=4
(x-2)=(9-4)=5

5 (5]

= Ax* + By® + exy

~ox — /3y
(«in - 133){)(.5}(2 +3y* + V5 % \./gxy)
- -ﬁ—qSy
by comparison:
A=5 L3A-B- fi5C
B=3 =15-3-15
C= /15 ==-3
xt+— =194
1 1
X+ — =14 = x+—- =4
X X

1
= X+ - +2=4+2=6
X

16.

17.

18,

(D) a*+b* =82
ab=9,(a+h?*=82+18=100,(a+b) =10
a*+b*=a+bia?+b*-ab)

=10(82-9)
=730

D) x+y+z=19
xyz =216
Xy+yz+zx=114
SO X+t -3xyz=(x+vtz) [(x+ v+ z)t-
3(xy +yz + zx]]

19[{19)%- 3 x114]

19[19]

= X' +y7 +2° + xyz = 361+ (4x216)
=1225=35

al b o2
+
be ac ab

By atb+c=0,

Put
a=2
=-1
c=-1

(2)
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What is the Slmpl]_ﬁed value of :

‘|
v/
17|
2

1

g[” 1 T i 7
X X 4x 2x

Wy B, ©, O

(4x’y — 6x%y* + 4xy” - y4) can be expressed as :
(4x’y - 6x%y* + dxy’ - y*) = 1 w9 T == o
THEAE ¢

(A) (x-y)' - x B) x+y)*-y*

(€) (x+y)'-x (D) x" - (x-y)'

If0 <6<90° and sec'”” 6 + cos'”’6 = 2, then
(secO + cosb) is equal to :

T 0 < 6 < 90°, &K sec'”79 + cos'H = 2 %, @
(secB + cosb) =1 91 T Hifsry |

[A) 2—107 [B] 1
C D l
(©) 2 D) 5
(320 + 342 + 530 + 915)~(20 + 22 — x + 18) = 43,

then the value of x is :

% (320 + 342 + 530 +915) <
43 &, d1 x =7 | o491 20T 7

(A) 11 (B) 23
(C) 26 (D) 15
IfEx"+xy? +y'=2land x* + xy + y* =3,
Lthe value of 4xy ?

AR X+ X2+ yri =21 R+ xy + ¥2 =3 F, T dxy H
| 941 & 2

(20 +22-x+18) =

then whatis

(A)12 (B)4

(C)-8 (D)-4

Ifx*- 7 x+1=0,then (x*+x)=7?
e - 7 x+1=0%d (X +x7)=?
(A 1047 (B) 47
Q@747 D) 347

10.

11.

12,

IIx+y+z=10xy+vz+zx=25and xvz =100, lhen
whal is Lhe value of (X +y*+ 2% ?

A x+ y+ =10, xy + y2 + 7x =25 SR xy~ =100 F, 1
(X:’\ + ya + [3) ] " 4] %:T"IT 7

(A) 450 (B) 540

(C)350 (D) 570

fx+v+z=1,xy+tyz +tzx=-26 and x* + y* + z*
= 151, then what will be the value of xyz?
FRRIifx+y+z=1,xXy+yz +2x=— 26 3 x* + y*

+ 2% = 151 ¥, T xyz T T 704 F o 7
(A) 24 (B) -
(C) - 18 (D) 32

Ifa+b+c=6anda?+hb?+c?2=38, then what is
the value of a(b? + ¢?) + b(c? + a?) + c{a? + b?) +
3abe?
Fra+b+c=63Ta+b2+c2=38%, T (b2 +c?
+ b(c? + a?) + c(a? + b?) + 3abe FF I FifeH ?

(A) 3 (B) -3

(€) 6 (D) -

If (2x - 5y)* - (x + 5y)* = y [Ax* + By*], then what
is the value of (2A - B)?

afe (2x - 5y)° - (2% + 5y)* = y [Ax® + By?] &, T (2A -
B) =1 A 91 Fif ?

(A) 25 (B) 40

(C) 15 (D) 10

1
If &+§=3:X>O,thenx2 (x2-47)=2

=fg ¢;+%:3,X>O B AR (x> —47) =
(A) 0 (B) 2
(C) 2 (D) -1

[fx and v are real numbers, then the least pos-
sible value value of 4 (x — 2)% + (v — 3)* — 2(x - 3)*
is :

At x TR y Arero® TeAd E, @4 (x - 2)2 + (y - 3)2 -
2(x — 3)? = =IAAH F9F 7H T EA 2

(A) 3 (By—4

Q)1 (D) -8
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13.

14.

15.

16.

17.

18.

19.
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I[fx=5.51, vy=5.52 and z = 5.57, then what is
the value of x* + v* + 27 — 3xyz ?
T x=5.51,y=5.523Mz=557% T x*+y° +2°

- 3xyz F1 T 19w |
(A) 5.146 (B) 51.46
(C) 0.05146 (D) 0.5146

[f a= 300, b=502 and ¢ = 504, then the value
of a® + b* + ¢* — 3abe ? i a = 500, b= 502
and ¢ = 504 g, 9l a® + b* + ¢® — 3abc % HH F1

it | (A) 15060

(B) 12048 (C) 18072

(D) 17040

IfX4+X2Y'2+y= ﬂandxz +Xy+y3 = i then

; 256 16°
2(x*+y9 =7
?ﬂ%x"+x‘2y3+y=—21 fih<3+xy+y3=i g
Y 256 - 16"

2(x*+y9 =7

A > B > C s D 5

W ®BF ©@F O

If87x 1 0, th hat is the val
02 4 T2 . X > 0, then what is the value

_ 1
ofx’+ —= 7
x
N 5 3 3
WX By ©@F O3

38 4
Ifx* + x* = 2599, then what will be the value of
X - x| where x> 07

Tfg x* + x4 = 2599 B, o x — x| = T 7F B,

TEIx>0%8?
(A) 5 (B) 8
(C)7 (D)o

[fatb+c=9and ab+bc+ cal8, then the
value of a” + b” + ¢” — 3abe is:
gea+b+c=03Tab+bc+ca=18%, da’+ b’
+ ¢¥ = 3abe I HE FG RITAU |

(A) 243 (B) 244

(C) 234 (D) 254

[fa-b=5and a* + b* = 45, then the value of ab
is?
Aca-b=5sMa’+b’=45% TMab MAAFNEM?
{A) 20 (B) 10

{C) 25 (D) 15

20.

21.

22.

23.

24,

25.

26.

(0.321)" +(0.456)" - (0.777)"

The value of =5 g 10.107)(0.76){0.777)
1 W A1 BT ?

(A) 60 (B)-6

(€ -3 (D) 30

Ifx*-4x +1 = 0, then what is the value of (x°
+x°)7?

A x2 - 4x +1 = 0 I, A (x° + x°) F A FAC ?
(A) 2786 (B) 2702

(C) 2716 (D) 2744

) 1 2 1 2
if{x“' + —,;—k] + [JCJF——p] =0, where kand
x X
p are real numbers and x = 0, then ; is equal

to:
s, 1 _2 1 . A ..
afg | X"+ ——k| + X+;—p =0 g, fo=H kailx
X

- L . K
pﬂﬁﬁ%ﬂ@m%aﬁ?xioam;aﬂqﬁwm?
(&) p* +1 (B)p*+3
() p>- 1 (D) p*-3
Ifx'+ 2+ ¢ = 133 and x* - xy+ i =7, then
what is the value of xy?

A+ Y+ Y= 133 R -y + P =T E Ty

T A T o |
(A) 8 (B) 12
(C)4 (D)6

Ifatb+c=19,ab+bc+ca= 120, then whatis
the value of a” + b® + C° - 3abc ?
Aza+b+c=19,ab+bhc+ca=120% da’+b°
+ ¢ = 3abc F 9F FT Hifq

(A) 18 (B) 23
(C) 31 (D) 19
Solve the following :

Frfataa = 5 =

fa+bh+cjiab+be+ca)-abec=7?

(A) (@t b)(b+cjlc-a) (B)(atb)b-c)cta)
(€) (a+b)(b+c)ic+a) (D)(a-b)b-c)c-a)
If x¥ - 512y° = (x? + Ay?)(x" - Bx“y? + Cy"), then
what is the value of A+ B-C) ?

Tfg x* - 512y" = (x? + Ay?)(x" - Bxy? + Cy') &, @
(A + B - C) %I /11 91 hifsTg |

(A)-80 (B)-72

C)72 (D) 48
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Solution

1. (A) As we know
{a+b)P—({a-h)*=4ab

)

=1{4xx1}_ 4—)‘ X

8 v| T 8 T 2y
2. (D) Aswe know,
(xt+y)'=x"+4x°y + 6x%° + 4xyt y*
( X-y )4 =x1_ 4X3y + 6X3y3 _ 4X}7“+ V]
— (X -y )= - X'+ 4Axly - 6xy? + dxy’- y°
Sx'-(x-y)'= 4x"y - 6x%? + 4xy -y’

3. Q)
2107 R
4, (A) 60 —x =43
49 =60 -x
=x=11

5. (C) Aswe know,
s TR
= (xz +xy+y2) (xz —xy+y2)

=21=3 (x* —xy+y°)

= -y + Yy =T (i)
K Hxy+y? =3 i (ii)
Eq. (i) & (11) we get

= 2xy=3-7

= xy=-2

=4dxy=4(-2)= -8
6. [B) x*-. 7x+1=0
Divide equation by x

1
= x+ = =07
taking cube both sides

., 1 1._
=Xt Bt ) =TT

:;x‘+%=7ﬁ -3J7 =47
7. (C) Aswe know,
(x+y+zP=22+ 2+ 2% +2 (xy +yz+ zx)
100 =+ +2z2+ 2 (29)
=¥+ 3+ 2°=100-50 =50
Also,
¥ry+zt-dxyz=(x+tytz
(x*+ Y+ 2° - xy -~ yz— 2]
=+ +2'= 300+ 250 =550

8. [A) Aswe know,
(+y 42 =0 +yi+ 2+ 2y +yz ¥ 2

1 = x*+y?+2z?+ 2(-26)
= xX*+y*+z? = 53
Also,
x*+y*+z2°-0xyz= (xt+tytz)(xT+yitzi-xy
- yz - zX)
151 - 3xyz=(1) (53 + 26)
= 3xyz = 151-79
Ixyz = 72
= xyz = 24
9. (D) Put A=05
B=3
C =2
= 5(9 +4) + 3(4 + 25) +{-2){25+9) +3(9) (3) (-2)

65 + 87 - 68 - 90
=6

10.(D) (a-b)* - (a+b)* = a3 b’ - 3a’b + 3b%a

— (a®+ b + 3a?h + 3b%a)

—2(5y) (25y° + 3 x 4%7)
v(—250y* — 120x3)

= y{—120x*-250y9)
Comparing it with

= —2b'-6a’b
= —2b(b*+ 3a?%
= [2x - 5y)? - (2x + Sy)°

y (A + By
= A=-120 B =-250
- 2A-B = 2(-120) +250
= —240+250= 10
|
11.(D) &Jr@ =3, x>0
X+l =7
X
1
X+ — = 47
X
] 47 - _i
X*-47 = -5

X (xr-47) = -1
12.(B) 4(x-2)*+ (v - 3)* - 2(x - 3)*
vy is not dependent on x so,
v-3 =20
vy =3
4x-2"+0-2(x-3)?
22x*+ 8 - 8x -x*-9 + 6%]
2[x*-2x-1]
2(x - 1)2- 2]
Minimum value of (x - 1) =0
So,20-2)=-4
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13.(C)

14.(C)

15. (B)

16. (B)
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x=5.51,y=5.52,2z=5.57

1
X +yt+ 2 -3xyz = o (xty + 2 [(xy)* + (y-2)

+ (z2-x)7]

1
5 % 16.6 [0.0001 + 0.0025 + 0.00306]

0.0062x16.2
2
=0.05146

(a+b+c)

a’+ b+ ¢* - 3abc = - [la—b)*+ (b-

¢)* + (c - a)’]
here, a= 500, b= 502, ¢= 504

(500 + 502 + 504) 1506
5 '[4+4+16]:>T[24]

= 753 x 24 = 18072

As we know,

X'+ Xyt 4yl = (X Xy YY) (X -xy + )
ﬂ _— i ) + ]

256 ~ 16 XXV Y

7 .

3

16

=

= x‘-xyty?

X Hxy+y? =
Adding (i) and (ii)
10 _5

16 8
Divide numerator and denominator by x

= 2(x*+ vy =

2
= [x-ﬁ-l] :4+l =

X

taking cube hoth sides
L, 317 _ 17417

3 -
= X7+
x* ) 8

1 _ 517

>x'+ —
X 8

18. (4)

19. (B)

20. (B)

X'+ —/ =25899,x-— =7
x2+ — = 51
1
x-— = iz
1
- =
X
ath+c =

ab+hbcteca = 18
fa+b+c)i=a*+b*+c?+ 2(ab + be + ca)
81 = a*+b*+c*+ 36
a‘+hb*+c? = 45
a*+bhbi+c*-3abc=(atb+c)[a‘+b’+c?—ab
- bc—-ca)
= 9(45-18)
= G§(27)
= 243
a-b=5, a?+b*=45
a’tb?—2ab = 25

45-25 = 2ab
ab = 20
ab = 10

(0.321)" +(0.456)" - (0.777)°
0.9 x(0.107)(0.76)(0.777)
10%[(0.321)" +(0.456)" - (0.777)" |
3x0.3x10(0.107)(0.76)(0.777)
10[(0.321)" +(0.456)" +(-0.777)" |
3 x(0.321){0.76)(0.777)

2x10((0.321)" +(0.456)" +(-0.777)"|
(3x2x0.76)(0.321)(0.777)

2x10((0.321)" +(0.456)" +(-0.777)"|
(0.456)(0.321)(0.777)

Now, 0.321 +0.456-0.777=0
If a+bh+cec =20
a’+hbh*+c® = 3abc

~2x10x 3(0.321)(0.456)(0.777)
- (0.321x0.456 x 0.777)

=60
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21.(B) X=-4x+1 =0
x+1 = 4x
1 1
xt— =4, x*+ =72
X
1
X*+—F = 14=m
X
x*+ — = m'-3m
X
= (14" -42=2744 - 42
= 2702
' 1 § 1 Y
22.(D) X3+—3—k) +(x+——P] =0
1 ) 1
So, x*+ -k =0=x*+ - =k
X X
1 1
x+ —=P =0 =x+—-=P
X X
1 1 _
If x+— =P, =>x*+ 5 =P"-3P
X X
P¢-3P = K, K=P(P?-3)
K
= = pa_
P -3
23.(D) X*-xyty? =7

After squering of both sides
Xty v - OxTy - 2xy7 + 2xyE = 49
133 -2xy (x*-xy +¥9 =49

2xy (x*-xy+y9) = 84
2xy (7) = 84
Xy = 6

24. Djatb+ec=19,ab+bc+ca=120
dla’ + b + ¢ — 3abc="?
{atb+c) = 361
a*+b?+c?+ 2[120] = 361
a‘+hb*+¢? = 121
Now,a'+b'+c¢'-3abe=(a+b+c){a*+bi+c?
—(ab + bc + ca)]
= 19x[121-120]=19
25. (C) Solve this :
{aa+ b +c)(ab+ hc + ca) —abe
By value putting method
a=1,b=1,¢c=1
So,(1+1+1)(1+1+1)-1
=23x3-1=8
Now, we put the value in options
A, B, D — By value putting is 0
and Cis 2 x2 x 2 =8,
So, answer is (C)
26. (A) x" - 512y = (x* + AyY) [x* - Bxy? + o)
Sofind=A+B-C=7?
LHS, x° - 512y° = [x* - (-8)y*] [(x)° - (8)x* y* +
&yl
LHS = RHS with compare
A=-8 B=-8,C=64
Now, A+B+C=-8-8-64=-80
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ALGEBRA
stepTfora

(Previous Year Questions)

Ifa’-b*=208 and a—b = 4, then (a+b)*—abis

equal to:

Ifga® - b*=208dMa—-b=47%,d (a+b)*-ab
Trratas 3§ R s B

(A) 52 (B) 38

(C) 32 (D) 42

1 1
Ifx + — =5, then x* + — is equal to:
X X’

1 1 . -
Afgx+ — =5, x% + — [eieiea | 9 e s
X X

-

IR
(A) 110 (B) 130
(C) 145 (D) 125

fx-5PF+x-6P+x-7F=3(x-5) (x-0)(x-7),
then what is the value of x?
TR (x-5)* + (X—6) +(x-7)* =3 (x-5) (x—6) (x—
7) 81, @ x = A 0 5 ?
(A) 6 (B)7
(C) 5 (D) 18
If (2x + 3) + (x — 8)% + (x + 13)% = (2x + 3)(3x — 24)
{x + 13), then what is the value of x?

T (2x + 3)* + (x— 8)* + (x + 13)% = (2x + 3)(3x — 24)
x+ 13) %, Ax A AR E—

(

{A)-1.5 (B)-2.5

(€)-2 (D)-1

Ifa*+b*=5824 and a + b= 28 then (a—b)*+ ab
is equal to:

A% ad + b= 5824 dMa+b =287 (a-b)2 +ab
(A) 208 (B) 152

(C) 180 (D) 236

1 1
Ifx- = =6, then x* - — is equal to:

XG
— 1 - 1 -
Tex— — =6TA x> - —; Br—
X X
(A) 216 (B) 176
(C) 234 (D) 198

10.

11.

12,

Ifa®-b* = 1603 and (a-b) = 7, then (a+ b)> - ab

is equal to:

afg a* - b* = 1603 3 (a- b) = 7 1 (a + b)2—ab
A G —

(A) 458 (B) 338

(Cy229 (D) 64

If(x+4)P°+(2x+ 1)+ (2x+ 5)* = (3x + 12)(2x +
1){(2x + 5], then what is the value of x?

T (x +4)° + (2x + 1)2 + (2x + 5)3 = (3x + 12)(2x +
1)(2x + 5), T x = 7 FATE 7

(A) -3 (B) -2

(€) 2 (D)3

1 1
Ifx+ ;= 8, then x2 + = is equal to;
. 1 - 1 ;
AEx+ —=8A X!+ — ATHE —
X X
(A) 62 (B) 68

(C) 64 (D) 66

1 1
Ifx+ — =7, thenx*+ — isequal to:
% Y

. 1 - 1 .
qex+ = =7, X+ - AEA L
X X

(A) 364 (B) 385

(€) 343 (D) 322

Ifa*-b* = 3552 and (a-b) = 6, then (a+ b)? - ab
is equal to:

afz a* — b* = 3552 3t (a—b) = 6 T (a + b)* — ab
A F—

(A) 618 (B) 636

(C) 592 (D) 568.

If{x-3)*+{2x-5)*+ (x—4)* = {3x-9) (2x-5)
(x — 4], then what is the value of x ?

G (x—3)2 + (2x—5)* + (x—-4)* = (3x-9) (2x- 5)
(3 = 4) T 3 1 A AR ?
(A) 4

(€) 2

(B) 5
(D) 3
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13.

14.

15.

16.

17.

18.

19.

Mother's Advance Maths « Algebra [Previous Year Questions]

Tfe (2x - 5)° + (x + 2)* + (3x - 9)° = (2x — 5)(3x -9)
(3x + 6) &, T x FHH FA TN 2

(A)7 (B) S

(C) 2 (D) 18

1 1
Ifx*+ — =11, thenx- . is equal to—
X

afe x + Xi C11E e i 1 9 2
(A) 2 (B)3
©)5 (D) 4

1 1
Ifx- — =4, then x* - — is equal to—
X X

1 “ 1 -
s x - < =4 % WX - —5 FHAE IA FoA ?
h 4

(A) 72
(C) 76

(B) 68
(D) 64

Ifab+bec+ca=8anda+b+c=12, then (a*+
b? + ¢?) is equal to—

A ab+bec+ca=8fatb+c=12%, W(a2+b?
+ ¢2) T 9 F1 HifT ?

(A) 160 (B) 144

(C) 134 (D) 128
HF2x-9P+(x-4)P*+x-11P=3 (2x-5) (x—-4)
(x — 11), then find the value of x—

Tqfe (2x - 5)F + (x - 4)* +(x— 11)* =3 (2x - 5) (x - 4)
(x— 11), 91 X I 7 741 7 ?

(A) 3 (B) S

C)7 (D) 18

Ifa®*-b*=416 and a-b = 8, then find the value
of(at+b)2-ab?

AT a’-b*=416TMa-b=8,d (a+b)2—abF AR

T FAT ?
(A) 52 (B) 42
(C) 38 (D) 32

1 1
Ifx + < = 4./3 , then find the value of x* + ;?

1 1 5
A x + < 43, x*+ — AAFE?
<2

(A) 46
(C) 56

(B) 44
(D) 52

20.

21.

22.

23.

24,

25.

26.

27.

1 5 1
If x+;=2\/§,then x“’+? is equal to :

1 o . Lt 1 e s
Hfg x+;=2~f§ % X%+ — & A 99 i 7
N 2

{A) 8 (B) 16

(C) 10 (D) 12

If(2x- 1P+ (3x—4)+(x-7)"=(6x-3) (3x-4)
{x — 7], then what is the value of x ?

=g (2x - 1)° + (3x— 4)> + (x - 7)° = (6x— 3) (3x — 4)
(x —7) &, T x 1 A A0 At ?

(A) 5 (B) 8

C)2 (D)3

Ifa’+b'=416 and a+ b= 16, then (a— h)*+ ab
is equal to :

Acat +b*=416Ma+b=16%,d (a-b)’ +ab®
A FE R ?

(A) 32 (B) 22

(C) 24 (D) 26

fx-6)+x—-4)P+(x-57=(3x-15)(x—-4(x-
6], then find value of x ?

T (x - 6)° + (x—4)* + (x—-5)* = (3x - 15)(x—4)(x -
6) T x Z A FAE 2

(A) 3 (B) 5

(C)7 (D) 18

Ifa’-b*=216 and a- b =6, then find value of
{athF-ab?

Fead-b'=216TTa-b=67 (a+b)i-ab® AW

FHIE ?
(A) 38 (B) 42
(C) 52 (D) 36

1 5 1
If x+;=3\/§,thenﬁndvalue of X +—= ?
bS

Rii X+i=3\/§ @ x2+x—12 = A e 2

(A) 22 (B) 26

(C) 16 (D) 14

Tfg (2x - 5)7 + (x + 2)7 + (3x — 9)* = (2x - 5)(3x -
9)(3x + 6) ¥, T x T HF FAN BN ?

(A)7 (B) 5

(C) 2 (D) 18

Ffga’-b® =208 9 a-b =81 (a+ b)>—ab TR
&

(A) 42 (B) 52

(C) 26 (D) 38
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1 1 AT Al +b°=432fma+b=12% M (a+b)*-3ab
28, -“:ﬁ%\‘x_EZS\/E%,?ﬁ xd“"? W%: W?FTH
(A) 56 (B) 52 (A) 42 (B) 52
(C) 20 (D) 46 (C) 36 (D) 38
1 1 32, Ifx*-4x+ a=0root are equal, then a =
20, Ifx- —=2v2, thenx®+ —risequal to: e x2-4x+a=0H qAAMRE, Ta=__ T |
* * (A)-4 (B)8
1 5 1 . € -8 (D) 4
Afgx— — =242 %, @ x? + — TR o
X X 33, Ifx+x'=2,thenx*+x7 ..o,
(A) 16 (B) 12 AEx+x '=2F, AP +X P oo, Z
(€11 (D) 10 (A) 1 (B) 3
30. x-2pP+x-3P+(x-10P=(x-2)(x—-3){3x- (©) 1 (D) 2
30), then what is the value of x ? 2
I (x - 2)° + (x=3)* + (x - 10)* = (x - 2)(x - 3)(3x - | 34 Ifat+b-c=7,ab-bc-ca=21,thena*+b*-c*
30) &, 9t x = A F@ Fitord 2 +3abe= . ‘
(A)7 (B) 5 aka+b-c=7,ab-bc-ca=21%da’+b’ -
(C) 18 (D)3 +3abc=....... 7
31. Ifa®+b*=432anda+ b= 12, then (a+ h)2-3ab (A) 124 (B) 117
is equal to : (C)-98 (D) 98
Solution
1. (A) (atb)2—ab = a?+b?+ab 7. (€ a’-b* = 1603
a’—b’ = (a-b)(a?+b?+ab) a-b =7
208 = 4 (a®+b?+ab) Now, (a+b)2—ab = (a + ab + b?)
= a*+h*+ab = 52 )
) (a®—Db*) 1603
2. (A) x+— =5 (a-b) 7
§ 1 . = 229
= Xtz =(8-3%5 8 (B) (x+4+(2x+ 1)+ (2x+5)
= 125-15=110 = (3x+ 12)(2x+1)(2x+5)
3. (A) a’+b**¢! = 3abc = 3{(3x+4)(2x+1)+{2x+5)
= atb+c =20 . a+tb+c =20
= (x=9)+x-6)+(x-7) =0 (x + 4)+(2x + 1)+ (2x + 5) = Q
3x-18 = O )
= x=6 - -
4. (€ a’+ b+ ¢ = 3abe o @ X+ 1T
= atbtc =0 5x+10 = 0
>2x+3)+(x-8)+(x+13) = 0 = _
- 4x+8 = 0 - x =2
= x = -2 b, A _
5. (A) a+b° = (a+bj(a? + b? - ab) = X+, T2 =64
5824 = 28[(a-b)?+ ab]
1
5824 2 = 62
= (a-b)P+ab = —|_— =208 Xt e T 62
28
1
6. (C) X-— =6 10. (D) xt— =7
X X
1 1Y ’ 1 (Given)
3 = N + 3 J— e .
X -3 [.X x .X x) Taking cube hoth sides
= (6)*+3(6) N 1
= 216+ 18 =234 Xt H3(XTL) =343
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1
= x'+ 5 +3x7=2343
b4

= X+ — = 343-21
X
= 322
a*-b* = 3552
a-b =06
Now, (ath)® —ab = (a® + ab +b?)
_ a*-b* 3552
a-b 6
= 592

(x-3)2+(2x - 5)* + (x - 4)*
= (3x-9)(2x-3)(x-4)
=3(x-3)2x-5)(x—4)

here,
a2+ hbh*+c® = 3abe
at+b+c =0
(x-3)+i{2x-5)+(x-4) = 0
= 4x-12 = 0
x =23

2x-5)PF +(x+2)*+(3x-9)°
= (2x-5)(3x-9)(3x + 6)
= 3{2x - 5)(3x - 9)(x + 2)

here,
a*+ b+ ¢ = 3abe
ath+c =0
(2x-5)+(x+2)+(3x-9)= 0
X =2
X+ —= =11
)
= X=—| =x*+—7-2
n 7
~J
= X—— =11-2=9
X
1 _ _ A
= X = J9 =3
1
x-— =4
X
1
XP-— = 4 +3x4
X
= 76
abt+thc+ca =8
a+b+c =12
a2+ b%*+c? = (a+b+¢)*-2(ab+bc+ca)
= (12)2-2x8
= 144 - 16
= 128

17.

18,

19.

20.

21.

22.

23.

B) (2x-5p+(x-4p+(x-11)
=3(2x-5)x-4)x-11)
here, a*+b*+c¢* = 3abc
it means a+b+c =20
= Px-B)+x-4)+{x-11) =0
= 4x-20 = 0
= x =5
(A) a*-bh® = 416,a-b=8
a*-b* = (a-h)a+ab+b?
= 416 = 8{a?+ab +hb?
= a*+tab+h® = {(at+thp*-ab
416 _ 50
=5
1
™) x+ = a3
(%)
= x2 + — = X4+ — -2
X X
= X+ — = 48-2=46
X
1
(©) x+ = of5
1 2
X+ — = (2\/5) -2
X g
= 12-2=10
(C) (2x-1*+(3x-4)*+ (x-T7)*
= (bx-3)(3x-4)(x-7)
= 3(2x- 1D(3x-H(x-7)
a+b+c =20
2x-11+ 3x-4)+(x-7) =0
6x-12 = 0
x =2
(D) a*+b* = 416
atbh®*+ab = a®*-ab+b?
(a®+b?)
(a+b)
416 iy
= 15 -
(B) (x—-6)*+ [x—4* + [x—-5)"=(3x— 15)(x—4)(x-6)
= 3x-9)(x-4)x—-06)
here, a*+bi+c* = 3abc
a+b+c =20
= (x-6)+tix—4)+(x-5) = 0
= 3x-15 =20
= x =5
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24, (D) a*-b* = 216
a-b =6
{(a+h)j2—ab = (a*+ab+b?
_ (au_ba)
a—b
216 - 236
= = =3
1
25. (C) x+; = 3.2
1 2
X2+ — = (3\/5_2) -2
X
= 18-2=16
26. (C) a*+b*+¢* = 3abe
atb+c =0
= (2x-5)+x+2)+({3x-9) = 0
= bx-12 = 0O
= x =2
27. (C) (a+h)2—ab = a*+ab+ b
~ a®*—h*
~ a-b
_ 208 Py
8
1
28. (C) x- 3 =3./2
1
X+;=¢18+4:\f22

X+l=\."8+4=2\/§
X

1
X2+ — = 12-2=10

X

30.(B) a+t+b+c=0
x-2)+(x-3)+(x-10)=0
X=95

31. €] a*+b* = 432
at+th = 12
{a+th)*-3ab = a*+2ab+b*-3ab
= a2+ bh*-ab
_a+b?
~ a+hb
432
=1 -
32. (D) x2-4x+a =0
roots are equal
S0, d=20
b -4ac =0
= (4)*-4xaxl =20
4a = 16
a=4
33. (B) x+x' =2
1
X+ — =2
X

[tis possible when x=1

+xd = x4+ —

X

1+1=2

34. (C) ath-c =7
SLoat+ bt + et -3abe

=(a+b+c){a?+b*+c?-ab-bc-ca)
={a+b+c)-3[[a+b+c)?-3 (ab+ be + ca)]
~ Now, a* + b?* - ¢* + 3ahc = 7[(7)%-3 = 21]
= -G8
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stepTfora

(Previous Year Questions)

If (p* + ) /(r* + 8% = (pg)/(rs), then what is the
value of (p-qg)/(p + q) in terms of r and s?

als (p? + )/ (12 + &%) = (pq)/ (rs) &, Wr 71 s F v H
(P-a)/(p+q) FATFIE?

(A) (r+s) /ir-s) (B) (r-s) /(r+9)

(C) (r+ ) /(rs) (D) (rs) /ir - s)

If the expression (px® - 8x*- gqx + 1) is com-
pletely divisible by the expression (3x* — 4x +
1), then what will be the value of p and ¢ re-
spectively?

Tz =k (px® - 8x2— qx + 1), =5 (3x3-4x + 1) ¥
o T S T, A FA: p 9 g A T ?
(A) (21/4.15/8) (B) (6, 1)
(€)(33/4,5/4) (D) (1. 6)
Ifa=2017,b=2016 and ¢ = 2015, then what is
the value of a* + b* + ¢?- ab - be - ca?

A a=2017, b=2016 andc=2015%, W a’ + b’ +
¢®- ab - be - ca I HF F1EFT?

(A) -2 (B)O

)3 (D) 4

1
If x2- 3x + 1 = 0, then what is the value of x'+ o) ?

. - 1 .
qfg x2- 3x+1=03‘r,?nx3+; B HH FE ?

(A)3 (B) 7
)11 (D) 18
ox-1 7y-1 8z-1
If + + =0 then what is the
X N z
1
value of —+—+;?

ex—-1 7y-1 Sz_lzoﬁﬁl+—+—m
X v z PTX y oz
N E ?
(A) 1 (B) 3
o (D) 21

10.

11.

If x2_ %68 +1=0then what is the value of

1
X——7
X

- 1 <
% 2 _ <. /68 +1=0 &, @ X—;-‘m"fﬂﬁﬂ%’?

(A) Vo6 (B) 8
(©) Vo2 (D) &

Ifx + y =7, then what is the value of x* + y* +
21xy?

e x+y =78, WX+ v + 21xy FIHE FEA?
(A) 343 (B) 49

(C) 294 (D) 288

If2a-(2/a) +4 =0, then what is the value of a®
-(1/a%) + 147

7§ 2a- (2/a)+ 4 = 0%, da’ - (1/a%) + 14 FHH F0
T2
(A) -14 (B)-12

C)0 (D) 14

If o and B are the roots of the equation x? - x +
3 = 0, then what is the value of o'+ "2
G o AP THARI R -x+3=0FqAT, 0 o' +
B * =1 HE 0 E 2
A7 B9

(€11 (D) 13

2 1 .
If x> + = =2, then what is the value of x*?

S | 5
o x2+;=2 A TAAFNE ?

(A) 6 B0 €1 (D)3
When a =61, b =63 and ¢ = 65, then what is
the value of a® + b + ¢” - 3abc?
SMa=61,b=630Ac=65%, dla’+h*+c’-3abhe

= A FE ?
(A) 1456 (B) 2268
(C) 4536 (D) 5460
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15.
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= 1y
[fx=3- 242 ,then vX+| =] isequal to

W

-

A x=3-0./2% @ \/;JF[

-

(A) 0 B)1 ()2

D) 2./2

1331 1

= , then what is the

13 ~
z+1331 3

x+2_y+3:

If

X 4 z
+ + >
y+2 =z+2662°

value of il

1 3 1331 1

M T2 y+a 2+1331 3

2, &

X 4 N Z
y+2 =z4+2662

(B)1 (C)3/2

Wil
x+1 hT AT T B «

(A) O (D) 3

7
=— for x>0, then what is the value of

x4

x+ =7
X

N 2 1 7 k,
Tt x>0 F x)+?=z =, FAATENE ?

2,

1
x

(A) 2 (B)

2
(€ 5 J3

fx+y+2z=

(D) -

0, then what is the value of

(4) 0 (B)1/3

(€)1 (D)3
H{l/x)+(l/y)+(l/z)=0andx+y+z=11, then
what is the value of x* + y* + 2° - 3xyz?

TR (1/x)+(1/y)+(1/z)=0anx+y+z=11%,d
x°+y° + 2% - 3xyz T AF FMEM ?

(A) 1331 (B) 2662

(C) 3993 (D) 14641

17.

18,

19.

20.

21.

22.

What is the simplified value of

{1+ x") (xT+l-x)|
&) (x+D) x(x-1)?

_(1+X“) _ (x2 +1—X)

] X (x — 1) mremhmmamens?

-1 (x+1)
(A)1 (B) x
Cix+1 D)1/(x-1)

fXt Vx° - —-Jx -1 _

= =62 then what is

X \/X - 1 X+ \/X“ -1
the value of x(x<0)?

. X+xt- X—\;"X -1
= pw= = AL
| 1 B 2
(&) -4 (B) O
)3 (D) 16

|
Ifx*-3x + 1=0, then what is the value of x™ + —7?
X

} , 1 .
7 x2-3x + 1=0 81, 91 x° + = AR FE ?
(A)3 B)7

(C) 9 (D) 11

1
If x*+— =98 and x>1 then what is the value
X

1
of x+—7
X

. 1 - 1 <
e x4+;=98 g x>1 =1, x+— HHF FE ?

(A4) 2 (B) 242
(©) 5 D) 2./3

If (x/v)™* = {y/x)'"*, then what is the value of
ar

T (x/y)* 0 = (y/x)"7 R, W aH A TR ?

(A) -7 (B) -5

(€)0 (D) 3

X -x-6
What is the wvalue of (73 ]
X +x-12

x? +5x+6 ,
X+ 7x+12)°
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23.

24,

25.

Mother's Advance Maths « Algebra [Previous Year Questions]

X -x-6 x> +5x+6 .
(). (5

x +x-12 x*+7x+12
(x-3)
(A1 ®) (x73)
(x+4) (x-3)
©) x—3) (D) (x 1 4)
If x>+ = = — for x>0, then what is the value of
x* +Xi3?

7 o
aﬁxm%mx%—,—zmmxu— A
%7

3J3 315

(A) — (B)

) )
©) 3J15 (D) 345

8 8
If x- 8x + 1 = 0, then What is the value of

5 1

X~ "r;?

o b ]-
qﬁxg—8x+1=OET,ﬁTX2+F FIHAF FE ?
(A) 18 (B) 34
(C) 40 (D) 62

What is the simplified value of

[X32+%J [X8+X—18] [X—i] [X1°+$]

26.

27.

28.

29.

30.

31.

1 1
What is the value of L_X[p L [—xi o }?

1 1
1-— Xf.p—cu + 1— Xf.q—lnl EF["THEF:”% ?

(A) O (B) 1
() (x- %)/ +x7) (D) (x+ %)/ (x - x7)

If x*—3x + 1 =0, then what is the value of x +

1
—7?

X

- 1 5
TEx:-3x+1=0,qx+ L FARENE?

(A) 3 (B)7

(C)9 (D) 11
I[fa+b+c=-11, then what is the value of (a +
4) + (b + 5)* + (c + 2)% - 3(a+ 4)(b + 5){c + 2)?
Aa+b+c=-11%,d (a+4)°+(b+5)0°+(c+2)°
- 3{a+ 4)(b + 5)(c + 2) FAR FNEM?

(A)-1331 (B) -121

(C) O (D) 1331

If 7x+12+y7x—12 =3+ ./33 thenwhatisthe
value of x?

T f7x+12 t7x - 12 =3+ /33 &, SxTIA TN
B2

(A) 0 (B) 1

(€) 3 (D)9

Ifx +({1/x) = 3./2, then what is the value of x°
+(1/x7)?

TAEx+(1/x)= 32 & @ x+(1/x°) MARFNEW?
(A) 17843 (B) 7892

(C) 158142 (D) 71742

If x* _%x+1=0, then what is the value of

1
X+— 7
X

- 1 "
T %2 —7x+1=0 E’f,?ﬁx+; AR FIE ?

(A)7
(C) 51

(B) 3
(D) 47
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32.

33.

34.

35.

37.

Mother's T0Sa19 » dizmfvr

If x4 2/10x%x+1=0.then What is the value of

X——7
X
L s 1
=fg X2 +2:10x +1=0 &, @ X—;WWW%’?
(A) 4 (B) 6
(C)3 (D) 5

3x—1+5y—1+7z—1

=0 then what is the
X ¥y Z

If

1 1 1
valueof —+_-t—7
X v z

ln]

ox—1+5y—1+73—120%\1?ﬁ_+l+1 -

afs X ¥y z X ¥V zZ
HH 8 ?

(A)-3 B)0

(C) 15 (D) 21

If x¥2 _3x+1=0, then what is the value of

.1
X +X—4?

— - 1 wn
aE x? —3x+1=0 T, A X’ o FAEEE?
(A) 11 (B) 18
(C) 47 (D) 51

) (a® + b*})(a—b) - (a— bJ’
What is the value of 1 5 ?
a‘b—ab
? 4+ b*)(a— b) - (a—b)®
(o )b bl s,
a*b—ab
(A)Q (B) 1
(C)-1 (D) 2

Ifx+y=4, then what is the value of x*+y*+12xy?
I x + y = 4 &, T xC+yi+12xy T TR FTEAT 2

(A) 16 (B) 32
(C) 64 (D) 256
4, 1 .
If x +—=198 and x > 0, then what is the
X

4 1
value of X* —— 7
2

~ 4 1 - 2 1

qAe X+ = 1988s x> Q&L ar X - —5 FAR TN
x x

-

(A) 14 (B) 27

(C) 1042 (D) 10

38.

39,

41.

42,

43.

If3x-[1/{3x)] =9, then what is the value of x* +
[1/(81x4)]?

AfE 3x - [1/(3x)] =9 %, @ x2 + [1/(81x?)] =1 711 =01
B ?

83

121
(B) 5 5

(a)7 5

€11 (D)

Ifx*-y"= 112 and x - v = 4, then what is the
value of x* + y2?
A x* -y = 1129 X - y = 4 &, T X2 + y2 %l A9 51

B ?
(A) 16 (B) 20
(C) 24 (D) 28

1 -1
If x= 5—; . then what is the value of X~ +—7?
X

7% x=5—% =1, a1 x5+% & HH 7

(A) 625 (B) 3125

(C) 2525 (D) 2500

If x - v = 3, then what is the value of x* - y* -
Oxy?

g x - y= 3 7, T x* - y* - Oxy T I 341 7
(A) 3 B)9

(C) 18 (D) 27

If x?- 9x + 1 = 0, then what is the value of

3 1
X "r—.}?
X

N 1 X
s x2- 9x + 1 =03T,?ﬁx“+x—3 H AR PN Y ?
(A) 54 (B) 108
(C) 702 (D) 810

Ifa+b+c=3 andnone of a, b and cis equal to
1, then what is the value of

1 N 1 N 1
(1—a)1-b) (1-b)(1-c) (1-c)(l-a)"
qﬁa+b+c=3ﬁﬂTa,bHﬂTcﬁ@{?€\l’s€3—ﬁ1%W
qET K ar

1 N 1 N 1
1-a)(I-b) (I-b){l-¢) (I-c){I-a)’
(A) O (B) 1
<3 D)6

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Pulia, Tonk Road, Jaipur-302018
0141-2711489, +91-7073909991 | www.motherseducationhub.org



44,

15.

47.

48.

49,

Mother's Advance Maths « Algebra [Previous Year Questions]
50. What is the simplified value of

What is the value of

(a2 —i—bz\)(a—b)—(a3 —ba)

] ; ?
a*b — ab®
(a* +b2)(.a—b)—q(a;1 -b?) T
a’b — ab”
(A) 0 ®) 1
(©) -1 (D) 3

What is the simplified value of (x'# + 1)(x* +
D+ D + D + D’ + 1 + 1+ 1)?
[X128+ 1)(X32 + 1)(X°4 + 1][X1° + 1][X5 + 1)(X4 i 1][X2

+ 1)(x + 1)? =1 TRefrHa 77 F=1§ 7

%' _q

A '235_]_ B

(A) x B~ —
X04_1 X'JGE)_l

S —— (D) ———7

fi1/x)+(1/y)+(1/z)=0andx+y+z=7, then
what is the value of x* + v +2'- 3xyz?

ARG (1/x)+(1/y)+(1/2) =0AMX+y+2z=7 %, AX
+y® +2°- 3xyz 1 °9H 1 E7

(A)49 (B)343

(C)1029 (D)2401

Ifx + (1/x) = 5, then what is the value of x*+
(1/x9?
AR x + (1/x) = 5 ¥, T x>+ (1 /x°) FTHAE FNEW 2
(A)623 (B)627

(C)12098 (D)12102

. 1 7
If X° + = = 2 for x>0 then what is the value of

1
X4+X—4?
. o, 17
qﬁxm%ﬁmx“Jr—,b,:Z B, X'+ — AR
X X
77
(A)1 (B)17/16
(€)15/16 (D)51/16

1 -
Ifx + < =-2 then what is the value of 1+x°+x%*

]- - - - =
af x+;: -2 B, A I+ T AR Y 7

(A)0
Q)2

(B)1
(D)-1

51.

52.

53.

. 1 ..J 1 .4 1 .ﬁ 1 . 1
X+— X“+—.‘! X +—4 X +_8 X +T 2
X X X X X
[X+—](X2+—2][X4+—4][Xﬁ+—8][XIG+T] EA

T ox <A x" XN X"

A TE?

If x=17-4J18 , then find the value of

1
‘\/;'FE 2
= x 217 - 4418 %,?ﬁ\/;+% AR TR
(A) 742 (B)9
(C) 22 D)6
1

o LA " 1
If a“+b“+C2+?+§+C—2=6,thenwahatis

the value of a?+b*+c??

. 3 2 2 1 1 1 o o
g a’ +b + ¢+ —+ —+—=6 ¥ A athi+c?
a- b° ¢
AR FAE ?
(A) 3 (B)6
(C)-3 (D) 2
If 3x*-9x + 3 = 0, then what is the value of
g 1)1
X+— |7
_ X

. oy .
W3x2—9x+3=0%,?ﬁ[x+;] FHEFNE ?

(A) 9
(C) 81

(B) 729
(D) 27
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54.

53.

57.

S58.

Mother's T0Sa19 » dizmfvr

1 . 1
If x— —=3, then what is the value of x* —— 7
X X

o 1 - 1
e x-—=3 g,a‘rxﬁ—F AR FNE ?

(B) 21
(D) 27

(A) 36
(C) 9

If x*_9x_1=0 , then what is the value of

s 1 5
X' +—+5x-—7
X x

| 5
"qﬁxz—gx—lzo3‘,T‘ITX2+X—2+5X—;51'TTI'HEPJT

77
(A) 115 (B) 128
(C) 124 (D) 133
If x*+ =2 and x50, th hat is th
o5’ 5 and x>0, then what is the
9
value of X 1255
2 1 8 s~ 3 1
4 = — 4+ -
AE X e T TR0 T X e A
o 18 ?
(A) 742 (B) 542
742
(€ 5= (D) 7.6
If ab{atb)=1, then what is the value of
Lo
a’b®
\ 1 b N
Kl ab(a+tb)=1 ¥, a a—bs_ad —b® FHF T E?
5 8
(A)-1 (B) 1
(C)3 (D) -3

1
£y + y_4 =223 and y>1, then find the value of

, 1

1 . .1
afg y4+F =223 TN y>1 ¥, d y3+y—2 =T A

FE?
(A) 15 (B) 14
(C) 14.86 (D) 16

59.

60.

61.

62.

63.

64.

fie-d)y=(c+d)/5=(cd)/3 and c,d = O then
what is the value of cd?

G (c-d)=(c+d)/5=(cd)/3TMc,d = 0T cd
I {1 G ?
(A)1/2
(C)5/2

(B) 3/2
(D) 5/4

2

If o _ y; , then relation between x and vy is:

TR o _yi ¥ T x Ty e
(A)x =y’ (B)x =y’
©)x' =y (D) x'=y*

a 3
If e 1- 2 then what is the value of a%?

. 3 - s
7% %= l_a,%blﬂTar’Eh"lﬂ'Flazﬂ%'?
(A)-81 (B) 148
(C) - 243 (D) 227

It a + b = 6x, then what is the value of

(a=3x) " (b=3x)"

A a+b=6x T A (a_x3x)+(b_x3x) = A FA
%7

(A)1 (B)O

(€) 2 D)-1

If x*+ 6x2+ 12x = 19, then what is the value of
X7

A x¢ + 6x2+ 12x = 1O B, A AR FAE ?

(A) 8 (B) 27

(€) -1 D)1

1 .
If X+;=3(X¢O), then what is the value of

(x“—x+1)?
S5x
qﬁx+%:3(x;t0) g}}fﬁ@-‘ﬂﬂﬂw%?
X
2 3 4 L
(A) (B) ©) £ (D) ¢
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Mother's Advance Maths « Algebra [Previous Year Questions]

65. Ifx*+ 16 = -4x, then what is the value of x* - (A) 12 (B) 24
647 (C) 36 (D) 48
AR X2+ 16 = -4x T, AX® - G4 MAAFAE ? )
1
(A) 128 (B)O 69, If [JCJF—J =5 and x > 0, then what is the value
(C) o4 (D) 256 x
L L
66. Ifx+ 4is afactor of 3x* + kx + 8 then what is of x*+ — 7
the value of k?
A% (x + 4), 3x? + Kx + 8§ T FETE §, 91 K =1 71 1Y ) 1 )
s ﬂﬁ:(ﬂ—] =59Ix > 0%, A+ HAAFTE ?
FNT ¢ x x”
(A) 4 (B) -4
(C)-14 (D) 14 (A) 25 (B)3 5
67. If x + y + z = 0, then what is the value of )45 D55
Xy +yz +zx Pl 1 ‘
Xyt +z° 70. If = 41, then what is the value of
x
L. XYYz 4 ozx 55 5
ﬂﬁx+y+z—03,ﬁ7x2+y2+zz TARFAE ? x +x3?
(A) 1 (B)-1 . ! ,
1 1 ﬂﬁxjr =4 @ X+ mEmFNE?
© 5 (D)-5 a x
2 2
. . . ] 529 527
68, If{a+4)’=a’+ 12a’+ka+ 64, then what is the (A) —— B) —
16 64
value of k?
Iqfg (a + 4)° = a° + 12a° + ka + 64 &, 1 k =1 #11 71 J 4913 4097
%7 ©) 64 ) 64
Solution
y 2. (C) 3x*-4x+1=0
1. g 219 P 3x2-3x-x+1=0
r'+s° 18 3x(x-1)-1{(x-1)=0
p t+q _r +s 1 1
Dp(cll b thrs'd by 2 E
ivide both side by px— 82— qx+1=0
p’+q° r’+s’ When x =1
2pq  2rs p-8-q+1=0
Component and Dividend rule P-a=7 e (1)
o ) b o 1
P +q +2pg 1 +8"+2rs and x= 3
p2+q2—2pq_rz+sz—2rs
p_8 g
2 2 a5, t1=0
(p+q)” (r+s) p+q r+s 27 9 3
e T = - =
(p-q) (r-s) p-q r-s p—24-9q+27
poq r-s 27 -
m:r+s p-9%=-3 ... (2)
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Putp =7+ qin eqn. (2)
7+q-99=-3
—8q=-10

5 33

a=3:P= 7
a=2017,b=2016, c=2015
a‘t+h'+ci—ab-hc-ca="?
a*+bhi+tc*-3abc=(athtg(a?+b+c’-
ab-bc-ca)
(a®+ b+ c?-ab-hc-ca)

a’ +b° + ¢ - 3abce

at+h+c

Put value
a*+ b* + ¢’ - 3abce
1

= 5 llab) + (bc)? + (e-a)’]

1
5[(2017-2016)° + (2016 - 2015)° +

(2015 - 2017)]

1
Sl1+1+4] =3

x*-3x+1=0
Divide by x

[x + é]’ = [3]?

1 1
X+ — +9=27=x*+ — =18
X X

6x—1 7y—-1 8z-1
+ + =
Z

0
X

o)l
]
I
—
1l
=
Lt
l
v
|

Lt
R|= = | =

1 1
X ¥ z

x*-xJog +1=0
divided by x
1

X—.\/@+;=O

1
X+ Ml J68 (squaring on both side)

(A)

(€)

(A)

1
X'2+X_2+2=68

1
X+ 5 = 66
X

Substracting 2 on both sides

1
Xi+ —7-2=66-2

Xxty=7= x*+y*+2xy=49
T+ v+ 21xy

(x +y)(x* +y* - xy) + 21xy
7(49-3xy) + 21 xv

343 -21xy+ 21 xy

=343
%
a

Ja-=+4=0

2 [a—;+2]= 0

&

a

1
a-—=-2
a

1
a’— — +14
a

IR !
[a——]+3[a——]+14

-8+3(-2)+14
=-14+14=0
x2-x+3=0
a+f =1

of=3

o+pt =7
o+f=1
(a+0@y=12

o +Pi+2ap=1
o+ F+2x3=1
o' +p=-5

(0 + B = (-5)°
at+ B+ 202B2 =25
= at+ B=7
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Mother's Advance Maths « Algebra [Previous Year Questions]

1
10. (C) x*+ 7 =2

Let x = 1 is satisfied the equation
% = (1]6 =1
11. (B) a®+ b®+c*-3abe

2

Givenas—a=61,b =63, ¢c=65

1
=5 61+63+65)[61-63)*+
2

(63 - 65) + (65 - 61)7]

x 189 [4 + 4 + 16]

x 189 x 24 = 2268

b= b=

12. (D) x=3-22

1__ 1 3+2y2  3+2/2
X 3-02J2 3+2v2  o9_g8
1
;=3+2\/§

L
=(3)-

\/; zZ

1
Z=x+ —+2
X

=3-2J2+3+2J2+2

z2=8
Z = \/;-FL:Q\/E
Jx
1 3 1331 1

x+2 y+3 2z+1331 3
Xx+2=3=x=1
y+3=9=y=6
z+ 1331 =3993 = z = 2662

X 4 z
+ + =7
x+1 v+2 z+2662 -

1
4+ —=
2

ISR

b |
A | =

-2 (a+b+c)[(a-b)* + (b—c)* + {c-a)* ]

14. (B)

15. (D)

16. (A)

17. (C)

2+ 1 —Z
T
Add both side of 2

1 15
2y — 2=
T x° 4
( 1) 15
X+—| =—/

X 4

J15

X+—="—=

X 2

x+ty+tz=0
(x+y)°=(-z)°
x*+ vy - 3xyz =-z°
x*+y*+z*=3xyz
X‘% + yi‘} + ZZ‘}
Xz
Put value x* + v* + z° = 3xyz

3xvz
Xy=3
XVZ

1 1 1

X ¥ z

Xy+tyz+xz=0
X'J+y'.1+z'.1_3Xyz= [X+y+z) (X2+y2+ ZQ_Xy
— vz — Xz e (1)
x+v+z)2=121
X*+yr+z2=121 ... (@)
from eqn (1) & (2)
x*+y'+ 2z - 3xyz=11x121=1331

1% '(X2+1_X)]x(x—1)

(XQ—IJ‘ (_X-i—l)

(1+ X)(X“ —X+l) y (x+1) ](X—l)

(x+1)(x—1) x?+1-x

=(x+ 1)

X+\1X2—1+X—\,’X'“’—1 o
x—Jx* -1 x+Jx*-1

4?1+ 2ayt -1+ x4+ xP-1-2xyxi-1
1

=62

4x% =64
x¢=16
x=14 [x<0]
x=-4
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19. (B)

22. (A)

-3x+1=0
Devided by x

3]

Xt — =
p:8

W

[x'“’ +

1
X+;=,\/ﬁ=2\/§

Bt

-5a+3=17-3a
—2a=14
a=-7

1_3]= J100 =
&

( X' -xX—-6 J_( x?+5x+6

X +x-12 X+ T7x+12

Mother's T0Sa19 » dizmfvr

|

3

X +4x-3x-12

x'-3x+2x-6 | [ x"+3x+2x+6
x*+4x+3x+12

x(x+ 4)—3(X+4)

x( +2 (x-3) x(x
x( -3(x+4) )7

(x- 3(x+2) (x+3){x+4
(x=3)(x+4) (x+2)(x+3)
2 4 i—z

T 2T

) 1 7
X+ 5 +2= - +2
b. 4

3J_ 1515

x_ 2 4 2
or 15151215
x> 8

1 315

x*+ —=
x° 8

24. (D)

X*-8x+1=0

. ) 1
Find out x* + = =7
Equation (1) divded by x

1
X-8+ — =0
X
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26.(B)

27. (A)

28, (C)

29, (C)

30. (D)

Mother's Advance Maths « Algebra [Previous Year Questions]

1 N 1
1_ plemal  q _ lap) =?

I

x* x X x

P R p i r
x? —xP  x¥—x x4 — 5 x4 — xF
X —x? _q
4 _ P

_3x+1=0 (i)

eqn (i) divided by x

1 1
X-3+ =0 x+ — =3
X X

atb+c=-11
{a+4)*+(b+ 5 +{c+2)*-3a+4)(b+ 3)c+2) =
ath+c+11=0
fa+4)+b+3)+(c+2)=0
letatd4=x,h+3=y,c+t2=2
Sothatx+vyv+z=0
thenx*+v'+2* - 3xyz=0
Put thevalue x. vy, z
then (a+ 4+ (b + 5+ (¢ + 2)*-

Jat4H b+ (c+2)=0

(3+33)"

14x+2 [(7x+12)(7x—12) =42+ 633

Comparison for both side real orimaginary part
14x =42
x=3

2 J(7x+12)(7x-12)

(V7x+12+7x—12) =

= 6433

(49x” - 144) = 533
49x2=441 = 7x=21= x=3

1
X+ —=32
X
s, 1 .
¥+ =16 )
a, 1
X +x_3 + 9\/5:54\/5
1 .
x” +— = 4542  ..(i)

multlply eqn (i) and (ii)
1
x° +x_5+ 3.2 =720 /o

s, 1
X +x—5=717\/§

31. (A)

33. (C)

34. (C)

-7x+1=0
divide by x

1
x-7+—=0
X

1
xt - =7
X

x*+ 210X+ 1=0

Divide by x

1
t2J10 + =0
1
T T T

1
x2+?+2=2><2><10

1

X2+ — +2=40
e

Square both sides
1

X2+ — +2=40
X

Sustract -2 in both sides

1
x* + —=38
X
) 1
x+—5-2=36
X
A
x
x——=6
X
3x-=1  5y-1 7,1
: =0
X ¥ 7
1 1 1
3——+5-7+7-—-=0
X ¥ z
15= l i+i
X ¥ z
-3x+1=0
divide by x
1
x-3+—- =0
X
1
xt+ - =3
X

Study Center :

Jaipur * Gopalpurca » Lalkothi » Jhotwarg © Ambabari * Alwar

+ Udaipur



36. (C)

37.(A)

39. (C)

Mother's T0Sa19 » dizmfvr

Square in both sides

L. 1 L1
X+ 5 +2=9=x"+ -5 =7
X X

Square in both sides

a

. Ly .1
X +— =7‘2:}X+—4+2=49
. X_. X

s 1
h.4 +—4 =47
X

{a>+b*Na—b)—(a—b)

a’b—ab’
(a—b)[a2+b2—(a—h)2]

abla—b)
a’+b'—a’—b'+2ab

ab

xty=4
2 2
2P+ (2P +12x2x2=64
X'+ L -108

x4

Subtact both side of - 2

x4+i4—2= 198 - 2

x
; 1
X7 - =14
2
3x
Divided by 3
2
x—L =3°
Qx
8lx 2

x*-y'=112andx-y=4
[X—y"‘=43

then xy =4
and (x-y)*=4?
x*+y*-8=16
X*+y*=24

40.(C) x=5- 1
X
1.2 C ]
B T
X A
X+ = 23 X+ 21 3(5)- 125
X2 9 (1) e 3(5)

(i)

multiplie eqn (i) and (ii)

51
x7+— =110
x

X7+ L _
—= =2525
x
41.(D) (x-y)=3
AT.Q
(x - y)*=x*—y° - 3xy (x - )
(3P=x"-y'-3xy x 3
27 = x*—y*-9xy

42.(C) x*-9x+1=0 Equation Divisible by x
1
X+ _-=9
x
X+— | =x%+ —/+27
x X

1
729-27=x"+ —
X

x3+%=702
X
43.(A) ATQ.
(1—c)+(1-a)+(1-b) 3—{a+b+c)
T (1-a)(1-p)(1-¢) T (1-a)(1-b){(1-¢)

~a+h+ec=3
3-3
(1-a)(1-b)(1-c)~°

=a2+b2(a—b)—(a3—b3)

a’b - ab*

44. (C)

a® +i’;>2(¢cz—b)—(a—b)(a2 +b° +ab)
ab(a — b}

a2+b2—(a2+bg+ab)

ab

a2+b2—a2—b2—ab_—ab
ab ~ ab
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45, D)
46. (B)

48. (B)

49. (B)

50. (D)

Mother's Advance Maths « Algebra [Previous Year Questions]

AT.Q.

1 1 1

+—+

X VYV zZ

andx+y+z=7 ... (2)
then x*+ y*+ z* - 3xyz =7
eqn. (i)

xXy+yvzt+tzx=0

eqn. (ii)

(x+y +2) =7

X +yi+zt-3xyvz + 2] (xy +yz +2zx)= 343

x*+ ' + 2 — 3xyz = 343

X+l) =5
X
2 £
X2+ — =23 (1)
., 1Y
2] oo

X"
4+i_527 2
X oS27 (2)

Multiplying eqn. (1) and (2)

1,1
X+ —+x°+— = 12121
X X

1
X0+ — = 12098
X

1Y [7‘]'—
X+ — =\ —

X 4
X"+L4=’D
4+i+2—£
T 16
e 1 17

x* 16

1 .
X+—=-2 l+x*+x°=7?

X

X2+2x+1=0
X+x+x+1=0
x+1)x+1)
x=-1

T4 (1) ()= 1

51. (D)

52. (4)

53. (D)

54. (A)

55. (B)

X= 17—4.\/ﬁ
=17 - 2\/5

x=(3—2\/§)2
1

\/;+T=3—2 2+3+ 22 =6
X

T 1 1
at+tb+cit T+ T
e

a b
Put the value a=b=¢=1
az+b?+ ¢
12+ 1*°+12=3

3x4-9x+3=0
x-3x+1=0
x4+ 1=3x

X+—=3
X
1y 1
Yt+— | =@y | x+t—| =27
X X
1
X-— =3
X
L1 (1Y (-1
X+;— P +3 v
=(3)*+3x3
=27+9=36
x*-9x-1=0
X-9-—=0
X
]
XxX-—=9
X

g el

92+2+5x9
8l+2+45
=128
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58. (A)

59. (B)

60. (B)

Mother
s
X+—| = + T HF2XXX—
5x - b 4
1
— = o
x+ =32
1Y, =
o]
= L :2\/5_%_ @
125x* 5 5
oy L
@+ b=
1 3
3 = -
fa+h) (ab)
_ 1 1
a*+b? + 3ab ab )" 2
1 A
PR

yL
2 1 5
+ 2 =1
Yy
c+d «cod
— d = oy B
c—d_ cd
1 3
1 1 1
"4 cs g
d ¢ 3 U (1
After equation solving value
1,012 .8
d "’ ¢ 3° T2
1 5
X0 = y:i

6is LCM of 6 and 3

i\rj

Xt’:

-
:/fj
x=y*

61. (C)

62. (B)

63. (D)

b

a_, 3
3
a+3_1
3 a
a 1
Let — =xorx+ —=1
3 X

x? = -1 (Fictional value)

a’ = (-3)*
a®=-243
a+h=06x
{a-3x)=(3x-1h)
X X
= +
a—3x b+3x
X X X=X
T a-3x a-3x [(a-3x) =0

X+2)P=x"+8+6x(x+2)

(
(x+2)=x"+8+6x*+ 12x
(x+2)=x"+6x*+12x+8
(x+2)°=19 + 8
(x+ 2)°=27 - X+ BxE+ 12x =19
Xx+2=3
x =

1
X+ — =

X
x*+1=3x

S X4+ 1=3x

_2x 2

" 5x 5

XQ—X+1_3X—X
1534 1534

X*+ 16 =-4x

X*+4x+16=0

4
i 241=0
X

—=a

1
a-t —=-1
a

2+ 1=-1
a’+ lia-1)=-1(a-1)
a‘=1

[5] -1
4
X7 = 64

= x¢— 64
=64-64=0
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Mother's Advance Maths « Algebra [Previous Year Questions]

66. (D) x+4=20 69. (A) [x+— =5
x=-4 X
Xt kx+8=0 P = Both side cub
3(-4)2 — 4k + 8 = 0 X X—.Jg oth side cube
48+ 8=4K 1 !
56 = 4K (x+—] =(J§) = x4 —+3J5 =545
K=14 - X
67. D) x+y+z=40 O PN
(x+ytz)f=x+y*+2z°+2xyv + 2yz + 2xz ¥TxT
= X+ yi+i= -2 (xy tyZtxz) 1 17
AT.O. 70. D) x+ < 4 Both side cube
Xy +yz+2zZX __ Xy+yz+zx : 1 "_'17'3
x‘+yi+zt 2(xy+yz+ex) _X+; a3
1 X'J+ i+3><[£}=@
=7 x 4 &4
68. (D) (a+4)=a+64+12a(a+4) o L A e
= a®+ 64 + 12a% + 48a x 64 4
Compare to a* + 12a% + ka + 6y L1 4097
then k=48 T T 64
Study Center : Jaipur » Gopalpura  Lakothi ¢ Jhotwara « Ambabar « Alwar — « Udaipur



(SSC MAINS - 2020)

ALGEBRA
stepTfora

(Previous Year Questions)

3
f2x-y=2andxy= 5 then what is the value

3

of xt— 27
8
o) 3 8
ﬂﬁfzx—y=26mxy=§%,ﬁx3—%’mﬂ'ﬁw
B ?
A 3 ®-; ©5; O

If 847 x 385 x 675 x 3025 =3+ = 5" x 7o = 114,

then the value of ab - ¢d is:

7% 847 x 385 x 675 x 3025 = 3+ x 5° x 7¢ x 114%,

& ab — cd T HE @ F

(A) 4 (B) 5

(€)1 D)7

Ifa+b+e¢=1,ab+bec+ca=-22 and abc =-40,

then what is the value of a® + b® + ¢*7

Aza+b+c=1, ab+be+ca=-22 3l abe =40

2, dl a® + b® + ¢ & |/ g ?

(A) 67 (B)-33

(C)-51 (D) 27

Ifat+b=_8, ab=10, then the value of a® + b® is:

A a+b=8,ab=10%, T a* + b* FAH IT FL?

(A) 312 (B) 215

(C) 272 (D) 111

Ifx*- /7x + 1 =0, then what is the value of x*
1

+ —
.
MR- fTx +1=0F x4+ 5 =R A =4 B ?
(A) 1947 (B) 2147
(€) 257 (D) 277

22,2
It . —=a+ /gb,witha, b>0,th
4\/__ma\/§,ma,>,en
what is the value of (ab) : (a+ b)?
. 222 ‘ L
=a+ b, @l a,b>0,%,
T Bt EPE T ab-0
(ab) : (a + b) T A FAEW ?
(A)7:8 (B) 7:4
(C)4:7 (D) 8:7

10.

JC4 + —J
Ifx?-3x+ 1=0, then the value of (7)6

(x2+5x+1)
is : [4 1]
. g
T x> -3x+1=08,@ X/ =mumearn
(x*+5x+1)
A g B g C E D2
(A) (B) P ( )Q (D)

Ifx=32.5,yv=34.6 and z = 30.9, then the value
of x* + y* + 2z* - 3xyz is 0.98k, where k is equal
to:

AR x=32.5,v=34.6 8Mz=309%, Ax*+y> +2°
- 3xyz TAN 0.98k B, T k®___ THEI
(A) 1033 (B) 933

(C) 1026 (Dy921

If 275 — 64 y* = ( Ax + By) (Cx® — Dy +12xy),
then the value of 4A + B+ 3C + 2D is:

G 275 — 64 i = ( Ax+ By) (Cx2 - D1 +12x) &, 1l
4A + B + 3C + 2D 1 9F foha=1 grm 7

(A) 5 (B) 3

(€)-3 (D) -4

\26 - 73 :b+aJ§

J14+ 543 11

If , b >0, then what is the

value of /(b-a) ?

_V26-7J3 _b+a3
R J14+ 543 11

b>08, 7 \[b-a)®

AW AT g ?
(A) 5 B) 25
(C) 12 (D)9
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Mother's Advance Maths « Algebra [Previous Year Questions]

V38-5J3 a+by3 1. 5 71 T 2
11. If = = ., b >0, then the value s X x 3, x# 0% x x7 U AR £
26+ 73 23
. (A) 749 (B) 843
of (b—a) is: (C) 746 (D) 849
¥38-53 _a+b3 . 1 . 2o 5l
= o 13, IfxX'+y +332=17—and 2 —xy+ 1= 5—
™ aei7is 28 PrOBTB-am Yoy s g and xXoxy g = 55,
. then one of the values of (x — g is:
A PR B ?
1 . 1
(A)7 (B) 18 A+ Y+ oyt = 17— R —xy+ = 5— %,
(C) 29 (D) 11 . 16 4
1 1 qal (x— y) & °9F 930 ?
12, Ifx+;=3,x¢0,thenthevalueofx?+x7_ is 5 3 5 3
A 5 B, ©; D3
Solution
3 iy a*+ b* = (a+ h)ia* + b2 —ah)
L D) 2xy=2 xy=j x-5=1 = 8(34)
=272
Cubing both sides 2
x”‘—%a—s(x—%l%):1 5. () ¥~ 7x+1=0.x7+ -5 =7
divide by x
. y:‘, 3 o] 13 1
F——=1+3(1)| = |=1+— = = k- _
g U[c}} 4 4 X+X—‘ﬁ
2. (B) 847 x 385 x 675 x 3025 = 3% x 5% x 79 x 11¢ \
=7x112x5' x 7' x 11" x 5% x 3% x 52 x 11* X2+ — +2=7
=3%x 5 x 74 x 11° X
a=3,b=5c=2,d=5 1
ab-cd=15-10=5 X2+;=5
3. (B) a+b+c=1,ab+hc+ca=-22, abe=-40,
a*+b*+ =7 +l_
(@+b+c2=1 X+ =7
a‘+b*+c*+2{ab+ be+ca)=1 !
az+b2+c2+2(-22)=1 X:{+_3+3\/?:7\ﬁ
a’+b’+c” =45 *
a*+b*+c*-3abc=(a+b+c)a*+bh*+c*—(ab x4 i':4_\/7
+ be +ca)} x*
a®+ b+ c* + 120 = 1 {45 —-(-22)} ) 1 1 1
at+b*+ef+ 120 =67 X+ — =[X2+_2J(X3+_3)_(x+—J
a* +b* + ¢ =-53 x* X X X
4. (C)a+b=8,ab=10,a%+b*=? I,
(a+ b)? =82 —[5](.4\/?)—\/?
a2 + b? + 2ah = 64 _
a2+ bt + 20 = 64 197
az+ b4 =44 222
a’+b*-—ab=44-ab (A) —————=a+5b
42 - J3+ 45
a%+b2—ab=44 - 10 V2-J84 5
a? + b* - ab = 34
a? + b* - ab = 34
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222
2(3+J§)
2

22,2

442 -

= 43— 6+25

2

44 44

= 8- [V5=1) "8 (5]

:,%:m@b
_44><(7+ \/3)

T 725

= %(7+\/§):a+\/§b

=a=7,b=1
ab:ath=7:8

7. (A) x2-3x+1=0

1. (D)
2. (B)
3. (D)

[ x+ - [20x- )= (x+3y) [Ax* + By* + Cxy]
[BOry)-20x-y] X [Ax +yy +d{x-yy +6(x*
-y

= [Bx+ 3y - 2% + 2y ] X [9%" + Oy* + 18xy + 4x* +
dy* - B xy + 6% - 6y

= [x + 3y] x [19x+ 7y + 10 xy] = [ + 5y] x [Ax’
+ By?+Cxy]

A=19,B=7C=10

(A+B -C)=(19+7-10)=16
a+bi+d-Jabc=@+b+)[@a+b+cy-3(@b
+bc+ca)]

3M2=6[36-3 (ab+ bc + ca)]
37=3-3(ab +bc + ca)

%= ab+bc+ca

-7=ab+bhc+ca

1 S
W+ — == x+—=7
X X 3

25-6 _19_,1
"9 T 97 %

8.

4.

1
x+ —=3
X
K+ PR
x+6x+1 1 o 3+5 8 4
X

(A) x=32.5,Y=2346,Z=309

X+ y' + 2 - 3xyz = (xtytz) %

[(x—»)F

o | =

+y -z +(z—x)]

 (325+346+309)

X [(32.5-34.6F + (34.6-30.9) +(30.9-32.57

98
?x[(l

2

P +(3.77+ ('1.6)3]

=49 x [4.4'l+'l3_69+2_56]

=49 x 20.66
It is given that

49 x 20.66 = 0.98 K
= 2260 1053
0.02

(A) O+ y2=37 ={(3x+yyr-oxy=37

(A)

xy=2

(Bx+y)P=49=2x+y

(3x +y) (9 + y* - 3xy)
7(37-3%2)

7 (37 - 6)

7 x 31 =217
x¥=3dxd+1=0

7
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(SSC MAINS - 2019)

ALGEBRA
stepTfora

(Previous Year Questions)

15 November 2020 SSC Mains

If27(x +y)’ - 8(x - y)* = (x + Sy)(Ax* + By* + Cxy)
then what is the valueof (A+ B-C) ?

At 27(x +y) ~8{x— y)’ = (x + 5y)(Ax® + By* + Cxy)
2, (A + B — C) %l 7H 91 &g

(A)11 (B) 18

(C)y13 (D) 16
lfa+b+c=6,a"+b"+c*-3abc =342, then what is the
value of ab +be +ca ?

ARG a+b+o=6,a2+ b2+ 2-3abc=342%, Tab + be
+ ca T HE T9 FIAC |
(A)8

(G)-5

(B)-7
(D)5

» 1
If 3x2 - 5x + 1 =0, then the value of [X' +wj is:

Ox?

|
TG 32 -5x +1=0%, [XZJF—] =R H 19 i |

42 .1
M3 ®)15

1 1
© 25 (D) 2,
(92 + y2 =37 and xy = 2, x, v > (), Lhen Lhe value of
7%+ y) is
A I+ =373 xy =2, x, y> 08, TR+ y)®
TF [T F A
(A)217
(C)3m

(B) 207

{D)259

Given Lhal x5 - 3dx*+1 =0, x > 0. Whal is Lhe value of
(o +x3)?

T TE 5 - 3dxt+1 =0, x> 0T (¢ + x %) F AR T
Eancd
(A) 58
Q56

(B) 6:/6
(D) 68

10.

16 November 2020 SSC Mains

Ifa+b+c=7anda’+ b*+ 7 - 3abc =175, then what
is the value of (ab + bc + ca)?

AR a+b+ =7 AT+ b+ ¢ - 3abc =175 &, Tt (ab
+ b + ca) % HF 1T ity |

(A7 (B)8

Q6 Do

If x*+4y? =17 and xy = 2, where x > (), y > (), then what
is the value of x* + 8y*?

e 32+ 4y =17 s xy=2%, @i x>0, y > 0%, 0+

8y’ T A F@ It
(A)85 (BY76
Q)65 (D) 95

If (x +y) + 8 {x-y)=(x+ Ay) 3x* + Bxy + Cy?), then
the value of A+ B+ Cis:

T (x+ P +8 (x-yP=(3x+ Ay) 32 +Bxy +Cy) &,
A + B+ C T AF I Fiw |

(AY0 (B)4

)2 D)3

5,

L

= A J09 |

If 2x% - 7x + 5 =0, then whatis the value of x* +

: 2
e 22 -7x+5=0% AW x>+ e

1 1 3 _1
(A) 95 ®7; Q97 O35

1
If x - ;= 5, x # 0, then whal is Lhe value of

x"+3x* -1
x"-8x" -1

. 1 . - X0 +3x" -1 o
A x- —=3,x20%, 9 —————— FHAH 91 HSY
X x" —8x° -1

13 11 3 4
W B ©OF; O,

Study Center : Jaipur ¢ Gopalpura  Lakothi ¢ Jhotwara ¢ Ambabari « Alwar

+ Udaipur



Mother's T0Sa19 » dizmfvr

18 November 2020 $SC Mains 1 L. 1 .
A X2+ X—2=7%‘,?|Tx3+x—33€rﬂﬁ3|ﬁ3|ﬂ,mx>0%‘l
16 32
11. Ifx+ ?=8, then the value of x> + X—st,: (A)15 (B} 16
312 D) 18
16 ; , 32 e © ©
=fg x + ?=83,?ﬁxi+ X—zmqﬁmaﬁrﬁml
1 5 1
(A)24 (B)18 14, 1FVx+ 7= thenthe value of X+ is:
(©)20 (D)16 x x
3 a%\/;+i—%%a‘rx3+lwnﬁmﬁ%rq|
12, I[x[3__]:i,Lh(‘.nlh(‘.valu(‘. ol x° - — is equal Lo N x”
(A)324 (B)322
4|2 F Syt (C)qu) (D)'.I'_22
?ﬂ%x[ XJ L B X = — 1 A T
61 52 _ o
(A) 55 (B) A , 2
77 7 15. Iix- - =6,x#0,lhenthevalucol X is:
x x"—3x-3
o 0 &2
( )27 ( )27 N X_1_27
Mex- = =6,x208, @ X =maHIE I
Lo 1 Lo 1 : X x"—3x-3
13,  Ifx*+ —5 =7, then the value of x* + — wherex > (is
| x x {A)90 (B) 270
equalto: ()80 (D)54
Solution
1. O [BX+y-[2(x-yF=(x+3y)[Ax*+By?+Cxy] | £ (&) 9D*+y =37 = (Ox+yP-o6xy=37
Bx+y)-2(x-y)] % [Ox+yP+4d(x -yl +6(x* xy=2 (Bx+yvyP=49=3x+y=7
-y9)] (B3x +y) (9 +v* - 3xy)
= [3x + 3y - 2x + 2y] X [9x7 + Yy* + 18xy + 4’ + 7(37-3x%2)
4y’ - 8 xy + 6x* - 6y’] 7 (37 - 6)
=[x +3y] * [19x* + 7y* + 10 xy] = [x + 9y] x [Ax* 7x31=217
+ By?+Cxy] 1
A=19,B=7C=10 5. (A) x"-34x"+1=0 X+ =7
(A+B -C)=(19+7-10) =16 ) *
2, (B) a*+b'+*-3abc=(a+b+)[(a+b+c)-3(ab xt-344+ — =0
+bc + ca)] X
342 =6 [36 - 3 (ab + bc + ca)] 1 1Y
57 =363 (ab + bc + ¢ i+ — =31 = [ X"+— | -2 =34
37=3%-3(a C+ca) < - <2 <
21
—=ab+bc+ca 1 1y
-3 ¥+ — =6 = [x+—) -2 =4
-7=ab+bc+ca X X
1 1 5
Ay — = _— 4+ — =
3 D) 3>.+X 5= x+3X 3 X J8
,, 1 25 2 1 1y (1
“tox T o 3 X+ =[x _a[“;]
25-6 19 1 3
=75 “9 % = (V8] =3x8 > 85 -3/8 = 58
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6. (B)
7. (C)
8. (&)
2. (B
10. (A)
11. (B)

Mother's Advance Maths « Algebra [Previous Year Questions]

ath+e=7

a*+ b* + ¢* - 3abe

= (atb+c)[a*+k*+c*—{ab+bctca)] or
= (at+b+c][(atb+c)*-3(ab+betea)]
175 =7 [49 -3(abt+bc+ca)]

49 -25
=8

)

ab+bc+ea=

X2+ 4yt =17

add both side @ 4xy
X+4yi+4xy = 17+ 4xy
(x+2y)2=17+4 x2

x+2y= .25

X+2y=5

X+ 8yt =7

(X+2y]% -_ 5-";

x* + 8y° + 3(x)(2y) x5 = 125
x*+ 8y*=125-60=65

Xy =2

(xty)* + 8{x-y)* = (3x+Ay)(3x*+Bxy+cy?)
(x+y)* + [2(x-y)]* = (3x ~¥) [x* + y* + 2xy + 4

(x*y*-2xy)-2(x*-y7)]
= (3x-y)(3x*+7y*-Oxy)
by comparing

A=-1
B=-6
c=7

A+B+C =-1-6+7 =0
2x2-7x+5=0

25 49 _1
= x? + =—-5-
2x 2 4x* 4 2

x-Lo5 o x0 - L (5p43x5-
XG

™

x*+3x* -1 xxt -+ 3]

tJ_ 3_ =

x -8x*-1 3x - 8]

_140+3 143 13

T 140-8 132 12

Putx=4

-1+E—8 - 32_16+ 32
g 0T T E T

140

=18

12. ©)

13. (D)

14. (B)

15. (A)

3
Ix-2=—
X
I — =2 2
- =2=x- =0
- L}:(x—l] +S[x—l]
X . X X
_8 . 1 e
27 T TN T Ty

1
x+ — =3

X

G

¥t == Xt — | =3 x+—

X X : X
=27-3%x3=18

1
x+—=9-2

X
x+ — =7

X

1 «
X'+ 5 =(7y-3x7

x
=343 - 21 =322

3
X-—=0

X
x.xa—Z

X'}  (216+54)

x[g— 3_3] (6-3)
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ALGEBRA
stepTfora

(Previous Year Questions)

[fx?-1442x"+ 1 = 0, then a possible value of x
1

- — is:
x
— = 1 -
Tkt~ 1442x 4 1 =0 W x - — T HMER A E
(A) 5 (B) 8
(C) 4 (D)6

If /86— 6042 = a— b2 » then what will be the

value of /32 1 42 , correct to one decimal place?

A J86-60v2 =a—hy2 T T a7 1 b7 F SEEA
T TF T A TR ?

(A) 8.4 (B) 8.2

(C)7.8 Dy7.2

I[fa*+ b+ ¢*+ 96 =8 (a+ b - 2c), then
Jab—bc+ca isequal to:

A al+ b2 +c?+96=8 (a+b-2¢),d Jfab—bc+ca
=1 9 9 forerh R 7

(A) 6 (B) 22

(C) 4 (D) 23
fx+y+z=11,x*+y"+2'= 133 andx* +y° + z°
= 881, then the value of {/xy~ is:
FRex+y+z=11,x2+y2+22 =133 3R x* + y* + 23
= 881 T ¥xyz FAME :

(A) -6 (B) 6

(C) -8 (D)8

Let a, b and ¢ be the fractions such thata< b <

5
c. If ¢ is divided by a, the result is 50 which

7 11
exceeds b by I.Ifa +th+c= '15 then (c — a)
will be equal to :

abaiRct@fimEfma<bcctake, adfausas,
N - % S %aﬁwi‘rmﬁa Tbe+

11 - r o~ bt 3
c= ]E g, T (c - a) F=fatas 9 9 s g g ?
N B ©- -
w3y ®5  ©, D
Ifia+h):(b+tc)j:(cta)j=7:6:5andatb+c

1 1 1
= 27, then what will be the value of _:E:_?
I} C
A (a+b):(b+c)ifcta)=7:6:53Ra+b+c
111
=27/ —i =17
a b ¢
(A)3:6:4 (B)3:2:4
(C)4:3:6 (D)3:4:2

If x = \j1+%—\j —%, then the value of

J2 - x
\/E+; will be closest to :

s x = \j1+£—\/1—£%,?ﬁ V2N Fe
2 2 V2 +x

T B ?

(A)0.17 (B)0.12

(€) L4 D) 1.2

Ifa*+ b*=218 and a + b = 2, then the value of
abis:

A a’+ bt =218 iRa+b=2dab FAAE :

(A) 34 (B)-35

(C)-31 (D) 32

If 202x° - 3{3y° = (\5}(— \ﬁx) (Ax? + By? + Cxy),
then the value of A2+ B - C?is :

A 24/2x" - 33" = (\/Ex - \BX) (Ax? + By? + Cxy)
WA+ B - C? AT ?

(A) 11 (B) 7
(C) 19 (D) 10

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Pulia, Tonk Road, Jaipur-302018
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10.

11.

12.

13.

14.

Mother's Advance Maths « Algebra [Previous Year Questions]

Three fractions, X, vy and z are such that x > v >
z. When the smallest of them is divided by the

9
greatest, the result is 0" which exceeds y by

13

0.0625, Ifx+y+z= 1£ , then the value of x +

Zis
i sfex, y 3Rz, x>y >z % GAAE | SO 5™ 9
- = - = ~ L N 9
m@zaﬁma@ﬁﬁwﬁﬁmw%mw%
e & < f5 y 9 0.0625 sifem g1 afax + y+ z =
13
24

1

Mx+zFAAE :

25

7 7
Wy Bl © O

1
Ifx+ — =3, then the value of 16x" + is:

16x 256x°

1 ; 1 -
A x+ —— = 3% 16x* +——— FHF T :
RRETIRE L LR

(A) 423 (B) 441
(C) 432 (Dy414
Ifx+y+z=2 xy+yz+zx=-11 and xyz =-12,

then what is the value of (x’ +y’+2° -2 7?2

e x+y+2z=2,xy+yz+zx=-11 3 xyz=-12

%,?ﬁ \I|X3+y'3+7,3—2 EFT'FI'H%

(A) 6
(€)9 (D) 8

(0.545)(0.081)(0.51)(5.2)

The value of (-0_32__1)3 +(0_221):4 _(0__545)3 is :

(0.545)(0.081)(0.51)(5.2)

(0.324) +({0.221) —(0.545) T €

(A) -1 (B) 1

(C)3 (D) -3

Ifx'-83x*+ 1 =0, then a value of X* - x* can
be:

A x* - 83x2+ 1 = 0 A x° —x° FANE TFAE

15.

16.

17.

18.

19.

20.

If(5x+ 1) +(x-3)°+8(3x—-4)"=6 (bx + 1) (x - 3)
(3x — 4), then xis equal to :

T (5x+ 1)* + (x—3)* + 8(3x - 4)* =6 (5x + 1) (x -
3) (3x - 4) ¥, d x =1 94 F=ifatiad % ser g

1
If 8x% - 27y* = (Ax + By) (Cx? - Dy? + 6xy), then (A
+B+C-D)isequal to:
Tfg 8x° - 27y% = (Ax + By) (Cx2— Dy? + 6xy) &, 1 (A
+ B + C - D) fr=tafias & 9 s aex s ?
(A)-12 (B) 12
(C) 15 (D)9

G-\B

Ifx= m and vy is the reciprocal of %, then

1 2 3
w, ®; ©; ©

what is the value of (x* + )

\/g_\/g ) =~ 3 3
ax= o F ey, x Frogo E, (%0 +y)

TR
(A) 488 (B) 504
(C) 472 (D) 476

If \10— 2421 ++/8+ 215 = v/a + Vb » Where aand

b are positive integers, then the value of 3
is closest to :

AE 10— 2421 +4/8+ 215 =Ja+/b 7 & S b

ST T, W fqh 1 Rees T E
(A) 4.6 (B) 5.9
(C)6.8 (D) 7.2

ab(a-b)+be(b-c)+calc—a)isequalto:

ab (a—hj + be (b-¢) + ca(c - a) FfarEs w @ Pres
A T ?
(A)(a+b) (b-c)(

(B) (a~D) (b+c) (c-a)

(C) (a~b) (b—¢) (¢~ a)

(D) (b~-a) (b-c)(c-a)

Giventhat (5x-3)* +(2x+ 5)* + 27 (4 -3x)*=9(3
- 5x) (2x + 9) (3x - 4), then the value of (2x + 1)
is :

=fg (5x — 3)* + (2x + 5)° + 27 (4 - 3x)° = 9(3 - 5%)
(2x +5) (3x - 4) &, T (2x + 1) =1 HE FNEMM?

c
C

(A) 758 (B) 756 (A)-13 (B) 15
(C) 739 (D) 737 (€)-15 (D) 13
Study Center : Jaipur » Gopalpura  Lakothi ¢ Jhotwara « Ambabar « Alwar — « Udaipur
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21. If 5V3%° +242y° =(:AX+ \Ey) (Bx?* + 2y* + Cxy), (A) 1 (B) 1
then the value of (A* + B* - C?) is : 2 3
afe 5V5x" + 242y’ = (Ax++2y) (Bx? + 2y% + Cxy), © = D) &
N N 12 4
%, 91 (A% + B? — C?) =1 /19 901 21771 2
(A) 15 (B) 20 _ _ .
. ; : NO0D ++/ 2
(C)30 (D) 40 24. Let x = Y27- bj and y = V45 + oo + _243 )
V4 ‘ V80 +125
3(x*+1)-7 2 2 s
22. If % = 6, x # 0, then the value of then the value of x* + y* is :
X
! e YT o2 sy o VBN
: X+—X is : x= 4 y= m+\/ﬁ ’
32 +1)-7 1 X2 + y? 1 A 7
=tz (4 1)-7 =6,x20% @ \/§+T A
Ix X 223 221
7 ? (A) %6 (B) %
25 11 35 31 21 297
& 5 ® \E © 5 D3 Z o =
23. a, band c are three fractions suchthata<b < | 25, 1f (5x + 2y} : (10x + 3y) = 5 : 9, then (2x? + 3y?) :
s .9 , (4x* +9y?) =7
c. If ¢ is divided by a, the result is 5> which afs (5x + 2y) : (10x + 3y) = 5: 9 3, 41 (2% + 3y7) -
: 1 (4t + 957) =
exceeds b by Z‘Thesumofa,bandcit;ﬁ. (A) 31:87 (B) 10: 27
What is the value of (2a + b-¢) ? (C)16:47 (D)1:3
a,b3e, a<b<cwranidafy=g afgcmagy | 26. Ifx+y+2z=6,xyz=-10 and x* + y* + z* = 30,
9 », then what is the value of (x* + v + 2%) ?
Terenfera fapen st % a7 aftons Eaﬂm%ﬁhbﬁ ;‘ atferk A x+y+z=6,xyz=-10TTMx* +y? + 22 = 30 %,
(% + y° + 2%) ] JE F 0 7
19
%1a, baiRc®mam E%‘I[Qa-irb—c)?ﬂtlﬁw%? (A) 132 (B) 135
(C) 130 (D) 127
Solution
1. (D) x¢-1442x*+1 = 0 = a- b2
12 1 4 _
=[x 45 +2 = 1444 =(38) = (6-5v2) =a-bV2
’ (x“) =a=6,h=5
eal So, o) +(5F = JBI =78
= <2, =38 3. (C) a?-8a+16+b*-8b+16+c*+16c+64=0
=S a-44+{h-42+(c+8*=0
N [X—lj = 6 =a=4,b=4,c=-8
® So, Jab —bc+ca =16+32-32 =4
2. (€) (86-60v2=a-by2 (X+y+z)2—(x'2+y'2+zz)
: 3 4. (&) (xytyztxg)=
:\/(6)2 +(5v2) —2x6x52 2
' _121-133 _
= =0 =-
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XZ{ + y!{ + z:‘, _ 3 Xyz =

(x+v+2z)[x*+y*+ 22— (xy +yZ + x2)] y = 2 1.1 (i)
= 881 -3xyz = 11(133+6) 16 16 2
_881-1529 o = IE _ ﬁ
- wE T 3 XTYTZ T S04 T 2
-648 a7 1
= =2 2216, = Yxyz =-6 _ 2 2
3 = XRTE S 9472
5. (D) c_5 putting value of y from eq. {ij
a 2 o o ﬂ_ 12
L. 8.7.3 = XTZ2T 24 24
= = —_———=
2 4 4 s 55
23 3 7 o4
A 24
= AT 1274 6
1
3 7 1 11. (A + - =3
So, (c-a) = =Xe=5 @ *7 lex
6. (C) (a+tb):(b+tc):(c+ta) = 7:6:5 . 1 3 _
= (a+h+c) = 27 Xt e 16 2T
a=29 ] 5
b= 12 3y
+ —= = -—
c =6 X 163}{3 27 ].6
3 111 111 multipying whole eq. by 16
“a'b'c 9126 - % 166
_ . . s — 9= * _
a = 423
7. (4 X = \/:l-i-ﬁ—.\/:l—£ 12, {A) x*+y°+2z°-3xyz
2 2 T =y ety rep-Slay tyzten)]
| &1 X'+ ¥+ 70— 3xyz = (2)[(4 -3 (=11))]
= Y R B = 2x37
2 2 = xPHyiezd = 74+3(-12)
5 V2ox J2-1 414 N = 74-36=38
” J2+x V241 2414 =4y 1z’ —2=/38-2 =6
8. [B) a3+b3=218,a+b=2 13. [A) a*+ hi+ % = 3ahe
(a+b)? = a*+b*+3ab (a+b) i ad4bic =0
= [28%; = 23158*3"2ab Here, a = 0.324
= Al b = 0.221
9. B) 2/2x* -3 /35 = (-\/EX— \/gy) (Ax? + By? + c = -0.545
Cxy) 0.545x0.081x0.51x 5.2
=
, 3 -3x0.324x0.221x0.545
= (V2x)* - {3y) ~-1
— _ 2 2 1
= (\/EX \/§y) (QX + 3y +\/€Xy) 14. B 1+ = =83
-A=2,B=3,C= /6 *
A+B-C?=4+9-6=7 x-= =9
10.({C) x>y>z 1X
z 9 9 g = 625 Xt*—— = 729+3x9
1A 1/ ¥F X
x 16" 16 10000 = 799+ 07
_9_25 = 756
Y716 400
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15. {4) a*+b*+c* = 3ahc
= a+b+c =20
ox+ 1)+ (x-3)+2(3x-4)=0
12x-10 =0
5
= X = g
16. (B) Using formula of A* - B*

= (A-BJ(A*+B*+ AB)
(2% — 3y) (4x?* + 9y* + 6XV)
=A=2B=-3C=4D=-9
=A+B+C-D=2-3+4+6
= 12

1 5-4/3 (‘/g‘\/g)
17. (A) x= y,x=7( 5+J§)X(.J§_J§)

_ 8-2415
2
x =4- 15
y = 44415
X'yt = (X +y)-3xy (x+y)
= (8)*-3(8)

512-24 =488

f m

18.(B) \I.'(\E)“ +f V.fg)'ﬁ ol + V"I(_ \E)z B ( v@)z 2

= Ja +b
= J7-J3+V5+V3=a+b
J7 45 = Ja+B
=a=7h=5= \fah =59
ab (a—b) + bcib —c) + calc - a)
a’b — ab® + b?c -bc? + cafc - a)
hia* — ¢ + b*c - a) + ca {c—a)
bia+c) (a—c¢) + b* (c — a) + ca(c—a)
(e —a) [b%+ ca—ab— b
(¢ —a) [bib-a) + cfa-h)]
(b-ajib—c) (c—a)
a*+b* + ¢* = 3abe
= a+hbh+c
Sx-3+2x+5+3(4-3x
-2x + 14
= x=7
= 2x+1)=2{"+1
=15
(\/gx)ﬂ +(\Ey)3 = (\/§X+ JE»J (5}:2 +2y° - \fﬁxy)

=>A=.5B=50C=_J1p

19. (D)

20. (B)

o I B ]
]

21. (B)

22. (D)

23. (D)

25. (A)

1 25 1
e 1B el
X x

3’ Jx

:>X+i+2=k'2 - 240 - g
31 31
= k* 3 =k = 3
9 9 23
—_=— ——h=
a 2 2 6
a—i—b+(,=g ::>b=i=E
12 6 3
o n 9 11
a—i—(,:E = a—i—Ea:E
1la 11 1
2 12 7% e
9 5
=57
bl 2 3 1,25 3 1
v 3 4 3 3 4 4 4
| ; | 2
X=31_@ X=32—3_'2
2 2
27 27
X2=3+——9:>T—6

3B nsH75 215 7
v 15 +35 95 3

xi4ys £—6+£ _ 243—- 2164196
4 G 36

223

36

>x+2y 5

10x+3y 9

45x+ 18y =50x+ 15y

X

X‘2 + y2 -

- —=

3
y 5

5x =3y

23" +3y° 18475 9% 31
T AP +9y° 364225 261 87
v+ 2P -3xyz=(x+y+z)
(x*+y*+2° - xy—-yz—2X)

_ 36-30
X+ vy + 27 + 30 = (6) A0-— 2

=6 x (30 - 3)
=27 x 6 =162

2 2 2 = —_
DA N S x*+yi+zi= 162-30 = 132
HEAD OFFICE : 201, Himmat Nagar, Gopalpura Pulia, Tonk Road, Jaipur-302018
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What is the value of 1006%—
x 1004 — 1009 x 1003 ?

1006% — 1007 = 1005 + 1008 x 1004 — 1009 x
1003 F1 AF & ?

(A)6 (B) 13 ({C) 12 (D) 24
Ifa?+ b =4b + 6a- 13, then what is the value
ofa+h?

g a?+ h>=4b+6a— 138, da+ bhH HF FNE ?
(A)3 (B) 2 (C) 5 (D) 10

x and y are positive integers. [f x" + y' + x%* =
481 and xy = 12, then what is the value of x* -
Xy +y*?

X T y T ST IO © 1A x* + y* + x2y? = 481
TN xy =128, Txi-xy +y? MATFOE 7

(A) 16 (B) 13

)11 (D) 15
IfA=1+2"and B = 1 + 27, then what is the
value of B ?

AEA=1+2PaqIB=1+2" %, diBREAF2?

(A+1) (A+2) (A-2)
A (a7 (A+1) % (A+1)

1007 = 1005 + 1008

If a and b are roots of the equation ax® + bx + ¢
= 0, then which equation will have roots (ab + a
+b) and (ab-a-h)?

A a TN b THE ax? + bx + ¢ = 0 F 9T E, T
THIEW F W (ab + a + b) 9 (ab—a - b) T ?

(A) a’x*+ 2acx+ c#+b*=0

(B) a*x* - 2acx+c*-b*=0
(C)a’x*-2acx+c*+b*=0

(D) a*x* + 2acx +c*-b?*=0

If (1 -p° ) (1 - (12) = g , then what is the value

of \/Qp'“’ +2q° +2pg + \/Zp2 +2q° - 2pq

L . 2vi, 21 -\."Ig o -
=fe J1-p){1-a’)= z, at
\,"I211"' +2q" + 2pg + \,I'IQPJ +2q" — 2 R HET T 27
(A) 2 (B) V2
1 (D) None of these

10.

11.

If{a+b)?-2(a+b)=80and ab= 16, then what
can be the value of 3a- 19b ?

It (a+b)2-2(a+h)=80 M ab= 16 ¥, 1l 3a -
19b 1 9 941 &1 Tl € ?
(A) -16 (B)-14  (C)-18 (D)-20

Ifxz= 1, y*== 1024 and z=¥ = 729 (x, y and z
are natural numbers), then what is the value
of (z + 1)7=1?

e x7z = 1, y= = 1024 90 25 = 729 (x, y 991 z

eRfa ey &) i (z + 1P w A =g ?
(A) 6561 (B) 10000
(C) 4096 (D) 14641
_ Y3+42 §-y2 then what i
a= \/g_\/ﬁan _-\/E—‘,--\/E’ e what 15
the value ofa? + b =ab ?
= va+\/_ \/5 \/_ -

1 HF FNE ?
(A) 97
(C) (46)+1

[fthe difference between the roots of the equa-

B) (23)+2

(D) 98

tion Ax? — Bx + C = 0 is 4, then which of the
following is TRUE?
Tt THE Ax? - Bx + C = 0 F el =1 &/ 4 &, 4t

Frfafan § G FR-mam 2

(A) B? - 16A% = 4AC + 4B

(B) B> — 10A? = 4AC + 6A?

(C) B2 - 8A2 = 4AC + 10A”

(D) B2 - 16A2 = 4AC + 8B>

o and [} are the roots of quadratic equation. If ¢
+f3=8and o - = 2,5, then which of the
following equation will have roots ¢ and '?

o 51 3 fgmma Fea g € 1A g+ =8 T ma - B
= 0/5 ¥, @ of a0 B+ FreAtAtEm # 9 i wEm
AT ?

(A) x?— 1522x + 14641 =0

(B)x*+1921x+ 14641 =0

(C) x>~ 1764x + 14641 =0

(D) x2+2520x + 14641 =0
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If a and b are the roots of the equation Px* - Qx
+ R = 0, then what is the value of

)-3)60)-

aE a TN b FHIEW Px? - Qx + R=0F qa &, @

(32 E) e

(@ -2P)R+P) (@7~ 2PR)R+P)

(A) PR PR®
@ (@ - 21}‘)) (921’ +R) (D) (@ ~2PR)(2R + 2P)
P°R* PR?

Ifx*+ 16x + 59 = 0, then what is the value of (x

, 1
-6) + (X—6)2 ? {

1
AE x? + 16x + 59 =0 §, a1 (x - 6)2 + ( —@JW
T % ?
(A) 14 D) 20
(C) 16 (D) 20

If A and B are the roots of the equation Ax‘ -
A’x + AB = 0, then what is the value of A and B
respectively?

e A T B T Ax? - A%k + AB = 0 F @ E, @
HEY: A T B % A 1T 7

(A) 1,0 (B) 1,1

(C) 0,2 (D)0, 1

oo and [ are the roots of the quadratic equation
x? —x — 1 = 0. What is the value of o® + 7

o AP A T 2 —x~ 1= 0 F g E | g + B
ol | F T 7

(A) 47 (B) 54 {C) 59 (D) 68
[fatb+c=9,ab+bct+ca=26,a*+h*=91,b°
+ ¢t =72 and ¢ + a® = 35, then what is the
value of abe?

qga+h+c=9, ab+bec+ca=26,a’+b’*=91, b’
+cd =720 ¢+ a’= 35 %, dl abe HHAFNE ?
{A) 48 (B) 24

{C) 36 (D) 42

[fx*-4x*+ 19 = 6(x - 1), then what is the value

°f{xg+[xi4ﬂ?

ofe x3 — 4x? + 19=6(x-1) %,?ﬁ {x2+[xi4” =h1
TAFNE ? |
(A) 3
(€)6

(B) 5
(D) 8

18,

19.

20.

21.

22,

Cost of 8 pencils, 5 pens and 3 erasers is Rs
111. Cost of 9 pencils, 6 pens and 5 erasers is
Rs 130. Cost of 16 pencils, 11 pens and 3 eras-
ers is Rs 221, What is the cost (in Rs) of 39
pencils, 26 pens and 13 erasers?

g Ufaet, s o M 3 W F e 111 %, &1 9 Ufaa, 6
HETH 1T 5 76 A oA 130 %, % | 16 Hfae, 11 e
3 @EH g 221 %. T 1 39 HfHa, 26 Hord a9 13 W H

qea (T /) FE 2
(A) 316 (B) 546
(C) 624 (D) 482

If2x+3y-52=18,3x+2y+z=2%andx+y+
3z = 17, then what is the value of xy + vz + zx?
qﬁ2x+3y—52= 18,3x+2y+z=2070qx+y+
3z=17 % T Xy + yz + zx B AF FAN T ?

(A) 32 (B) 52

(C) o4 (D) 46
Ifx+y+z=22andxy+yz+zx= 35, then what
is the value of (x —¥)* + (y — 2)* + (z - x)*?

A x+y+z=22 M xy +yz +zx= 35 %, A (x - y)?
ty-z)+(z-X) MARFAE?

(A) 793 (B) 681
([C) 758 (D)715
If “SaA 2, then what is the value of

. Xty _ Y X
w2 2t | ] | e
%7
(A) O (B) 1
(€) 2 (D) -1
If v and P are the roots of equation x? - 2x + 4 =

0, then what is the equation whose roots are

o’ 2

=7
P

Ifg o 7 B FHIE x2 — 2x + 4 = 0 % g &, @ 7%

3 3
2 H [jfr
5 o’

2

I 0 e e

(A)x*-4x+8=0
Byx*-32x+4=0
(C)x*-2x+4=0

D)x*-16x+4=0
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23.

24,

25.

27.

Mother's Advance Maths « Algebra [Previous Year Questions]

If one root of the equation Ax* +Bx + C = Ois two
and a half times the others, then which of the
following is TRUE?

A T Ax? +Bx + C = O 1 UF 99 o 9 2rg 7on
g f=fafan g 4 w-m a2

(A) 7B =3 CA (B) 7B*=4CA

(C)7B* =36 CA (D) 10B2=49 CA

Ifx*-12x + 33 = 0, then what is the value of (x

. 1
-4y + (X_4)2 ?

1
- 125+ 33 = 0%, fx -4y + {(x_#] Eﬂ

AR FTE ?

(A) 16 (B) 14

(C)18 (D) 20

Ifa*+ 1= = (4b* - b* - 1), then what is the
value of a' + h'?

qiga’ +1 = 2— (4b2 —b'— 1) T, @ a’ + b’ T F
%2

(4) 2 (B) 16

(C) 32 D) 64

If3 ‘|'— +9=19- 3”! , then what is the

value ofa?

a3 l® L 0-19_3| &
a 1-

n 37 o L9
[)10’10 ( )10’10
23 1 4
© 5% D55

b
Ifatb=10and \/% - 13=—\/;—11,thenwhat

is the value of 3ab + 4a* + 5b°?

. b
Az a+b= 10 7% \/% —13=—\g—11 %, d 3ah+

4a + ST AR FAE ?
(A) 450
(C) 600

(B) 300
(D) 750

28.

29,

30.

31.

32.

33.

H3x+4y—-22+9=17,7x+2vy+ 11z+ 8=23 and
5x + 9y + 6z - 4 = 18, then what is the value of
X+ty+tz-34?

e 3x+4y-2z+9=17,7x+2y+ 11z+ 8 =23
AAME5Xx+0y +6z-4=18%,Wix+y+z—34 H 97

FNE?

(A)-28 (B)-14

(€)-31 (D) -

Ifx+3 %—6 +g 2y +32) =33 dl
x+3y-— » X S[y 3z) = 33 an T(X

+y+z] + 2z =9, then what is the value of 46x +
131y 7

2 2 1
Ifg x + 3y - IZ =6,x+ 7 (2y + 3z) = 33 a0 - (x

+y+2)+22=9% W46x+ 131y RAATE ?

(A) 414 (B) 364
(C) 384 (D) 464
pPP+rag+r-3pgr=4.lfa=q+r,b=r+pandc

= p + q, then what is the value of a* + b* + ¢* -
3ahc?

PP+t +1*-3pqr=4Faca=q+r,b=r+paw

c=p+q¥ da’+bd+c’— 3abe HHH FE ?
(A) 4 (B) 8
(C) 2 (D) 12

If ¢ and [} are the roots of the equation x* +x-1
= 0, then what is the equation whose roots are
o’ and 7

AR g AN B IR +x -1 =0 % g &, T 58
et o © T N e AN PO E 2
A)x*+7x-1=0 B)yx*-7x-1=0
C)x*-11x-1=0 D)x*+11x-1=0
[fx and vy are natural numbers such that x + v
= 2017, then what is the value of (- 1)* + (- 1)?
T x ANy TR S0 T TR E R x +y = 2017 %,
WA= 1+ (- 1) AR FME?

(A) 2 (B)-2
(C) 0 (D) 1
1 J_ 3+ 1
Ifx+ <) = , then what is the value of

e
W

(L
X4

T [éj ) (\E; s

TR+ [ . ]EF[FHEPJT%?

(A) (4«/5—1) (4\/_+ 1)
4
ottil «-w; )
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34.

35.

37.

38.

Mother's T0Sa19 » dizmfvr

Ifa+a?+a®-1=0, then what is the value of a°
1

(3]
a

Tea+at+a’—1=0%, da’+ ( JWWW%”?

a
(A) 1 (B) 4
(€) 2 (D)3

1 1 1
Ifa- [_J=b,b—[_J=candc—[_J=a,then
a b c
1 1 1
what is the value of | |+ |+ |7
ab bc ca
1 1 1
9fg a — [EJ =h,b- (B) =cdAc— [EJ=a%’,?ﬁ

(3)+ (e () mom et
(A) -3 (B)-6

(€)-1 (D) -9

[fthe roots of the equation a(b - ¢)x? +tb(c—a)x +
c(a-h] = 0 are equal, then which of the follow-
ing is true?

=fg I= a(b — ¢)x* +bh(c - a)x + c(a - b) = O FHA
e 2, 1l Frefatea § @ mEgi g ?

w2
o 31

If \j(a'“’ +b* + ab) + \X(a“’ +b* - ab) = 1, then

(D) abc=ab+ hc+ca

what is the value of (1 - 2% (1 - b¥)?

=fg \/(a2+b2+ab)+\/(a2+b2—ab) =13 (1~

al) (1 -by) MAAFNE?

5 3
(B) = a (D) 2

- (©

1
(A) 5
[f3x+4y-11= 18 and 8x -6y + 12 = 6, then
what is the value of 5x - 3y - 9?
A 3x +4y-11=18dM8x -6y + 12=6 %, 1 5x
-3y -9 W HF FTE 7
(A) 18
(C)-27

(B)-9
(D)- 18

39.

41.

42,

7 -5
Ifa+b+c=—,3a—4b+5¢c = %and7a—11b

12
-13c= I—2,thenwhat is the value of a + ¢?
. 7 3
A a+b+c= —=,3a-4b+5c= = gAM7a-11b
12 4
-7
—130=E%,?ﬁa+cﬁﬂﬂﬁw%?
A 1 B > C D L
@5 B ©5 MOy

If P=7+ g4/3and PQ = 1, then what is the

[L]Jr 1
value of p2 .Qg 7

AP =7+ 4./39MPQ = li‘f,a‘T[Plg_ + lej L2
T T 7

(A) 148 B) 189

(C) 194 D) 204

(
(
Ifx= (\/g) +landy= (\/g) - 1, then what is

ot W ()52

Tfg x = (v’g) + 1 da1 y = (\/g) -1 %, =
R AEI G emmme:
(A)31 (B) 2345

(€) 275 (D) 25

Ifx=2+ /3,y=2- /3 and z= 1, then what is

oo .
) - -
Xz Xy

X
the wvalue of [ }JF

EON

e x=2+ 3,y=2- /3 dz=1F% d

[.i}-i- 'i‘ +[iJ s Kl}r[l}r{lﬂ S —
vz) \xz) |xy X v z

FNE?

(A) 25 (B) 22

(€) 17 (D) 43
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43.

44,

15.

47.

48.

Mother's Advance Maths « Algebra [Previous Year Questions]

A root of equation ax®* + hx + ¢ = 0 (where a, b
and ¢ are rational numbers) is 5 + 3./3 . What
is the value of (a* + b* + ¢ /(a+ b + ¢)?

TR ax? + bx + ¢ = 0 (el &, b 7 ¢ UfF SeAm §

JA5+ 3/3%1(@2+ b2+ cF)/(a+ b+ ) WA FNT?
£ -105 -105

3 ) 11 13

x4 () -

C a
[EJ + [E]’ then what is the value of xyz — x* -

e ) ) B

c a N -
EEJJF[EJ M xyz-xXi -y -2 W AR FNE ?

35

A 3

(B)

(A) -4 (B) 2

€)-1 (D) -6

1Y 1
If/ =t {[“g} —Q[a—;ﬂ = 12, then/=1, @
which of the following is a value of 'a'?
FreAferfoa § 4 #9-9 'a B TR A T ?
(A)-8+ /3 B)-8- /3
C)-8+ /5 (D) None of these

Tfx?-4x + 1 = 0, then what is the value of x* +
X - 194x7 - 194x3?

g x>~ 4x+ 1 = 08, Al x? + X" — 194x° — 194x> Fl
A FANE ?

(A) 4 (B) -4 (€1 (D)-1

If x + y = 3, then what is the value of x* + y° +
Oxy?

A x+y =38, A+ v + Oxy FIAF FNE ?

(A) 15 (B) 81 (C) 27 (D)9
A=xt-1)/x*"+)and B=(v"-1)/(y° + 1). lfx=
2 and y = 9, then what is the value of A + 2AB
+ AB%?

A=(x*-1)/(x"+ 1)arB=(y'- 1)/(y*+ 1) ¥ 13f
x=27y=9% 7 A>+ 2AB + AB? W HF FN§ ?
(A) 96475 (B) 98625

(C) 92425 (D) 89125

19,

S50.

51.

52.

53.

If x — 4y = D and x + 2y = 24, then what is the
value of (2x + 3y) /(2x - 3¥)?

A x -4y = 0 FMx + 2y = 24 ¥, 1 (2x + 3y) /(2% -
3y) HHA FNE 7

9 11
(A) = B) 5
13 9
(€) - (D) =

X ¥y X ¥y
If [—j{-[—} =3 and [_) - [_) = 9, then what is
a/ \b b a

X
the value of ; ?

RO Wieeae

FE?

(b+3a) (a+3b)
@) (a—3p) B) (b —3a)

(1+ 3a) (a+3p°)
(©) (a—ab) D) b - 307

If x +y+ z= 0, then what is the value of
(Syg +x7+ 22)

(Qyz—xz) 2 2, .2
(Sy +x°+z )
Fex+y+z=07%,d (2yg_xz) FEHAFNE ?
(A) 2 (B) 1
3 5
© 5 o) 5

IfP=7+ 4/3 and PQ = 1, then what is the

1
value of =5 *

7 e
P Q ;
AP =7+ 43 AMPQ=1F 7 B +Q—3Frm=ram€?
(A) 196 (B) 194
(C) 206 (D) 182

If a® + 3a?+ 9a= 1, then what is the value of a* +
3
S
a
=l N
gfg a®+ 3a2+9a =17, da’ + [g I HIF F1 G 7

(A) 31 (B) 26
(C) 28 (D) 24
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54. x,yand z are real numbers. If x* + y* + z° = 13, G +y*+2°=3(l +xyz), P=y+2-x,Q=z+x
x+y+z=1andxyz= 1, then what is the value —yAMR=x+y-z% @ P+ Q°+ R- 3PQR =1 7
of xy + yz + zx? FE?

X, y 797 2 oAt S ¥ 1A xt 4+ yo + 28 = 13, x + (A)9 (B) 8
ytz=10Txyz=1% Aixy+yz+zx MARFNE ? (C) 12 (D)6
(A -1 B)1 57. Ifxxx =44 +x +x,+x), then what is the
(€) 3 (D)-3
: ?
(a+b) 6 _[(b+c) 9 ‘ value of | o)) e+ x) | (2 +xg)°
55. If - =g and - : =§,thenwhat is the
¢ a ' afe xx,x, = 4(4 + x, + x, + x,) g, aq
(a+c)
value of b ? 1 1 1
+ + ;
2+x)| [2+x)) [2+x,)) TIFNE?
. (a+b) 6 (b—i—c) 9 | (a+c) B i
== g =— g @ Ak I
c 5 a 2 b 1
o (A) 1 ®) 5
(A) 2 (B) 1 (C) 2 [D)é
5 7 3
7 7 58. Ifc andp are the roots of equationx?—x+ 1=0,
(C) E (D) Z then which equation will have roots o® and 3*?
I o T B FHEO X2 —x + 1 = 0 % 9A &, ° e

56. [fx*+yv'+z2'=3{1+xyz),P=y+z-x,Q=2+x- Tt % e o ae B B 7
¥ and R = x + y — z, then what is the value of P¢ (Ayx2+2x+1=0 (B)x?-2x-1=0
+ Q7+ R-3PQR? (C)x*+3x-1=0 (D)x*-3x+1=0

Solution
1. (A) Assume 1006 =X 5. (B o+ = 2ab
= = fx+ 1) (x— 1) * (x+ 2) (x=2) ~(x + 3) (x—9) 0f = (ab)° - (a + b)?
2+ 1+ 4 _x*+9 =6 required equation
2. (C) (h2—4b+4) (a2-6a+9) = 0 _ =xi—(otf)x+of=0 ... (i)
(b-2P+(a-32 = 0 Given -
- c
a=3,b =2 a+b=:andab=;
a+b =5 . . .
3. (B X1+ Y1 + x3y? = 481 Put in equation ((:1] SRR
(x% + y92 — x%y? = 481 %% — A% _+[_] —[_] =0
Here +yi =K 4 22_1 2 - 22, =
K*- 144 = 481 * jf‘cx bre =0
K2 = 625 > TRE
K- 25 6. B J1-p’)1-a)=F
X+ yi-xy = 25-12 Put q=0
=13 3 1
4. (C) A=1+2F 2= L o= =
(€ X . l1-p*=4=p=7
A-1=2°B=1+ =1+ 1
27 A-1 Put value p= 5
_A-1+1 A _ A and g = 0 in given equation
B="37 "a17B a1 —
\||2x7+\||2x7 =2
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7. (B)

9. (a)

10. (B)

Mother's Advance Maths « Algebra [Previous Year Questions]

Assume a+b=x

-2x—-80=0
x=10
a+h=10
ab = 16
a=8b=2
3xa—-19b=-14
xvz =1
y*z = 1024
z¥F = 729

If look that in equations
z=9,vyv=2,x=1

(Z + 1)x+_x_-+ 1 — [10]4
10000

V3442 342
N B R - R

b=5-2J6.ab=1

a? + b — ab

=68 -1=97
Let roots are ¢, f3
+f = E
a+fp= a
C
of = %
B'J

w2+ B2+ 20 =

i

o2+ - 20B = 16

- - +
BQ
dopf = — - 16
p= 2
4C_ B 16"
A A~

4CA = B?*— 16A>
B - 10A2 = 4CA+ 6A*
o+ P =8, a0-B= 2,5 after square
o+ e+ 2opf =64
o+ fr-2af =20
- -+

daf3 =44
o+ B =64-22=42
Again square
o+ [P=1764 -2 x 121 = 1522
Quadratic eq. for root ¢! and B*
U= (ot + B+ (o B =
x2-1522x+14641=0

12. (B)

15. (A)

_Q _R
a+h= p a.bh= p
a*+ b*+ 2ab
Qg_a2+b2+2ab_ q°
- p ab ab p‘(ab)
1 1 a b a+b° a’+b’
St t—+—= +
a“ b b a a’b? ab
a"+b'“[ +1} 1+ab]
ab |ab ab |
Put value
. _ 1 R
Q? 1+ab Q? )
= Pz(alb)_2 ab | R_Q R
! P* x
P P

(R+P){(Q* - 2RP)

PR*
x*+16x+59 = 0
1
(x~ 6P+ [ gF =7
Let X—6 =a
X=a+t+é

Put in equation
a’+ 36+ 12a-96-16a-59 =0

—4a-1=0
1
a-— =4
a
1
at+ 5 =16+2
a
=18
A+B=2 -a
A
AB E—B
' A
A+B=A
AB=B
So B=0
A=1 (1,0
X-x-1=0
ag+f=1
of = -1
o+ 2+ 2(-1) =1
o*+p2=3
(14+|34=7
of + B5+ 2 (-1)% = 49
ot + [ = 47
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16. (B)

18. (B)

19. (B)

Mother's T0Sa19 » dizmfvr

a+tb+c=9 a*+h*+c? =92

=92-2x26=29

2lat+ b +ce’)=91+72+35=198

a’+ bh*+ ¢ - 3abc
=(a+b+c][a®+b*+ -

99 - 3ahe = 9 [29 - 26]
= 27
abc = 24

x*—4x*-6x+25=0

1 x'—4x*+1
x-4

[Put the ahove value]

) 6x—24:6(x—4) e

x-4 x—-4
8P+5K+3R=111
9P +6K+ 5R =130
16P+ 11K+ 3R=221

Adding all 33P + 22K+ 11R = 462

3P+2K+R=42
Multiply by 13

39P + 26K+ 13R =546
2x+3y-5z=18 ... (i)

3x+2v+z = 29 ... (i)
x+v+3z = 17 o [iii)
(iiiyx2 2x+2y+62z = 34
(1) 2x+3y-5z = 18
- - + -
-y+1lz = 16 o (1)
(iii) =3 3x+3y+9z = 51
(i) 3x+2y—-z = 29
- . + B
yv+8z = 22 o (v)
(1i1) * (iv) y+8y = 22
(i) -y +11z = 16
+ 4 +
192 = 38
_ 38 _ 9
#7197
Put in (iv) V=6
Put in (iii) x =25
Xy+tyzt+2z = 53X6+2x6+5x%x2

= 52
xt+ty+z=22andxy+yz+zx=35
We know
Xtytz)f=x*+y'+z+2 Xy +tyz+zx
(22 =x2+y2+22+2x 35
X+y?+22=484-70=414
(x-yP +(y-2)°+ (z-x)° =
+ ¥z + zx)
=2(414-35)=2x379=758

(ab + bc + ca)]

(2 +y2 + 2= (xy

21. (A)

22. (C)

23. (D)

X+
If Yoo
z
Let x=2
y=0
z=1
then
+ )
:>y—z — putting value
O+L—2
IO R
X°-2%x+4 =0
ag+f=2
off = 4

a,_ii—‘r [52 _ 055 + ﬁs
Now, B ol (O’ﬁ)i

(0:,’, +‘33)(052 +B2)_azﬁz(a+ﬁ)
(ccB)’

_64-16x2 A_n=n
16 '
Product af =4
Equation
x? — (sum) x + Product
X*-2x+4
A+ Bx+c=0
(given)

— B
Now, o+ = X‘B=7X =49x* = — ... (i)

=L 0k .. & .
o3 = A =10x? = 10x*= A ... (i)
Divide (i) by (ii)

49 B A B

10 A® C CA
X*-12x+33=0

= 10B?=49CA

(x—4)* + 1 :a2+i.j(Letx—4:a)

<= a+d (x+4) a

Now putting this value in equation
x*-12x+ 33

= (a+4)2-12(a+ 4)+ 33

> a’+8a+16-12a-48 + 33

= a‘-4a+1=0

0
0
0

= at — =

al+ —5 =42-2
a
16 -2=14
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27. (B)

Mother's Advance Maths « Algebra [Previous Year Questions]

el

a
If a“+1=F[4b2—b“—1]
Let a=b=1
1
1+1= 2 [4-1-1]
2=2
So, al+bh'=1+1=2
]__
If 3)—= +9=19-3 J——
a l1-a
l1-a a
Then = 3,/—+3,—— =10
a 1-a
(1—a)2+(\/g)h
= 3 Jal-a = 10
==
= 3|\ e - 10
3 = 9
= a—a 100

= 100a-100a® = 9
By solving quadratic equation

1 9
10710

a+b=10and \/g— 13= —\/E -11
b a
= b a

a+h 5
= \/E =
10
=4 \/a_b_
ab = 25
a+hb=10
a=h=56

From question 3ab + 4a* + 5b?
>3x5x5+4x5x5+5x5x5=300

3x+4y-2z+9 = 17 .. (i)
fx+2v+11z+8 = 23 ... (i)
and 5x+9y+6z-4=18 o [iii)

sum of egn. (i) + (i) + {iii)
= 15x+ 15y + 152+ 13 =58
= 15x+y+z)=4

= X+y+z=3
then from question
X+y+z-34

= 3-34=-31

29, (A)

31. (D)

32. ()

2z
x+ 3y - e =0
dx+ 12y -2z =24 . (1)

2
X+E(2y+32) =33
3x+4y+6z =99 . 2)

%[X+y+z)+22=9

X+y+ 15z =63 . (3)
eq. (1) x 21 +eq. (2) x 2 +eq. (3) x2
then

92x + 262y = 828

6x+ 131y = 414
p;1+q;1+r’i_3pqr=4
a=g+r b=r+p c=p+gq
Let q&r =20
then pP=4 o (1)
thena=0b=p c=p
on putting in
a*+ b* +c*-3abe
=0+P+P-0
from eq. (i)

=4+4=8

x*+x-1=0 root=a &}

=off =-1 =>pB=—
o
o’ = -1
o+ B =-1
1
- — =-1
0
1
a’- — =-4
'I o
G+ = =3
o
(m + ]1](0,3—%]:—12
o’ o
1
at- — = -11
o
05 +p = -11

Soeq.=x*—(a”+ [Ix +o*B=0
X+ 1lx-1=0

x+y = 2017
(1) + (-1
If addition of two no is odd then one no
should always be odd
then let X is odd
¥ is even
[_l]m]d + (_l)c:vc:n
-1+1=0

Study Center : Jaipur ¢ Gopalpura  Lakothi ¢ Jhotwara «

Ambabari * Alwar

+ Udaipur



33. (C)

Mother's T0Sa19 » dizmfvr

WRERELS

X 2
On squaring

(B
X<+ X': 5
1 3+1+2483

= X2+ —,+2
x?

=X3+ L‘
X 4
1 _3-2
= 2—‘,— —_— =
* X 2
on squaring again
i1 3+4-43

=X+X—4

4
L_7-45B

x! 4
R
X'+ = ———

4

ata*+a’-1=0 .. (i)
On multipying with a
at+a*+a’ -a=0 ... (i)
On subtracting eq. (i) - eq. (ii)
= 2a-1-a'=20
= Ca=a'+1l

a'+1 '

=X4+

|
=2 a'+ -=2
a

ab i bc ca |
ab-¢x*t+hic—ax+tcja-bH=0
If roots are equal then b* = 4ac

= bi{c-a)®=4dab-c)xc{a-b)
= b ({c—a)® =4dac (b-c¢) (a-D)
On solving this

= 2ac = ab+be
2 491
= b a c
Jal+b’ +ab +va’ +b’—ab =1 (1)
(1-a) (1-b9)=? -2

Put b= 0 then
= JaZ+0+0+/a’+0-0 = 1

b | —

a-=

Put in eqn. (2)

= [1—%](1—0):'__i

38. (B)

40. (C)

41. (D)

3x+4y-11= 18
= Ix+ 4y = 29
8x-o6y+12=6
= 8x-6y= -6
_*x oy 1
T 424-(6x29) T 29x8+18 1832
x ¥y U
—150 250 S0
x=3; y=5
On putting this in eq. 5x - 3y -9
=5(3)-3(5 -9
= -9
7
a+tb+c= Iy
3
3a-4b+5c= 1
-7
7a-11b—-13c = —
12
) 5
After solving = A+ C = 5]
P= 74143
and Q=1
then Q=7- 4./3
1,1 o+
PQ =
9 L PQr=1

1
= (7 + 4\;"5)2 + (7 - 4J§)

2

=49+ 48 + 56./3 + 49 + 48 - 564/3
= 194

NCERCEE
CEERREGIS
5522

Sincex*+y?=12andxyv =4
[Lz}zﬁﬁ
¥y x 4

Now putting values [(3)*-2]+4 x3+6
=7+12+6=25
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42. (A)

44, (A)

Mother's Advance Maths « Algebra [Previous Year Questions]

X=24.3
y=2_J3 = xyz=1
z=1

X v z {1 1 1}
then —+—+—+2| —+—+—
¥Z XZ XY X ¥ z

=
XVZ XyZ

SxX*+yi+28+ 2(xy +yz+zx)

X2+y2+zg+2{xy+yz+zx}

Sx+y+z)P= (2+\f§+2—-\/§+1)2
= (5)?=25
ax®*+bx+c=0

=5+ 33 (given) B= 5-3,3

Here ¢ & P are roots of quadratic eqation
Equation with root o & [3
H-(atPfx+af=0

X*-10x-2=0/ ax*+bx+c=0
>a=1,b=-10,c=-2

a‘+b%+c? 1+100+ 4

Finding = =

e i bre 1-10-2
_ -105

11

a+b b+c c+a
= — —_— = — — zZ= — —

b a’ y c a’ a ¢
Leta=b=c=1 thenx=y=z=2
=>xxy*xz =8

then, xyz — x° - y? - z*
=8-4-4-4=-4 ans.

[a+ 1]2 —2[:3_—1] =12 (given)

a a

el
Since |[a+—| =|a—-—| +4

a

. (a—l] +4—2[a—l] =12
. a a

1
Let a—g=x
=5x+4-2x=12=x*-2x-8=0
x=4, -2

Now, a - =4 = a*-4a-1=0

1

a
+.

4_J;6+4:2i_£

= a=

1
a—;=—2 = a*+2a-1=0

+
_22VAvd L5

=as ==
46. B) If x*-4x+1=0
x*+1=4x ...(i)
x"+ 1= 14%*
x*+ 1 = 194x* (i)

X"+ x7 - 194x° — 194x?

=x"(x*+ 1) - 1947 (x* + 1)

=(x2+ 1) x (x7— 194 x%)

=4 (x* - 194x")
4x-1=-4

47. (C) x+ty=3

Let x=1

and y=2

then x* + y* + Oxy

1+8+9x2x1=27

x* <1 (x" —IJ(X'1 +1)

48. B) A= FE (X4+1)
=x'"-1=15
v o1 (y“+l)(y2+1) .
B=ﬁ= (y2+1) =y?-1=80

= A%+ 2AB + AB*

=A*+AB(2+B)

=225+ 1200 x 82 =98625
49, B) x-4v=40 then x = 4y

and x+ 2y =24

Putting the value of x

6y = 24
y=4
then x=16

2x+3y _32+12 44 11

2x -3y 32-12 20 5

X v
50. (A) g"‘E:o
bx + ay = 3ab
bx+ay-3ab =0
X ¥ _g
b a
xa-vyb = 9ab

xa-yb-%ab= 0
Solving these two equation by cross multi-
plications
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B 54. (D) x+y*+z8 =13
. S A x+ty+z=1, =xyz=1
a —3ab {b - 33]3] Xy+yz+zx = ?
-b —-%ab a —9ab (x+y+z)P=x2+y*+2°+ 2 (xy+yz+ zx)
< _ 1=x*+y*+2°+ 2 (xy +yz+:zx)
3 5 = .jy 3 1-3(xyv+yztzx)=x+y*+z’-xy-yz-2x
—9a“b-3ab” —9ab” +3ab D _
. . X'ty +Z—3X_YZ—
_X_ —Sab.(_b+3a_). _b+3a (x+y+z (x+y'+zP—xy—yz—2zX)
¥y —3ab{-3b+a) a-3b 13-3=(1){1-3(xy+vz+zx))
51. (A) Let'sValueofx,y,z 10=1-3 (xy +yz+zx)
(SYA':XH""ZAJ:S-FI: 3=Xy+yz+zx
2y* —xz 2 3
tyz+zx=-
Second Method : wyTysT s
X+ty+z=0 a+b 6 b+c 9 atc_,

. x+z=-y 55. (D) c 5" a 27 b
x3+zz+22xify; Wecansay — a=2,b=4,¢c=5
Xtz =yi-2xz [t satisfy the given equation

3y +x"+2° 3y +y -2xz ate 245 7
2y? — xz 2y? — xz b 4 a4
[Qyz—xz] 56. (C) x"+y*+z'=3(1+xyz
=222ﬁ =2 p=ytz-X, a=ztx-y, z=Xty-=Z
y =X Find = p*+ a2 + r* - 3pqr
52. (B) P=7.4J3 We put value in equation
We find value of x* = 3
d LO=,> P=-X, =X, r=x
P qQ p’ta’+r -3pqr
1 -X* + X'+ x*-3x (X)X
4= p X+ 3x°
VBN
q=7-4J3
| ! 3 3
— + . =2 =12 3+3x3=12
L o 4 - = \-'IS + - / -
(7+4y3)  (7-443) (7+45) + (7-443) 57. B) x,x,x,=4(4+x +x,+x)find
=49 +48+2x 08./3+49+48-2x0g./3 1 N 1 N 1
=194 (2+x,) (2+x,) (2+x,)
. 3 4 24 =
53. (©) &gy +9as=1 We assume value=x =x, =x =4
3 2 X
a’+ — =7 1 1 1 1 1 1 1
a + + =4+ —+= = =
2+ 3a% + Oa 2+x 2+x, 2+x%x, 6 6 6 2
We multiple by a 58. (A) o & Parerootsofequation=x'-x+1=0
ala®*+ 3a‘+9a=1) a+B = 1
a'+3a’+9a*=a .. (i) aB = 1
3(a*+ 3a*+9a = 1) Multiple by 3 {ii] eq. (@+BP = (1)°
Subtract eq. (1) - eq (ii) o +B = 1-3ap
a'-27a=a-3 o+ = 2
a*+ 3 =28a Y ) ) aha
3 (o FE)x+ o = 0
at+ = =08 x+2x+1
a
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(SSC CHSL - 2020)

ALGEBRA
stepTfora

(Previous Year Questions)

Ifa+b=p,ab=q,thena'+h'=?

A a+b=p,ab=qe,Tat+b*=7?

(A) p*-2p°g* + ¢ (B) p* - 4p°q + 22

(C)p' —4p*q+q (D) p" - 4p*q” + 2¢°

By using the algebraic identities simplify the
following expression.

HAT TS i WA O e s e

-

(X4+X”+1)
(x*+x+1)

(A)x*-2x+1
(C)x2+2z+1

(B x*+x+1
Dyx*-x+1

1y
If [XJF ;] = 27, what would be the value of

, 1
(Xz + ;] if x is a real number?

o [x+i‘ — 97,4 [x+i] - - -
X X

T, TR T E 7

(A)7 (B)9

(C) 25 (D) 11

If/ =t [X - 3] = 4, then /@ {X'z +%) =7

(A) 8 (B) 20

(€) 18 (D) 12

1 . s 1
If/=fe Jx + = J6 , then/dr (X +g]=?
(A) 2712 (B)2270
(C) 2502 (D) 2702
fx*+1-2x=0,x>0, then x*{(x*-2)=72
e x?+1-2x=0,x>0,TWx*x?-2)=7

(A) O (B) V2
(C) -1 (D) 1

10.

11.

12,

.1
If/af x2 - 3/ax + 1 = 0, then/d [X“r;] =7

(A) 306 (B) 3042
(C) 45,2 (D) 15V6

[fatb+c=7,a*+h*+c®-3abec=301, then ab
+hct+tac=7

Aea+b+c=7,a%+ h*+c¢*—3ahc=301,dab +
be+ac=7?
(A) 3
(€)-4

(B) 2
(D) -2

Find the coefficient of x*v in (x — 2¥){5x + y)°.
(x - 2¥)(5x + y)* H x*y &l Y FA HiTA0-

{A) 75 (B) -150

(C)-175 (D) 250

fx+v+z=13,x2+y?+z® =01 & xz=y¥% then
z=—x=7

FRex+y+z=13,x2+y2+z¢ =91 3 xz=y2, 1
z—x=7?
(A) 9
(€3

(B) 8
(D)5

L 19
If/afs x2 + 4y? + 32% + il 2.3 (X +y +2), then

[T (x-4y) +3z="?

(A) g (B) 243
o) 2 D) 3

[f9a® + 4b? + 49¢® + 18 = 2(2b + 28¢ - 3a), then
{a+2b-¢)=7?

=g 9a% + 4b* + 49¢? + 18 = 2(2b + 28c¢ - 3a), 7l (a
+2b-c)=7?

= B 5=
11 2
©) 51 D) =
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13.

14.

15.

16.

17.
18.

19.

20.

Mother's T0Sa19 » dizmfvr

I[fOx2-6x+ 1 =0, then 27x% + (27x%7 = ?
A Ox2-6x+ 1= 0, T 27x + (27x%) =

(A) 8 (B) 2

(€)1 (D) 4

I/3f% (4x— 5)* + (x— 2)° + 27 (2x - 5)° = 9(4x - 5)(x

- 2)(2x — §), then /i (XJr%J =7

(A)

B

W =1 b
M| bW

(€)

S

[fa+b=24, a*+b*=306(a>b), then 4a- 5b=?
Ifga+b=24,a*+b*=306 (a>b),dd4a-5h="?

(A) 15 (B) 20

(C) 18 (D) 12

Find the coefficient of ¥* in the expansion of
(x/ﬁyz -53 ) s

(\/Ey”—S\/E)a % TR H y? =1 Yo I F -
(A) 2252 (B) 2252

(C) -3043 (D) 3043
fx-v=4,x*-y*=316,thenx'+y'=7?
Aex-y=4,x"-y* =316, X" +y' =2

(A) 2284 (B) 2428

(C) 2248 (D) 2482

fx-v=4,xy=3, thenx®*-y*=7?
AEx-y=4,xy=3, WxP-y3 =72
(A) 88 (B) 100
(D) 28

(
{(2a-b-3c){id4a®+ b*+9c® + 2ab + 6ac - 3be) =
(A) 8a* + b* + 27c¢*

(B) -8a* + bz + 27 ¢*

(C) 8a* -
(D) 8a® —

-27c¢* = 18abc
- 27¢* + 18abce

[fatb+c=4,ab+bctac =-14 & abc=-18,

then 4a% +4b%+ 4¢3 -36 =7
FEa+b+c=4,ab+bc+ac =- 14 siTabc=-18

d Jaa*+4bi+4ct-36 = ?
(A) 24 (B) 25
(C) 18 (D) 26

21.

22,

23.

24,

25.

26.

27.

28.

29,

Ifatb+c=2,abtbctac =-1thena®*+hb*+
—3abe =7

qra+h+ec=2,ab+be+ac =-1da*+ b+ ¢t

—3abc=7?

)5 (B) 10
)2 (D) 14
) 4 (B) +7
(©) 4 o

If (2a+ 3b)(2c - 3d) = (2a— 3b){2c + 3d), then :
afg (2a + 3b)(2c - 3d) = (2a - 3b)(2c + 3d),

- 1 N 1
It/ x—— = 2.2 . then/d x° - s~ °

(A) 1242 (B) 1042
(C) 2042 (D) 2242
. 81 162
If/aex+ — =18 (x> 0), then/T =+ —-=2
(A) 81 (B) 78
(C) 85 (D) 83
If/=fgx'— 12x2 + 1 = 0, then/7l x'+ % =7
(A) 146 (B) 142
(C) 10 (D) 144
If/5fe x + 2y = 19, x° + 8y = 361, then/d xy =7
(A) 58 (B) 57
(C) 56 (D) 55
If/7fE (3x + 2y)° + (3x — 2y)* = 3kx(3x2 + 4y?),
then /Al k=7?
(A) 3 (B) 18
(C) 6 (D) 19
If/ 3% (27x3 - 64y°) = (Ax + By)(Cx? + Dy” - Exy),
then/& (A-B+C-D+E)="?
(A) 15 (B) 18
(C)-12 (D) —20
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30.

31.

32.

33.

34.

35.

Mother's Advance Maths « Algebra [Previous Year Questions]

1 1
Ifx'+ e 1154 (x » 0), then x + . =7?

. 1 1
afe x" + P 1154 (x> 0),d x + <=7

(B) V34

(D) 18

(A)6
(©) V32

If (:40 N Q«/ﬁy"’) + (2 J5x - x/ﬁy) = Ax* + By*?

-Cxy.thenA+ 3B - Jloc=7?
(A) 34 (B) 28
(C) 46 (D)6

Ux+y=27,x2+y*=425,then(x-y)?="7?
AR X +y =27, x>+ y* =425 (x - y)* =?
(A) 169 (B) 225

(C) 144 (D) 121

Ifa*+b*+c2=5756,ab+hc+ca=50,thena+b
+c=7?

G a2+ b4+ c? =576, ab+be+ca=50,da+ b+
c="7?
(A) +24
C)y—24

(B) 26

(D) -26
H3x+y=12,xv=9, then (3x-y) =7
g 3x+y=12,xy=9,W (3x-y) = ?
(A) 4 (B) 6

€6 (D)5

1 1
2x+—| = 8x*+—|=
If{ X Qx] 3. then[ X 8X"") ?

. 1 ., LY
qﬁ[2X+§] =5?ﬁ(8x +8xsj =7

(A) 100 (B) 120
(Cy 125 (D) 110

o [ 2y (o 2y
Simplify that X—;] - X+;) =7
(A) -4 [x + %] (B) -4 (3x+§]
s3] e

37.

38.

39,

41.

42,

43.

If (x° — 667 ) = (x* + Ay*)(x' + Ax?y* + Cy"), then
(A~ B*+C% =7
wfe (x° - 636y° )= (x2 + Ay*)(x" + Ax?y* + Cy") i
(A>—B*+C% =7

(A) 36 (B) 18
(C) 42 (D) 27

(x + i] (97{3 + ] P
If 5x) ~ 3, then 37553 )

(x+i] N [9x3+ 1 J ?

e Xt ex) =3 375x%)
(A) 367.2 (B) 237.6
(C) 376.2 (D) 273.6

1 1
If [X+—3 ] = 5, then {27X“+—‘.,,) =7
X X

1 1
TE | X+— | = 27xP+— | =
[X 3 ] Sﬁ{ X X"") ?

X
(A) 3024 (B) 3420
(C) 3042 (D) 3240

If1+4x*+16x*=512, 1 -2x+4x?>=64, then(l
+2x+4x%) =2

G 1 +4x2+ 16x* =512, 1 -2x+4x2 =647 (1 +
2xX +4x%) =7

(A) 8 (B) 10

(€) 6 (D) 12

f2x+3y+4z=11,8x*+27y* + 642z* = 105 & xyz
=1, then4x®+ 9v? + 1622 - 6xy - 12yz—-8xz =7
g 2x + 3y + 4z = 11, 8x* + 27y* + 64z* = 105 3R
xyz=1T4x2 +9y2 + 1622 - 6xy - 12yz—8xz =7
(A) & (B) 4

(€5 (D)3
[fatb+c=11,ab+bctac=15,thena®*+h*+
c*=3abc="7?
FEa+b+c=11,ab+bc+ac=15aa*+b*+c?
—3abc="7?

(A) 386 (B) 836
(C) 368 (D) 638
[fatb+c=5a*?+bh*+c2&a*+hb*+c¢*=12,
abc
i
then 5 T
Fita+b+c=5a+b?+c?3Ra*+b*+ct=12
abc
=7
T z ;
(A) -5 (B) -1
(€) 5 D)1
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44,

43.

47.

48.

19,

50.

51.

Mother's T0Sa19 » dizmfvr

Ifx- 1.5+ (x-4)*+(x—-3.5%=3x-1.5)(x-
4)(x-3.5), thenx="7

T (x - 1.5)* + (x - 4)°* + (x - 3.5)* = 3(x - 1.5)(x -
4)(x-3.5)dx="
(A) 6

(€)9

(B) 3
(D)1

If a2 + b* + ¢* + 48 = &(a + b + ¢}, then
Yar-bitct =7
ﬂﬁa2+b2+cz+48=8(a+b+c)a‘r s — i+ ot
=7

(A) 3 (B) 6

(€) 4 (D) 2

[f3x + 5y = 14, xy = 6, then 9x + 25y* =7

A 3x+ Sy = 14, xy =6 AW Ox + 25y2 = ?

(A) 182 (B) 16

(C) 14 (D) 20
x*-y*=47,x>0,then (2x-3)2=72

Hex' -y =47, x>07(2x-3)* =7

(A) 9 (B) 5

(C)3 (D)7
fx-y=7,%x*+y*=169 (x,y > 0), then 3x +y =?
aﬁx‘y=7,xz+y2=169[X,y>0)?-ﬁ3x+y=?
(A) 41 (B) 46

(C) 38 (D) 44

24 64
lfa-—=5(a>0),thena*+ —/=7?
a a?

24 . 64

Jfga- —=5a>0)daz+ — =?
a a*

(A) 45

(C) 65

(B) 60

(D) 56

X,y are two such positive numbers such that x
=y. fx?+y*=700 & xy=15,then 2x+3y=7?
X,y T TH ST S € S R x >y, SR+ yt=
706 eftxy= 15 2x + 3y =7

(A) 19 (B) 18

{C) 20 (D) 15

I[f3a-b =1, ab =4, then the value of (9a® - b?)
=7

e 3a-b=1,ab=4d (9a2- b2 =7

(A) 8 (B) 5

(€7 (D)6

S52.

53.

54.

57.

S58.

Ifx =555,y =556 & z =557, then the value of x*
+y*+ 2 -3xyz="?
afg x = 555, y = 556 3R z = 557 @1 x* + y* + 2% —

3xyz="7
(A) S002 (B) 5008
(C) 5006 (D) 5004

Ifa+ 5h =25, ab = 20, then the value of (a- 5h)
=7

I% a+ 5bh =25, ab= 20 (a—-5b)=7?
(A) 16 (B) 15
(C) 13 (D) 14

fx*+yt+x%y* = 117, x> + y> - xy = 3(4 + J3),
then the value of (x* + %) = ?

e x+y + x4y =117, x4+ y*—xy = 3(4 + J3) 11
(x*+y%) =7
(A) 643
(€)o

(B) 12
(D) 133

1
Ifx*- 5 /3x+ 1= 0, then the value of x* + =

2
fe =2 = T <t i-’p
X2- pf3x+1=0Tx"+ <

(A) 63043 (B) 21643
(C) 66643 (D) 2343

(2x-3y)* - 18xy(2x - 3y) =7

(A) 8x* - 72x%y + 18xy* - 27y*

(B) 8x* - 72y® — 36x%y - S4xy?

(C) 8x* —72x%y + 108xy*

(D) 8x3—-27y®

Ifa+b+c=0,abc=12, then the value of (a® +
h* + C:{) =7

At a+b+c=0,abc= 12T (a® +b*+c¥=7?
(A)6 (B) 36

(C)72 (D) 12

1
Ifx'+ = 6887, find the positive value of x —
1
<
L 1 1
Tfg x" + P 6887 1l x — 7 I H:

(A) 15
(€8

(B) 12
(D)9
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59.

61.

62.

63.

Mother's Advance Maths « Algebra [Previous Year Questions]

1
Ifx?—3x+ l=0,thenthevalueof2[xs+x—gj—

5[X”+i] =7
x4

1 1
aE x2 - 3x + 1 =ovﬁ2(xﬁ+x—3] —5[X4+;] =7
(A) 3479
(C) 4379

(B) 4370

(D) 4279
Ifx-vy—2z =0, then the value of (x* + y* + z%) + (y*?
+xz)="7?

e x—y-z=0T (XZ2+y*+ 2%+ (y* +x2) = ?

(A) -1 (B) 1

(€) 2 (D)-2

If 3x — 2y + 3 = 0, then the value of 27x* + 54xy
+30-8y*=7

ARG 3x -2y + 3 =0 W 27x* + 54xy + 30 -8y* = 7?
(A) 57 (B)-57

(C)-27 (D)3

If {3./3 x* — 8y%) = (/3 x + Ay)(3x* + Cxy + By?),
then the value of (A + B2 - C¥) =7

e (33 x* - 8y%) = (J3 x + Ay)(3x* + Cxy + By) @
(A2+B2-C% =7

(4) 0 (B) 4

(C)12

1 1
—_— = — =7
If /x + < -2 /3 , then the value of x'+ =

. 1 . 1
qﬁ&+§=g.\/§ﬂ‘rx"+g=?

(A) 10406 (B) 10402
(C) 9602 (D) 9606
J5+2 V5 -2 ,
Ifa= \/g_g’b_ Jg+2,thenthevalueof2a
+2h2-5Hab=7?
. _J5+2 V5 -2

- = @ 9 _ =D
Eﬂia ‘/g_g,b ’\/g_‘rg?ﬁga + 2b 5ah =+
(A) 649 (B)635
(C) 693 (D) 639

Ifa=125,h=127,c= 129, then the value of {a*
+b*+c¢*-3abeg) =7?

s a= 125 b= 127, ¢ = 1291 (a* + b* + ¢* -
3abg) =7
(A) 4752
(C) 4725

(B) 4572
(D) 3752

66,

67.

68.

69.

70.

71.

72,

If 7x - 10y = 8, xy = 5, then the value of 49x* +
100y2 =7

I 7x — 10y = 8, xy = 5T 49x2 + 100y2 = ?

(A) 632 (B) 623

(C) 746 (D) 764

Ifx*+ {4 - /3)x~-1=0, then the value of x* +
1
_=?

XZ

. 1
Wx2+[4—.\/§)x—1=0?ﬁx2+; =7

(A)21-8y3 (B)17- 83
(€)9-8J3 (D) 21-12J3

1 1
Ifx*+ = = 83, x = 0, then the value of x* -

3

=7

e, 1 N 1
Jex + = =83,)(3‘0?‘1'[}(13——J =7
X

X
(A) 675 (B) 756
(C) 746 (D) 576

1 1
Ifx + % = /13, then the value ofx‘*—;=?

= 1 N 1
mx+;=\/ﬁmx3——=?

XG
(A) 36 (B) 32
(C) 413 (D) 4411

Ifa+b+ec=5,a*+b*+c*—3abe =185, then the
value of ab + be + ac will be between:
gga+b+c=5,a%*+b*+c*—3abc= 185 ab +
be + ac % 9H 9 5= 5w ?

(A)-7 &-3 BY1&5

(C)-3&1 (D)5&9

If 2x% - 6x = 1, then the value of x> +

=7
4x2

1
g 2x? —6x = 1dix2 + =7

4x*
(A) 12 (B) 10
(C) 8 (D)9

If3u+2v=7,uv =2, then the value of (3u-2v)
=?

AG3u+2v=7, uv =2 (3u-2v)=?

(A) 1 (B) &

(€) 2 (D)0
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73.

74.

7S.

76.

77.

78.

79.

Mother's T0Sa19 » dizmfvr

I (2x +y)* - (x + 2y)" = (x - y)[Ax* + ¥%) + Bxy],
then the value of (2A-B) =7

T (25 +y)P - (x + 2y)° = (x~ y)[A( + ¥°) + Bxy]
(2A-B) =7
(A) 6

(€)1

(B)7
(D) 0

1
Ifx'—142x% + 1 = 0, then the value of x* + e =P

~ 1
FExt— 142x2+ 1= 0 x> + Pl ?
(A) 1592 (B) 1952
(C) 1692 (D) 1962

[fa?+1?=25,x*+y?= 17 &ax + by = 8, then the
value of (ay - bx)=?

A a?+b*=25x2+y2 = 17aﬁ'{ax+by=8?ﬁ[ay
-hx)=2
(A) 33
(C) 25

(B) 19
(D) 21

I[fa*+ b*+ c* + 170 = 2{8a + 5b — 9¢), then the

value of J45 +8bh—-¢c =7

afg a* + b* + ¢* + 170 = 2(8a + 5b - 9¢) 7

Ja+8b=c =?
(A) 12 (B) 9
(C) 8 (D) 15

z

3 9
Ifk- X = 5, then the value of kK2 + e =7

3 ) 9
?ﬂ%k—%=5,abc= 127k + =P
(A) 25 (B) 11
(C) 19 (D) 31

[fx*+y* =468, x+v =12, then the value of x" +
yi=?

AE X+ y =468, x+y= 12T x+y*="?

(A) 3026 (B) 3620

(C) 3025 (D) 2036

[f49a% + 25b% = 30, ab = 1 (a, b > 0), then the
value of (7a+ 5h) =7

AT 4902 + 25b2= 30, ab =1 (a, b > 0) @ (7a + 5b)
=?
{A) 10
(C) 12

(B) 14
(D) 8

81.

82,

83.

84.

85.

1 1 20
Ifx+y=5 — + 7 = —, then the value of (x
X ¥ 9
+yY) =2
qMEx+y=5 —+l—@a‘r 34y =
X+y vy -9 (x*+37)
635 365
(A =~ B =~
c 635 D 205
©) 75 (D) =~
fxtysz=5 ++>+ L o0 xyz=128x
X¥yTz=o, vz » XVZ X
y*+2z* =151, then the value of (x* + ¥y* + 2% = ?

1 1 1

= — - — = = ' 3
qMex+y+z=5, x + y + B 0, xyz 12 & x
+y +z8 =151 (x> +y> +27) =7
(A)21 (B) 24
(C)22 (D) 23
f{3p—-5m) =5, pm =6, then the value of (9p* -
25m?) =?
afs (3p - 5m) = 5, pm = 6 T (9p? — 25m* = ?

(A) +5./385 (B) +30410
(C) 5385 (D) 30410

H(7x+3P+(x-2*+272x -3 =9(7x + 3)(x —
2)(2x — 5), then the value of 5x + 3 =7

TG (7Tx+3)° + (x—-2)2 + 27(2x - 5 = 9(Tx + 3)(x —
2)(2x - 5)q5x+3="7
(A) 10

<) 8

Ifx+vy=05, (x*+ y¥) =17, then the value of (x -
y)?=?

M x+y=5,(x+y})=17M(x-y)*="?

(A) 25 (B) 16

(€)9 (D) 4

(B)o
(D) 2

1 1
Ifx- % = 4, then the value of 8x® - ;=?

5.9
1 N 1

=% x - 2_X =4 a 8x* - = =7?

(A) 520 (B) 560

(C) 480 (D) 540
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87.

88.

89.

90.

91.

92.

Mother's Advance Maths « Algebra [Previous Year Questions]

If2a+b =4, (8a*+ b, then the value of (16a* +
bY) =2

(A) 36 (B) 38

(C) 28 (D) 32
2 ,. 8

If | X+ | =7, thenthe value of | 2X*+-— | =2
X 2x

2 P
qﬁ(X-ﬁ-;] =7;ﬁ[2x +2X2) =7

(A)e0 (B) 50
(C) 44 (D) 94

[3+)- 557
If . = 4, then the value of Rz =7
qﬁ 5_’_1 - 4T_ﬁ XZLQ'YZJ= )

¥ Y

(A) 22 (B) 10
(<) 14 (D) 12

1 g, 1
- 3= + =
Ifx-3 o’ then the value of [X 16" ] ?

. 1 . 1 1
qfE % - =£FIT(X +@J=?
(A) 11 (B) 10
(€ 99% (D) 98

If a2 + 4b? + 25¢2+ 18 = 2(a—2b + 20¢), then the
value of (a+ 2b + 5¢) =2

A a2 + 4b2 + 25¢2 + 18 = 2(a-2b + 20¢) W(a + 2b
+5¢)=7?
(A) 6

(C) 4

(B) 5
(D)3

1 1
Ifx + - = 7, then the value of (x* + ;)=?
1 1
Mx+ = =7+ —)=7
X X

(A) 343
(C) 322

(B) 340

(D) 161
IfX+y+Z=4,Xy+yz+zx= 1&X3+y3+z3=34,
then the value of 2xyz =7
j:l'PQ'X+y+z=c].‘_xy-fyz.g_ZX: 16ﬁ1x3+y3+33=

34/ 2xyz="?
(A) 8 (B) 18
(C)-12 (D)6

93.

o4,

95.

96.

97.

98,

Ifx+y+2z=10, x*+ y* + 2% — 3xyz = 250, then

1
the value of g(xy tyztzx)=7?

- .1
Acx+y+z=10,x*+y*+2* - 3xyz= 2507 E(Xy

tyvz+zx)=7?

(A) 25 (B) 10

(C) 5 (D) 15

[fx*+y*= 45, x -y =5, then the value of (x* - y%)
=7

X2 +y*=45,x-y =50 (x*-y%) =?

{A) 150 (B) 275

(C) -25 (D) 250
Ix+y+z=3,x2+y*+2=40&x* +y' +2° =69,
then the value of xyz =7

e+ y+2=3, X2+ yi+28= 45 IRX* +y* + 2% =

69 TWxyz=7?

(A) 30 (B) -30

(C) 40 (D) -40

If x + % = /7, then the value of (x*> + 1) =

v

X +—2 =7

X
) , 1

ax+ = \ﬁ?ﬁ[X“l)*[X +;} -°
1

(A) 247 B3

(€) 3J7 o) 5

If 4./3x*+5x-02./3=(Ax+2){Bx+C(C),(A>0),
then the value of A+ B+ () =72

AT 43 X2+ 5x- 2./3 = (Ax +2)(Bx + C), (A> Q)@
(A+B+C)=7?
(A) 4

(€) 243

B)4-J3
D)4+ 3

1
Ifx® - 5./2x —1=0, then the value of x* - s =?

3

. . 1
WXQ—S-JEX—1=OWX3—;=?
(A) 26542

(C) 25042

(B) 4852
(D) 25542
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701 1 14 101. Ifx*-2599x* + 1 = 0, then the positive value of
99, Ifx-y=—,— -7 =—,thenthevalue of x*-
4" x ¥ 3
y3=? X_l=’.J
1 14 :
1
_ - = = RN 1
Hix-y= gy T g ONoyS? 7 X - 2509%* + 1= 0 R x — — 1 ST A N
o 132 5 132 I ?
64 32 (A) 12 (B)7
© 217 ]217 (€8 (D)6
64 52 102. If a? + 49b? + ¢* + 18 = 2(28b — ¢ — a), then the
100. [fa*+b*+a?b?= 133, a + b? —ab = 19, then the value of {a+7b—-c¢) =7
value of ab =7? A a2 + 49b% + 2 + 18 =2(28b-c-a)dW(a+ 7h-
afga’+ b’ +a?b? = 133, a?+b?-ab= 197 ab="? Q=2
(C) 15 (D) -6 (© 2 D) 4
Solution
- (B) atb=p,
ab=q, =
at+ bt 5. [D] \/; + X \/6
= (at+th)=p? 1
= a*+b+2ab=p* > X+ - +2=6
= (a2+b2]2=(p2—2q)2 X
= a*+ b+ 2a?h?=p*+ 4g® - 4pig 1
= a*+b*=p*+2¢2-4piq = x+;=4
(x4+x2+1) 14141 1
i N PN R g s = X+ 5 +2=16
putx=1
By options : L _
Y Op = x*+ — =14
X2-x+1=1-1+1=1 x”
oy 1 L LY
(A) | X+ ] =27 = X+ _-=3 > [ Xt ] =148
_ X X x“
2+i +2=9 2+i =7 1 . 1
X+ +2= =Xt 5 = = X+ 5+3 Xt ) =1
2 2V . 1
. (B) x—;=4 X—; =42 = Xf'=+§+3x14=143
= X+ —-2xxx —=16

1
= x*+ — =2702
X

Xx*+1-2x=0
(x-1)*=0
x=1

Then,

X*x2-2)=>1(1-2) =-1
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8. (C)

Mother's Advance Maths « Algebra [Previous Year Questions]

1
X+ 2T 3V2
.. L
X“+;—27><2Xq|" -3 x 3. /0

= 54/2 - 9J2 = 452
a*+hi+ct-3abc=(a+b+c)[la+b+c)2-3(ab
+ bc + ca)]

301 =749 - 3(ab + bc + ca)]
43 =49 -3(ab + bc + ca)
ab+bct+ca=2

9. (O)(x-2y)(5x+y)

L4y

=
o
G

O I A

B
LoL U LLBBY

(x —2y)[125x* + y* + 35xy(5x + y)]
(x—2y)[125x* + y* + 75x7y + 15xv¥]

125x* + xy* + 75x% + 15x2y? — 250x%y - 2y -
150x2y? - 30xy*

Cofficient of x*y = =250+ 75=-175

X+y+z=13
X*+y?*+z22=01
XZ =y~

XP+y*+z22+2(xy tyz +zx) = 132
91 +2(y* + xy +yz) = 169

2y +yix+2)]=169-91

2y +y(13-y)| =78

v*+ 13y —y* =39

13y =39

y=3
Xx+z=10 = xX®+z2+2xz=100
Xz =9 = (x-2)>+4xz =100
X%+ 7%= 82 = (x-gz)*+36=100
(x-2)=8
(x+2z) =10
2x=18
x=9
z=1

Difference=9-1=8

9a? + 4b* + 4ac* + 18 = 2{2b + 28¢ - 34)
9a?+ 4b?+ 4ac* + 18 - 4h - 56¢c + 6a
(Ba+ 12+ (2b- 1)+ (7c-4)*=0

I S
a 3 = 5 =c -
at2b-c¢
_+2xl i
2 7
1 4 19 2
-— +]l-===-—+4+1= =
3 7 21 21

13.

14.(C)

15.

(B)

i U

U

(A)

Luyudu

1 1 B

u v 4

Ox2-6x+1=0

1
9%+ — =6
X
1
(=)°

1 1y 1 1
— || 9x+—| =3|9x+—||ogx x —
27 X X X

1 1
[ 3 o] — |2 - =
|6 3xb6x | = |216 162' 2

1
- 9x-6+ = =0
X

27x* +

27x*

Lﬁ%p+

27

(4x -5+ [(x—2)*+27(2x - 5)* = 9(4x - 5)(x — 2)
(2x - 5)
a'+b*+c*-3ahc=(a+b+cj(a?+b?*+c?-ab
—be - ca)
a*+b*+c*-3ahc=0
dx-5+x-2+3(2x-5)=0
dx-5+x-2+6x-15=0

11x=22

x=22

fa+bh+ec=0)

3 3
T XtgT2t5 T
a+h=24
a*+ h* =306
a* + b2 + 2ab = 24*
306 + 2ab = 242
2abh =576 - 306
Zab =270
fa—h)2=a*+h*-2ab

= 306 - 270

(a—h)2=36
a-h=6
a+bh=24
2a=30
h=9
4a-5b=4x15-5x%x9
=60-45=15

(ﬁy‘*—S-Jg)s

(a—hb)® = [a® - b® - 3ab(a + b)]

(V2y?) + (543) - 342y = 53 (v2y - 5J3)
2J2 ¥ - 3753 - 156 (V2 V- 543)
2J25°- 3753 - 15 x 2/3y* + 75 x 3.2

242 5"~ 3753~ 30435 + 22542
y'— cofficient = - 303

=a=15
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17.

—

Dj

L U VA A

18.(B)

19.(C)

20.(D)

21.(D)

22.(C)

23.(D)

=

Mother's T0Sa19 » dizmfvr

Xx-y=4
x*—y*=316
(x-y)(x*+y* +xy) =316
4{16 + 3xy) =316
16 + 3xy =79
3xy =63
xy=21
<! + w = (X” + yz)'z _ szyz
=(16 + 2xy)* - 2x*y?
=(l6+2x21)*-2x21
=(58)2 -2 x21x 21
= 3364 -882
= 2482
Xx-y=4, xy=3
X2+y4 =16 +6 =22
X' -yt = (X-y) (2 +y* + xy)
=4[22 + 3]
=100
a*-b*-3abc={a-b-c][a*+ b*+c*—(-ab-ca
+ bol]
8a* - b* - 27¢* - 18abe
(2a-b—3c)(4a* + b2 + 9c? + 2ab + 6ac — 3he)
atb+c=4
ab+hbc+ac=-14
abce=-18
a*+b*+c*-3ahc={a+b+)[la+b+c)2-3(ab
+ be + ca)]
a*+b*+c* + 54 = 4{16 + 42)
=178

J4(a*+b7+c?)-36 = (178 -54)4-36

=>x*+y'-2xy =16

=676 = 26
a*+h+ci-3abc={atb+c)[lat+tb+c)-3(ab
+ be + ca)]

=2[4-3 x-1]
=2x7=14
, EE W
* T g0xt T 7
1 2x1 110 2
x2 + + = + -
49x> 7 7 7

1Y 112 1
Xt—| =" =16=>x+ — =+4

Tx 7 7x
2a+3b _ 2¢+3d
2a-3b 2c-3d
by C & D
4a  4c
6b  6d
a c¢
c d

25.(D)

26.(B)

27.(B)

28.(C)

29.(C)

Ly

30.(A)

%,
|
|
1]

(272)2+3 < 22

= 1672 + 642 = 222
x2-18x+81=0
Xx2-9x-9x+81=0
X[x-9-9(x-9)=0
x=9

@—81+2—83
81

X%+ =81+
XZ
2 1 _
X +;—12

X1+ % = 144 -2 = 142
X+2y=19
x*+ 8y* =361
(x+2y)x*+7y*—2xy) = 361
19(x* + 4y* - 2xy) = 361
19(19% - 4xy — 2xy) = 361
19% - 6xy = 19
19%— 19 = 6xy
bxy = 342

= xy=57
(3x + 2¥)* + (3x — 2y)* = 3kx(3x* + 4¥4)
a*+ b* = (a+ h){a* + b2 —ah)
= (3x+ 2y + 3x - 2y)[(3x + 2y)* + [3x - 2y)? -
(9x* — 4y?]
= 6X[9x? + 4y* + 12xy + 9x? + 4y* — 12xy — 9%
+ 44
= 6x[9x?+ 12y?]
= 18x[3x* + 4y?]
= 3kx[3x* + 4v]
= k=6
27x* - 64y* = (Ax + By)(Cx* + 9y* - Exy)

(3)° — (dy)* = (3x - 4y)[(3x)? + (4y)* + 3x x 4y]
A=3,B=-4,C=9, D=16, E=-12
A-B+C-D+E

3+4+9-16-12

16-16-12=-12

= xX*+4y* + 4xy = 19

1
xt+ = = 1154
X

w2

gy
x2+—| _2=1154

w2

gy
2+ —| =1156
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Mother's Advance Maths « Algebra [Previous Year Questions]

2+i —34 ]. ¢
i 35.(D) [2X+g} = 5°
2 2 .
[XJF— -2=34 = [X+— =36 8x3+i+3{2X+_]=125
X «%® 954
1 ) 1
X+ — =6 8x*+ —— +3x5=125
X 8x*
31.(B) (4045 x*~ 225 +(2/5x~ /2 y) = Ax* + By* 8+ -1 = 110
-Cxy 8x*
3 4 g a g a
(245x] - (2y) 36.(B) [x—g] -[x+3]
=4 Q.ng_.\/a . X . X
Y a® - b*= (a-Dbj(a + b? + ab)
= [(2J5%°+(V2y)2+ 2J5x* 2] 2 2 2 2 2
22 R
= x2+2v*+ 2/10xy X X X X X
= A+3B- floC 2
- A=20 (’”;J
B=02
C= /10 = [—i] [X”+i—4+x”+—+4+x”——]
X x* x4 X
A+3B- /10 C
4 . 4
= 20+3x2+ /10 * J10 = 7 B
= 20+6+10=36
32.[D) x +y=27 ]
X%+ y* =425 » U 5
X%+ y* + 2xy = 274 :
425 + 2xy = 729 37.(8) (x"-6v6y")= (x*+ Ay¥)(x’ + Axty® + Cy')
2xy = 304
(x—y)? = x* +y? = 2xy (2)° - (V6y?)
=425- 304 . . .
=121 =X - J6y)x o6y +x° B y)
33.[D) a2+ b +c2 = 576 --J/6; B=ys; C=6
ab+bc+ ca=50 AZ_B*+ (2
(a+b+cj2=a+b*+c*+2ab +be + ca) 6-6+236=236
=576+ 2 x50 =576+ 100 1 1
(atb+c)*=676 38.(B) x+ ;- =3 =3x+ =9
ath+ec<0=-26 X x
- 1
34.(B) Sx+y=12 It E (°X3+125X3J
xy=9 3
(3x +y)4 = 12¢ [3X+i] o
Ix* + y* + bxy = 127 S5x
(3x—-y)*+ 12xy = 122 . 1
(3x-y)2+12x9=144 27x3 + a‘+3><;'_~5;‘;><—[3){—1—T]=729
(3x—y)* + 108 = 144 125x X VX,
(3x-y)*=36 1 9
3 — =
3x-y=6 27x* + 125 + 5 0 =729
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39.(D)

40.(A)

41.(D)

42.(B)

Mother's T0Sa19 » dizmfvr

1
3 = QG — ——
27x o5 720 5
s L _ 3564
X7 125x® 5
aloxty L )= 3564
375x 5
ox 1 3564
¥ 7T 375x¢ 15
=237.6
+ i = 5 2+ 2 + g— 25
X 3x - = X x? 3_
DT7XE + — 27(x* + 1
X s = 27(x 27x<5]
X%+ 1

27
o,
5/25-242
27| [ 3 3}

(s3]

45 x 74 = 3330
1+4x2+ 16x*=512
1-2x2+4x2=64
(1-2x+4x*)(1 +2x+4x%) =5
=1+2x+4x®-2x-4x? - 8x* + 4x% + 8x* + 1ox*
=1+4x%+ 16x*
=(1-2x+4x%) (1 +2x+ 4x*) = 512
641 +2x + 4x*%) = 512
1+2x+4x2=8
2x+3y+4z=11
8x*+27v* + 642° = 105
xyz=1
(2x)* + (3y)* + (42)* = 105
(2x + 3y + 4z)(4x2 + 9y? + 162° — 6xy - 12yz -
8xz) + 3 xzxx 3y 54z= 105
11{4x*+9y* + 162* -6xy - 12yz - 8xz) + 3 x 24
x1=105
(4% +9y* + 1622 - 6xy — 12yz - 8xz) = 3
atb+c=11
ab+hbc+ca=15
at+tbh*+c’-3abc={atbt@a+hb*+ci-ac
- hc-ca)
a2+h+c?+2ich+bctceca=11%

74
= 27[5X?)

27

11[11% - 3{ab + be + ca)]
11121 -3 x 15]
11]121 -45]
=11x76=2836
a+b+ec=5
a*+b?+c*+ 2{ab + be + ca) =25
a*+bh*+c¢*=27 ab+hc+ca=-1
a(% + b({ + Cl‘, - 125
a'+b*+c*—3abe=(a+b+c)a*—b*+c?-ab
—be - ca)
125 - 3abc = 5[25 - 3[{ab + bc + ca)]
= 5[25- 3(-1)]

125 -3abe=5x 28
3abc=125-140
3abc=-15

— _5 —
5 5
x-1L52+ -4+ (x-3.5*=3x-1.59)x-
Hx-3.9)
By options
al+bh*+c*-3abe=0
x-15+x-4+x-3.5=0
3x=9
x=3

43.(B)

abc

-1

atb+c=0

45. (Cla®+b’+c?+48= 8(a+b+c)

= a2+ h>+c2= 2(4a+4b+4c) - 48
o a=4,h=4,c=4

= J4-43+ 48 =4

46.(B) 3x+5y =14

xy =16
Ox+ 5y? = (3x + Sy)* - 30xy
= 196 - 180
=16
1
47. (B) x'+ — =47
X
x* + l,,=7
<2
1
xt+t— =3
X
x2+1=32
4x*+4=12x
4x2-12x+9=5
(2x-3)2=15
48, (A)a-b=7.a?+b*=169
49 = 169 + 2ab
Zabh =120
ab =60
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fa+b)*=a*+b%+ 2ab

55.(A) x*- g f3x+1=0

= 169 + 120
= 289 1 _
a+b=17 X+ L =68
a-h=7
a=12,b=5 X*+——6\/_ _
3a+b=36+5=41 ? ( ) 3ev3)
40 (a2 s = 64843 — 18J3 = 6303
- Qa-7 56.(A) =8x* - 27y — 36x%y + 54xy* — 36x%y + 5dxy?
—Ba—-24=0 = 8x® - 72x%v + 108xy? - 27v*
-8a+3a-24=0 57.(B) a+b+c=0
ala-8)+3(a-8)=0 abc=12
a=8,-3 a*+h¥+ct-3abec=0
a=§8 a* + b* + c® = 36
50. (A)Letx=5 ;
y=3 58.D) x*+ — +2=6887+2
2x+3y=10+9=19 x
51. (C)3a-h=1,ab=4 1
(3a-b)*=9a2+b2—-2x 3 x ab Xt 7 =83
1 =9a%+h2-24
9a% +b? = 25 1
(3a+b)?>=9a® + b® + 6ab Xx- =9
(3a+ b)(3a— h) = (9a* - b?) 50.(C) x*~3x+1=0
(Qaz—b¥) =7 T A
. 1
52. (D) x*+y*+z*-3xyz= 7{_x+y+z) [(x=¥)*+ (v—2)* N x 3
S 1
*(-xP] XA+ 5 =7 =>x'+ 5 =47
1668 X
= 5 [1+1+4] .
= 834 x 6 = 5004 X°+ 5 =2209-2
53. [B)a+ 5b=25, ab=20 = 2207
(a+ 5b)* = a* + 25b* + 10ab
625 - 200 = a® + 25b? s, L sy 1)
425 = a2 + 2517 2[X+X8]_5[X+X2 =2x2207-5x7
= 425 - 200 .
60.(B) 61. (%) 62.(D) 63. (C)
a-3b)= J225 =15
54.(B) X[4+y4+]x”v'z=ll7 64.D) a-= Vsrz o bz
; J5-27 J5+2°
X2+ y4 - xy = 3(44-\/5)
2+bz_9+4\/§ . 9-4.5
I B ¥ 4-3 a "9-4J5  9+45
Xty txy= x
3(4+43) x-43
' _ 81+80+72/5+81+80-72J5
= 3(4-3) 81-80
2(x +y?) = 3(4+3) + 3(4-3) 22(1161)
=12+ 33 +128- 33 2(a? + b?) - 5ab = 2(322) - 5
X*+yi=12 =639
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a*+ b* + ¢* - 3abe

| =

(a+tb+c)(a=-b)*+(b-cf+{c-a)7]

W N
]

(125 + 127 + 129)[(2)* + (-2)* + (4)4]

81

x 24 = 4572

Tx-10y=8

Xy=95

49x2 + 100y? - 140xy = 64
49x2 + 100v2 = 764

1
X--=-4+3

67.(A) - -

1
X+ — =16+3-g/3+2

=21- 383

|
O
S

A) 73. (C) 74. (C) 75.
D) 78. (A)

=]
ok
N =
I

Given

49a% + 25h%* = 30
ab=1

(7a%) + (5b)*= 30
(7a+ 5h)2-"70ah =30
(7a+ 5b)* =100

(7a+ 5by=10

w]
L
=

Luuudl

X+¥ 20
+ = = —
x+ty=5and : 5

®
4
T

9
= Xy=Z

(x*+y%) = (x +y)[(x + y)* - 3xy]
= 5[25 -3x %}

73 365

81.[D) Given

++—5l+l+l—0 =12
Xtytz=5 —+ 0+ , XYZ

and x* + y*+ 2% = 151

= X:{ +y‘u‘+Z""—3XYZ=(X+Y+Z)[[X2+y2+22)—

(xy +yz + zx)|

151-36 .
= ——— =x2+y*+2z°

(B)

= X*+yi+2°=23

82.(A) Given,
(Bp-5m)=5_............. (i)
pm=6
Sp* - 25m* = (3p - Sm){3p + Sm) ....... i)
from eq. (i)

Op* +25m*-30x6 =25

O9p* + 26m* = 205

Op* +25m*+30x6=205+30x6
(3p+5m)? =385 ... (1ii)

eq.(i) & (iii) put in (ii)
Op - 25m* = 5 x (+/385)

= 15385
Leta= (7x+ 3)
b=x-2
c=3{2x - 5)
a*+b*+c*-3abc=0
fa+b+cj=0
14x-14=0
x=1
. bx+3=8
84.(C) I o
x+y=5 =S x*+y*+2xy =25
x4 +y4=17 = 2xy=25-17
Putx=4,y=1
Ax-y)E = (412
=9 =>(x-y)2=9

83.(C)

- Ul

85.(B)

1
8x*— — =8+ 3 x2(8)

X{S
=512+ 48 =560
Given
(2a)* + (b)* = 16
2a+b=4
Puta=1,b=2
16a’+ b’
16(1) + (2)4
=32

86.(B)
=
=

2
87.(4) x+ = =7

4
= 2x+— =14
X

5
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16
> 4xf+ — =196-2(2 % 4)
X

o
= Q(QX +—2)=180
X

= 2x*+ — =90
X X x2
88.B) - +1=4 = - =3 = ;=9
¥y ¥y ¥
X2+y2 XQ y2
an 2 “ =t
¥y ¥y -
=9+1=10
89.(C) Given
1 3
X- 5. =3
. ()
:>X+4Xz—9+2 Ix =10
1 L = 5
and x 6% 100-2 e
= 100 - — =99~
90.(C) Given

az+4b* + 25c* + 18 = 2{a - 2b + 2ac)
a?—-2a+4h>+4b+25¢2-40c+ 18 =0
(a-1)*+{2b+ 1)*+ {bc-4)*=0

1 4
a—l,b——E and c = 5
= a+ 2b+ 5¢
4
= 1—1+5><g—4
1
91.C) x+— =7
h 4
1
X+ — =343-21=322
X
92.(C) Given

X+y+tz=4 xy+yz+zx=1
and x* + y* + z* = 34
Xty tz'-3xyz= (xtytz)xty+z)?
- 3(xy + yz + zx)]
34 - 3xyz = 4(16 - 3)

= -3xyz=52-34

18

= Xyz= — & ==
2xyz=-12

93.(C) Given
a'+b*+ ¢® - 3abc =250
anda+b+c=10
250 = 10[100 - 3(ab + bc + ca)]
ab +be+ca=25
1
g(ab+bc+ca)=5
94.(B) x*+y*=45
X-y=5 = (x-y)=x*+y*-2xy
= xy=10
X' -y =(X - y)(X* +y* + xy)
= 5(45 + 10)
=275
95.(D) Given,
X+y+z=3
x*2+y*+z2=45
and XZ{ + y({ -+ z:{ - 69
Xty tzi-3xyz= (xtytz)[xtytz)-
3(xy +yz + zx)]
= X+yi+22+2xytyvztzx)=9
9-45
= (Xy+yz+zx]=T=—18
= 69 - 3xyz = 3[9 - 3(-18)]
3x63-69
> XYZS o
= Xyz=-63 + 23 =-40
1
96.B) x+ . J7

= x2+1=/7x

) 1
andx"+;=7ﬁ—3ﬁ
47
[
(e 1)+ | X+

ﬁx 1

x*+1

97.(A) 4. /3x*+5x-02/3 = (Ax+2)(Bx+c) [Given]
= 4./3x*+8x-3x-2,/3 = (Ax+ 2)(Bx+<¢)
= 4x(/3x +2)- J3(J3x+2)=(Ax + 2)(Bx

tc
= 4x- 3N 3x+2)=(Ax+2)(Bx+¢ )
By comparison
= (4x- J/3)=(Bx+c) = B=4,C=-3
= (3x+2)=(Ax+2) = A= f3
A+B+C= 3 +4- /3 =4
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98.(A) Given:x*-5/2x-1=0

divide by x
S -5
= X- 5.2

SOXE -

s = (58] va[x-3)

X
= 25042 * 1542

1

© X7 = 26542

99.(C)

_4_14 .3
= = = Xy= -3

s o 3 40
= X*+yi-2 8) 16

9. (B) 27x°-64y* = (Ax + By) (Cx*- Dy? +12xy)
4A+B+3C+2D="7?
27x* —64y* = (3x—4y)(9x*+ 16y*+12xy)
A=3,B=-4,C=9,D=-16
4A+B+3C+2D =7
4x3-4+27-32
12-4+27-32=3

N26-73  b+ad3

10-4) Jasss 1l

V32-143  bra3

— -
N IRTNCE

J1913-2x7x3 _b+av3
Zseiiaxsxys

(?_"/5)2 _ b+ay3
= (5+\/§)2 11

7-3 _h+a’

ETNCET!

Y1

X' -yt = (Z-y)ETH Y+ xy)

153
T 4|16 8

AR
4116] 64
100. (D) Givena®+b*+a?h?=133, a*+hb?>-ab=19
(a2 + b + ab)(a2 + b — ab) = a' + b" + a?b?
133
a?+b*t+ab=——=7
9
a?+b*—ab =19
a2+ h*+ab=7
-2ab= 12
ab= -6
101. (B)
102. (D)
:>(7_\/§)(-_\/§)_b+a\/§
22 1
= 35+43-1243
= brai= 0 = 19-63

i

=>h=19,a=-6
Vb-a=J19-(6)=5

V38-53  a+b43
NN

11. (C)

76-2x1x+75  a+b3
T 24 axIx3 23

J(75 -1y _a+h3
~ Jore B

531 a+hV3
TN IEY

:>(5-\/§—l)('?—-\/§) _a+ b3
46 X
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ALGEBRA
stepTfora

(Previous Year Questions)

Ifa*+b*=20and a+ b= 25, then find the value
ofa’+ b

Tfg a® + b* = 20 3R a + b =51 a’ + b T A 7 |
(A) 25 (B) 26

(C) 24 (D) 23
x+yv=4,xy=2,y+z=5,yz=3,z+x=6 and
zx = 4, then find the value of x* + y* + z* — 3xyz.
Aqex+y=4,xy=2,y+z=5,yz=3,z+x=6 3R
zx=4%,ﬁx3+y3+z3—3xyz7ﬂﬂ'ﬁilﬁ’ﬁl

(A) 150.75 (B) 152.75

(C) 157.75 (D) 153.75

e
Ifx=1+ /2, then find the value of \/;JF[E]

Y = 1 N
AMx=1+ 42 & @ Jx+(§] T R

(A) 2.1014
(C) 1.9876

(B) 2.1973

(D) 1.9996
3x¥ +2y\/§ 3X\/§— Qy& .
If the value of 3X.J§—2y\/§ 3Xﬁ+2y\/§ is

same as that of ,/xy , then which of the follow-

ing relations between x and vy is correct ?

3x y+2y&_3x\/§—2y\/§ N
3x\/§—2y-\/)_( 3x y+2y\/; FAT yxy *
T IR §, A x 3T y & ot e # § wm W vy wEt
77
(A) O9x -4y =36
(C)9x +4y =36

(B) 9x + 4y = 24

(D) 9x — 4y = 24
Ifat+b+c+d=2, then the maximum value of
(1+a)(1+b)(l+c)(1+d)is .
Aca+h+c+d=2% (1 +a)(1+b)(l+c)(1+d)
I SARTH JF ..o Z

91 81
A 5 B) ¢
62 54
© 55 (D) 15

10.

11.

I[fx*+y* =16 and x + y = 4, then find the value
of X' +y".

Ffex*+y* = 16 3siix+y =4 %, 9l x' + y' % 99 71
£l

(A) 32 (B) 28

(C) 36 (D) 26

The value of [(a% - b?%)* + (b* —c?)* + (c* — a?)*] + [(a
-b)* + (b-c)*+ (c-a)']is equal to: (Given a #
b#c)

[[a'z _ b'z]!{ + (b2 _ sz]:{ + [C2 _d a2)-",] - [(a_ b]:{ + [b _
¢)* + (¢ — a)*] %1 9 fokerok R § 2 (feangand a=b
£c)

(A) (a+b)(b+c)(cta)
(B) (2% - b?) (b* - €?) (c* ~ &%)
(C) (2% + b?) (b? + %) (c* + &%)
(D) (a=b) (b=c) (c -3

1 1
If x%+ X—4= 14159, then the value of x + ;is:

X 1 N 1
x5 = 14159 Farx+ < T

(A) O (B) 12

{C) 10 (D) 11

[fa—b=18 and a* - b® = 324, then find ab.
Ifs a— b = 18 3L a® — b* = 324 %, @l ab % 91 3
F
(A)-102
(C) 105

(B) 103
(D)—104

1 , 1
If x— —= 13, then the value of x* + — is:
X X

1 < Y 1 .
g x — < 13 %, X° + — o A 1 |
X

(A) 171
(C) 167

(B) 169
(D) 165

1 1 4
Ila+b+¢=2, ;+—+— =0,ac=—and a®+ b+ =

28, find the value of a® + b* + ¢,
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12,

13.

14.

15.

16.

17,

18.
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R 111 4 . ]

Aca+tb+c=2, —t—+t— =0,ac= - &Ra’+b'+
a b ¢ h

=28 %, T a2 + b2 + ¢ T AH T H |

(A)6 (B)12

(G10 D)8

fx +y+2=10,x*+y* + 2= 75 and xy» =15, then find
the value ol > + y2 + 22 - xy - vz - zx.

ARG +y+z=10,x + ¥+ 2 =75 8 xyz =15 ¥, Tl »2
+yi+ - Xy - yv - vx TR | FAEL

(A)6 B)3

©3 (D)4

I 2x + v =6 and xy =4, Lhen find the value of 8x° +v°
is :

Te2x +y =63 xy =48 WE+ Yy WAFE :
(A)od (B)72

)48 (D)16

If, 2x1¥ 22 = 882 3 ¥, S¥r 8z = 35F 2 3 32 = Q¢ z |hop Lhe
value of 2x + 3y + 5x1s:

qE k=g 3 ¥y 5% 62 = D512, i Se = gxlz% T 2% + Iy
+ 5z =1 AF AAEC |

(A)36 (B) 44
(C) 32 (D) 28
1 257 8( - 1
Ifx'"+ ——=——thenfind 7| X + = |, wherex >0,
X 16y 13 x
1 257 . 8 1 3
A X+ o= W | Xt | A
X 16y 13 X
SE x> 0%
(A)3 (B)4
(C)6 (D)8

lf xy =16 and x* + y* = 32, then the value of (x + y)is:
e xy = 16 3 x>+ ¥ = 32 ¥, T (x + y) = 99 A
Hifay |
(A)x4
©=x6

(B)£10
(D)=8

(a + 2bY¥ - (a - 2b)*isequal to:

(a+ 2b)’ - (a - 2b)® = HF FA FHAC |

(A)10ab (B) 6ab

(C) 8ab (D) 4ab

lfx +y="14; %"+ y* =1064, then the value of (x - yYis:
AR x +y =14 + vy = 1064 &, T (x - y) F 99 7@
A el
(A)100
Q)81

(B)36
(D) 64

19.

20.

21.

22.

23.

24,

25.

26.

If x =235, y = 256, » = 257, then find the value of x* +
v+ 28 - Axyz.

A x = 253, y = 256, z=257 &, W x* + ¥ + 2 - Sxyz A
HF |

{A)Y1984 (B) 2304
(C) 1876 (D) 1378
1 5%
Il x + — =8, then (ind the value of ——————.
X x°+1-0x
1 . 5%
AR X+ — =8 T ————— T IFIA HL|
X X +1-6x
(A)2.5 (B)6
(€)5 (D)6.5

The [aclors of the expression 2x? - 5x - 12 are:
e 2x2 - 5% - 12 % T[OES 1§ 2
(AY(x-Pand 2x-3) (BY(x +4)and (2x +3)
(O (x-4)and(2x +3) (D) {x +4)and(2x - 3)

I[x=2+ /3, thenfind the value of x* - 8x™ + 16x°
A x =2+ 3 &, A x4 - 8 + 16x2 T HM 19 F |
{AY-1 (B)1

Qo (D)2

Ir %a +3h =8 and ab =5, then find the value of 4a2 +
:%‘2a+3b=86ﬁ'{ab=5%, @ da’ + 9b2 T W T

Eaned
(A)2 (B) 4
()38 (D)6

Ifx +y="15and xy =14, then the value of x - yis :
AR x +y =15 X xy = 14 &, T x - y FFH J0@ A0 |
(A)11 (By12

{14 (DY13

Il a = 335, b =356, ¢ = 357, Lhen [ind the value of a° +
b+ 7 - 3abc.

afg a =353, b =356, c =357 &, @l a’ + b’ + ¢’ - 3abc FI
oM A1d ifsg |
(A)3208

{(C) 3206

(B) 3202
(D) 3204

{ Ly
If x + ;='-1, then the value of x*+ {;] is
. g 4
qﬁx+;=4%,?ﬁx*+ ; T HE FqRT |

(B) 196
(D) 194

(A)14
O16
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27. Ifa+b=8andab=12 then lhe value of a® +bis : 1 1
I a+b=8 X ab =12 %, & a’ + b* F1 7 AETUN 35. Ifx+ ;=-—1, then [ind the value of x*+ ol
(A)224 (B)9% 1 1
(C)288 (D)512 =g x + ;=-—1%,?ﬁx*+ ?Wqﬁmﬁql
28. 2x-3yisafactorsof: (A)136 (BY194
2x - 3y T99 9 fpum rrEE 7 () 162 (D)128
(A) 42+ 2x -3y + 9y? - 12xy
(B) 8C + 273 LI (54
(C) dxt + 9y + 12xy 36. Ip+ p = 112, find {p -112)* + P -
(D) 4x* + 2x - 3y + d6y* + 12xy 1 1
29.  (ax+by)isalactorof: afap+ p - 112 €@ (p-112)"+ p= AT =
(ax + by) T § e oS € 7 | (A)10 ()0
(Aya*™x*+2ab-b?y?  (B)a’x*+ 2abxy + by* Q)15 (D)1
(C)a** + 2Zabx - by*x (D) a** + 2ab + b'y*
30. Ifx+y=4and>®+y*=12 thenlhevalue ofx* +vi=? 1 x* +i2 ‘
afgx+y =43+ y* =12F, T x"+ ! B AT AW ? 37, Ifx+ ;:o,x#[]thenthevalueof xz—’%i’l is equal
146 146 to:
(A) 5~ (BY =3~ :
: : 1
1 L K+ .
146 146 g x+ ==3,x208, @ X HHAAE :
©) = ) k X2 =3x+1
(A)35 (B) 60
31. Ifx-y=13and xy =25, then the value of X2 -y =? (C) 63 (D) 30
AR x - v = 13 &R xy = 25 §, T x2 - y> 1 HH F G2 :
{A)Y 13269 (B) 13210 38. Ilx= 3422, thenthe value ol x* + X—Zj:; :
(© 134229 (D) 134240 o 1 ‘
A x=342,2 F AxE+ X—zmqﬁ%;
1 1 .
32, Ifx- — =8, find the value of x'+ — (A)30 (B) 36
* * Q)32 (D) 34
1 1 . . P+ v =400 r=6(x>0,y>0)tl he value
ﬂﬁx—;=8%,?ﬁx*+x—4=mﬂﬁaﬁ%‘{l 39 0f2xx+;is Oand xy =6(x >0, y > 0)then the value
(AY4355 (B) 4352 -qﬁ4x2+);2=40 AR xy =6(x>0, y>0)??l,?ﬁ2x+y6h‘r
(C) 4336 (D)4354 e
(A)24 (B)1s
33. Ifa+3b=12andab =9, then the value of (a - 3b)is : (@F! (D)8
A a+3b=12Mab=9% @ (a-3b) MAATARI | g9 110+ 27v® + 647° = 36 xyz, Lhen Lhe relationship be-
(A)4 (B)8 tweenx, yand zis :
Q6 (D)9 A C+ 27y + 6422 =36 xyz B, A x, y SRz A wag &
(A)yx+v+z=0 (Byx-3y+4z=0
2 a’ v =1, A A =
34, Ifa*+ — =16, then find the value of #&82 (©)x+ 3y =4 (D)x+3y +42=0
4 astovoa 41. Ilx= {542, lhen the value of x¥ = 6x* +12x - 12 i3
2 . 72a° . Ui :
qﬁdz‘i‘ 3 =l6%,?ﬂ %&T{ﬂ'ﬁmﬂ?{l (.(,]U.ll[() . . ) .
a a' +2+8a e x= 3542 F A =6x2+12x - 12HHAAE ¢
(A)3 (B)1 (A)0 (B)2
Q4 (D)2 1 (D)-1
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1 1 43. I =3 _./5, lhen the value of x? - 16x + 6 is :
42, Ifa’+ — =98 a>0, then the value of @+ — willbe: \/; J__\/_ o . .
a a e x =35 & A -16x+6FHAAE :
, 1 | N (A)O (B)4
a4 — - : 33 — 7 :
=g a? + " 98, a>0% da’+ & FEE ©)2 (D)-2
(A)960 (B) 950
(C)970 (D)870
Solution
1. (D) a*+b*=20,(a+h)=5 5. (B)For maximum (l1+a)=(1+hj=(1+c)
ATQ (a+hy=a*+hb*+3ab(a+h) ={1+d)
=125=20+15ab 1
=ah=7 a=b=c=d=§
SO(a”bQ]:gé;_bl)Z-:?ﬁJ (L+a)(L+b)(1+¢)(1+d)
4 N = 2 22 22
:>(a+b]_ (@ + b7 _Qﬁb = 1+l 1+l 1+l 1+l
= 121 -98=23 2 2 2 2
2. (D) ATQ =x+y=4,xy=2
5 3y 81
= X-y= J(x+y) —4xy =8 :[—] = —
y+z=5yz=3 2, 16
. 6 A) y=4-x
:>Y—2=q,’(y+z)‘—4yz=-\/ﬁ x*+y*=16
z+x=6,zx=4 x*+(4-x)° =16
; 12x%* - 48x+48=0
= z-X*= qll'(z+x)2—4xz=-\/2_0 —dx+4=0
415+6 15 [x-2)(x~2) =0
Xtytz=s —(H =75 x=2;2
y=2
XyzZ= 2% 3 x4 =216 x*+tyt=16 +16 = 32
As we know . 7. (&) S@-bYd?-c?(c*-a?
x3+y3+z3—3xyz= E(X+Y+Z] [(x—y)2+[y S(a_b](b_c)[c_a)
- =(a+b)(b +)(c + 1)
1 1
1 15 R = 24 - =
S X4y 42 -Oxyza= 5 x o x41=15375 8 (D) x +F+2=14161= x*4 5 =119
1 24 1 +2 121 + L 11
h 4 — = 3 — =
3. (B) x=1+42 = 721 x? "
, 9, (A) (a-ha2+b*>+ahb) =324
1Y [ 1 18 (a2 + b? + ab) = 324
So [-J;-FT] — X+;+2 aZ2+hb2+ab=18 (1]
X (a-b)? = a? + b%— 2ab
1 324=a*+bh*-2ab .. (i)
"&*ﬁ =y2J2+2=4.828 =2.1975 eq. (i) & eq. (ii)
az+h?*-2ab=324
4. (D) a= 3X.\/§,b= 2yyJx a;+bbz ggé)= 18
— a —
4ah =_
ATO - ab2 Y ab 102
- 1
10. (A) x- — =13
4 x 3x nyy\/;_J— X )
oxly —4y’x Xy squaring both side
= 24xy = 9x%y - 4y°x X+ 221605 x4 — =171
= 9x -4y =24 X X
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11.(D) ATQ, fa+b+c) =2
1,11

a b c¢c
= abtbc+ac = 0

-2 L abe=4
ac—b = abc =

a'+bi+c¢’ = 28
a+bi+c’=ja+b+c)a’+b*+c*-ab-be-
ac]+ 3abc
28 =2[a* + b* + ¥ + 12
al+ b +c*=8

12. (B) As we know,
Xty + 2 -3xyz=(x+tyv+z)(xXP+yvi+zi-xy
~yz-x2)

75-3x15

=Xty +z°-xy-yz-xz] = 0

=3
13.(B) 2x+y) =8x"+y' +bxy(2x +¥)
S8xM+y' =By -6x4x6=72

14.(B) ATQ,
Dx+y P 887, 3y = 2242 13 3y
So, x+v-2z=24z-15-3y
= X+4y-26z = - 15 .. (i)

54_\.‘ e = 25\. + o = 52}- + P
So, 4y -6z = 2y + 2z

= 2y = 82
= ¥y = 4z o (1)
343;—32 = 9x+z = 32x+ 2=z

=4x-3z=2x+ 22

— Ez e
= X= 5 ... (1di)
By eq.(i), eq.(ii) and eq.(iii)

5
§Z+ 16z-26z=-15

—15=z

5 -15

=

=>z=2

So, y=8 andx=5

2x+3y+52=2x5+3x8+5x2=44
1 257

16

|
Ea
b | W
; .
[253

1

2
T
b |
———

_ 125 15 65
8 2 8
D) (x+¥) = Jx*+y* +2xy =+/32+ 2% 16
8 (s lj 8 65
—X“F—‘ =— X — =
S°’13( <) 1378 °

(C) (a+2h)?-(a-2h)?
= {(a+2b+a-2b)(at+t2b-a+2b)
= 2ax4b=8ab
(B) x+y=14
x*+y*= 1064
As we know
(x* +y7) = (x +¥)* - 3xy(x +y)
— 1064 = (14)* - 3xy(14)
= 42xy=(14)° - 1064

196 — 76 _
3

So (x-y)*=(x+y)*= 4xy
(14)2 - 4 x 40 = 36

= XV = 40

(B] Aswe know

1
Xty 2 - Oxyz= o (xty ) (x-y) vy -

2)? + (z2-x))

1
5 (255 +256 +257) (1 + 1+4)

3 x 768 =2304

(A) ATQ=x+ =8
X

So,
x*+l-6x 1 .
X

(C) 2x* - 5x - 12

= 2x*-8x+3x-12
2x x-4) +3x-4)
(2x+3) (x-4)
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22. (B) x'-4x*-4x* + 16%* 28. (A) Check by option
X (x—4) -4x*(x - 4) 4% + 2% - 3y +9y" - 12xy
X4 (R=4)? oo (i) If 2x — 3y is the factor of equation then
— 2x -3y =0
X=2+43 2X =3V .covrnnn (i)
from eq (i) Put value in the equation
, o 2 = (3y)*+ 3y -3y +9y*-18y*=0
=(2+3) [2+ /3 -4] = Oy*+9y*- 18y*= D
1 = 0=0
= So 2x - 3y is the factor of 4x* + 2x + 3y + 9y*
23 (B) 2a+3b=8,ab=35 ~12xy
= 4a*+9b?+ 2 x 2ax 3b=64 29. (B) Check by option (B)
= 4a*+9h?=64-12x5=4 a’x* + 2abxy +b?y?
24, (D)x+y=15 If (ax + by) is the factor of the equation then
xy =14 ax+ by
- thenax+by=0
= X-¥) = J(x+y) —4xy ax=-by ......... (i)
Put value in the equation
=225-56 = (~by) +2by (-by) + b2y?
302 2.2
_ /169 z 2(;) Y- 2b%y
=13 So {ax + by is the factor of @®x? + 2abxy+b*v=,
25. (D) Aswe know
ot 4 1 1
a3+b3+c3—3abc=§[a+b+c) [[a=h)2+ (b xt+ X—4=194
- )2 + (c - a)?] 30. (A) (x+y)*=x>+y*+3xy(x+y)
64 =12+ 12xy
1
= —x (355+ 356+ 357) (1 +1+4)= 3204 13 .
2 XY= oo (i)
3
1 (X +ty)P=x*+y>+2xy
26. (D) x+ < 4 6

2 + 2 = 4+ + Der2
X4+i2=14 (x* +y%) = x*+y*+ 2x%
X ['22 S 169
LV 3/ Xi+y'+2 9
[xg + ;) =196
ey 184338
27. (A) (a+h)?=a?+ 2ab + bh? ) e e
64 = [a? + 2ab +h?] 146
64 — 3ab = [a? + 2ab + b*] - 3ab ~ g
2f=iz_ab+b2_; ........... (12] 31, (A) (x-y)® = x?-2xy +y?
a+b’=(athb)(a’-ab+b’) 169 +4xy = x> + 2xy + y* + 4x
=8 x28 169 + 100 = (x + y)?
=224 . .
22 X —y* = (x-y) (X +¥)=13J269
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L
= x'+—=4354
h 4

33.(C) a+3b=12
ab=9
So,

(a-3b)= Jla+3b) —12ab
= J144-108=6
2
34.(A) ATQ, a%+ = = 16

72a? 72

a +2+8a L 2 . °
a+—+8
a

0,

=4

1
35.(B) x+—
X

. 1 a 1
Xt+—=14=x +—/=194
X X

1
36. (B) P-112=

37. A > 1

38. (D) x=3+2.3

6
39. D) y=—
x
36
dx* + —=40
XZ

2
x2+[g] +6-6=10
h 4
.2 -
=16 » x+- =4
X

[ 3

X+ —
X.

x*-4x+3=0

x*-3x-x+3=0

X[x-3)-1lix-3)=0

(x-3)(x- 1)

atx=3, x=1

y=2,y=6

Now, 2x+¥y

>6+2=8§

a*+b*+c*—3abe=0

atb+c=0

=23+ By +tiyz)) -3 xxx 3y xyz=0

Xx+3v+4z=0

41.(C) x-2)= /5
Both Side Cube
x-2)*=5
X*—-06x2+ 12x-8=15
X*—-6x"+124=13
>xF-6x2+12x-12
=13-12
=1

oy,
42.(C) [a+—] =a'+—+2=98+2=100
. a

a E

, 1 1y 1
a“+—3= a—+ — _3 a+; =1000_30=

a

43 .(C)x=3+5- 2/15=8- 215

x-8= -2/15
Square Both Side

(x-8) = (- 2415 )?
x*-l1l6x=-4
=x*-16xX+6
=-4+6

=2

970
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(SSC CHSL - 2018)

ALGEBRA
stepTfora

(Previous Year Questions)

Ifx+y=7and xv = 10, then the value of

L
e ya is:
1 1

e x+y=73Nxy =107, ()\_3+}_3] ERIR I
hiferr ?

(A) 0.543 (B) 0.131

(C)0.133 (D) 0.453

If 8% + y* - 12x — 4xy + 9 = O, then the value of
(14x - 5y)is:

=fg 8x% + y2 - 12x - 4xy + 9 = 0 &I, 1 (14x - 5y) =l
AT T o 2

{A) 9 (B)6

(€) s (D)3

fx+y+z=19, xyz=216andxy +yz+zx =114,

then the value of JxS +y 7 xyw s
Fex+y+z=19,xyz=216 6ﬁTxy+yz+zx= 114

E}I‘,T‘ﬁ \/)(3-1-}'3—1-7,3—}-)();/ Wmmw?
() 32 (B) 30
(C) 28 (D) 35

[fa?+4b*+49c*+ 18 =2 (2b + 28c — a), then the
value of (3a + 2b + 7c) is :
ofg a2 + 4b2 + 49¢2 + 18 = 2 (2b + 28¢ - a) i {3a

+ 2b + 7c) = HF P E
(A) O (B) 2
(€)1 (D)3

[fatb+c=5a’+b*+c?=27anda’*+b*+¢* =
125, then the value of 4abc is :
'<‘5!'|r'5<??:r1+b+t:.=5,a"”rb”+t:2=QTf'\?>’is’l'{a'“”+b'“”th:.*j
=125 %, dl 4abc FIHAT :
(A) 20

{C) 15

If 33x" - 242y = (V3x—2y) (Ax* - Bxy + Cy?)
then the value of (A* - B? + C3) is :
7 5/3x0 ~2v2y” = (V3x—+2y) (Ax? Bxy + Cy)

LA (A2-B+ CHHAAT
A) 10
Q)7

(B)-15
(D) 20

r—

10.

11.

If 24\/5)(2 + 2\,5y3 = (2\/§x+ \/Ey) (Ax? + Bxy + Cy?)
then (2A+\/EB—C) is equal to :
A 2443x + 242y = (2\/§x+ ﬁy) (Ax* + Bxy +

Cy?) %, (2A+ V6B -C) awar # :

(A) 10 (B) 14

(€6 (D)8
Ifa+b+c=4andab + hec + ca= 1, then the
value of a° + b* + ¢* — 3abeis :
qEa+b+c=42Tab+bc+ca=1% da®+b°+
ct-3abcTMARE :

(A) 50 (B) 60

(C) 52 (D) 47

Ifa’+b’=110 and a+ b =25, then (a+ b)?- 3ab
is equal to ;

A al+bt=110sRa+b=5% @ (a+b)’-3ab=
HE

(A) 52 (B) 32

(Cy42 (D) 22
Ifa+tb+c=5anda*+b?+¢?=33, then what is
the value of a® + b¥ + ¢ - 3abc ?

Az a+b+c=58Ra+b’+c2=33% da’+b+
¢* — 3abe HHE FE ?
(A) 195

(C) 192

(B) 180
(D) 185

If 40V5x° —33y" =(25x— By ) x (Ax® + Bxy +

Cy9), then what is the value of /g2 C2_A 7
afe 40V5x° - 343y° =(25x - By) x (Ax® + Bxy +
Cy) &, 1l JBTLCl_A FAF T ?

(A) 11 (B) 7
(C) 8 (D)9
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12,

13.

14.

15.

16.

17.

Mother's Advance Maths « Algebra [Previous Year Questions]

(x" +x 2)
If x* + 1 = 3x, then the value of m is:
(x4+x‘3)
qfg x2+ 1 = 3x T, @I m HHAAE ¢

© 45 (D)3

1 1
(A 23 (B) 27 5

If xis real and x* - 5x°? - 1 = 0, when the value
" . 3 1
of (x” =% +—2——6+’IJ is:
XT X

af% x afaw € it x* - 5x2 - 1 = 0 %, @t

. , 3
[Xh —3x +%—iﬁ+1) q-;[qr—[% :
X X
(A) 126 (B)110
(C) 116 (D) 96

If 2443x° +55y" =(243x +5y) (Ax2 + Bxy + Cy?)
find the value of 5SA - 158 +C

afs 24J3x" +5J53y° = (2J§x+ \./gy) (Ax*> + Bxy +
Cy?) ¥, 9 5A- J[5B + CF AM =M E?

(A) 108 (B) 128
(C) 109 (D) 35

If/=fe x + %= 7, then/%, @ x* + % is equal to/
FARE ¢

(A) 300 (B) 322

(C) 364 (D) 343

If 23042x° ~545y° = (5v2x—3y) x (Ax? + Bxy +

Cy4), then the value of (A +C- \/EB) is
A 25042x° ~55y" = (5v2x By « (Ax? + Bxy +

Cy?) %, 7t (A+C—10B) =1 5r g

(A) 10 (B)5

(€) 52 (D) 245

Ifx=-1, 2 and 5, then the simplified value of

J2(X3_8)XX2+2><+’I;><3+2X+4{ _
lxz—x—2 X —4x—3  3x-15 Jlsequalto:

18.

19.

20.

21.

22.

23.

Fex#-1,2 5%, 09

2(7"3_8)xx2+2x+1;x2+2x+4 R
X ox—2 X —dx-5 dx—15 | T ECH

HE ST F

(D)

|k

[fx+y+z=19 x*+y*+z>= 133, then the value
of x*+ v+ 2z’ - 3xyzis:
TRex+y+2z=19,x2+y2+22= 133 %, @Ix*+y* +
2= 3xyz FARE

(A) 361 (B) 342

(C) 380 (Dy352

[F8(x +y)' - (x - y)" = (x + 3y) (Ax® + Bxy + Cy?),
then the value of [ A-B-C)is:

S 8(x + y)’ - (x—y)° = (x + 3y) (Ax* + Bxy + Cy?)
2 A (A-B-C) AT :

(A) -2 (B) -6

(C) 10 (D) 14

If 9a® + 16b? + ¢ + 25 = 24, (a + b), then the
value of (3a + 4b + 5c)is:

A 9a? + 16b? + 2 + 25=24, (a+ b) T T (3a+ 4b

+ 5¢) MAME :
(A) 9 (B) 6
)7 (D) 10

If x* — 6x + 1 = 0, then the value of

[X4+l2j+(x2 +1) is ;

X

-

e x’-6x+1=0%,d [f +%J+(X2 +1)
(A) 39 (B) 33

(C) 35 (D) 36
[fx+v+z=3andxy+yz+zx=-18, then what
is the value of x* + y* + 2° - 3xyz =72
Aex+y+z=33Rxy+yz+zx=-18% @A’ +y°
+z¢ = 3xyz FIAME FNE ?

(A) 187 (B) 217

(C) 191 (D) 189
If8(a+h)*+(a—-h)*=(3a+Db) (Aa’*+ Bab + Ch?),
then what is the value of A+ B-C)?

e 8 (a+b)* +(a-b)’ = (3a+b) (Aa’ + Bab + Cb?)
2,9 (A+B-C)mAR=NE?

(A) 2 (B) 4

(C) 10 (D) 11
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24.

25.

27.

28.

29.

30.

31.

Mother's T0Sa19 » dizmfvr

fx-7P+x-8+{x+6)=3x-7)(x-8) (x+
6], then what is the value of x?

T (x= 7P+ (x—8P +(x+6)° =3 (x-7) (x-8) (x
+6)%, AxFMATFNE?

(A) 6 (B) 8
(C) 10 (D)3
1 A
Ifx- < 10, then x° - o s equal to :

S 1 . 1 5
Tex- —= 108, Wx - —5 TERE:
{A) 970 (B) 1000
(C) 1030 (D) 1100
Ifa?+b?*=88 and ab =6, (a> 0, b > 0) then what
is the value of (a® + b)) ?
Az a2+ h*=88 Nab=6,(a>0,b>0) %, d (a* +
bY) FAF FME ?
{(A) 980 (B) 1180
(C) 820 (D) 1000
If x* + x—4 = 2207, (x > 0) then the value of x + x*
is !
g x' + x4 = 2207, (x> 0) &, @ x + X | I HF &:
(A) 19 (B)7
C)11 (D)9
FEx-7P+(3x-8)+(3x+6)*=3(3x-7) (3x -
8) (3x + 6), then what is the value of x ?
=g (3x - 7)° + (3x - 8)> + (3x + 6)> = 3 (3x - 7) (3x
- 8) (3x + 6) ¥, T x 1 HF F9 i 2
(A) 3 (B) 1
(€C) 4 (D) 2
[fx"+x1=1442, (x > 0] then the value of x + x
i
A xt+x*= 1442, (x> 0) &, Mx+x ! FARE :
(A) 7 (B) Va0
C)6 (D) 15

1 1
Ifx+ M 10, then x* + — is equal to :
X

1 5 - 1 L'
afe x + < 10 %, @1 X7 + — =1 |14 91 Hiter ?

{ X
(A) 970 (B) 1030
(C) 1000 (D) 1100
[fa’+b?=99and ab= 11, (a> 0, b > 0) then the
value of (a® + b¥) is :
Tz al + b2 =99 sfwab= 11, (a> 0, b > 0) &, & (a*

+bY)IEAAE
(A) 1250 (B) 968
(C) 1100 (D) 1080

32,

33.

34.

35.

36.

37.

38.

39.

Ifaz+b?=135and ab="7, (a> 0, b> 0) then the
value of (a® - b¥) 1s:
A a2+ b?=1358Rab=7,(a>0,b>0) ¥, @ (a*

- b)) FAEE -
(A) 1562 (B) 1600
(C) 1680 (D) 1350

HR2x-7P+(2x -8+ (2x-3)*=3{2x-7) (2x—
8) (2x - 3), then what is the value ofx ?

Tfg (2x - 7)* + (2x — 8) + (2x - 3)* = 3(2x—7) (2x —
8)(2x -3 MxFIMARTFNE ?

(A) 4 (B) 2

€)1 (D)3

Ifx'+x"=1442, (x> 0), then the value of x + x '
is:

e x'+x 1= 1442, (x> 0) §, 91 x + X | I HH T

(4) 10 (B) 310
(©) Y10 (D) 15

Ifx= /3.2, then the value of x* -x is :
e x = 3 2%, X’ —x° H HHEM :

(A) 223 (B) 2242

(C) 2242 (D) -2243

If 5% | 19% _13%, then the value of x is :

AR 5% | 1o% — 3% B W x M AR B :

(A) 2 (B) 8

€)1 (D) 4

F2x+7)P+(2x+ 8+ (2x+3)*=32x+7) (2x+
8) (2x + 3], then what is the value of x ?

Tl (2x + 7)° + (2x + 8)* + (2x + 3)*=3(2x + 7) (2x +
8) (2x+3) %, AxFMARFNT ?

(A) -2 (B) 3

(€) 2 (D) -3
Hx+7)0+2x+8)0+(2x+3)'=3 (x+7) (2x+ 8)
(2x + 3), then what is the value of x ?

TG (x+ 7P+ (2x + 8P+ (2x+ 3P =3 (x+7) (2x +
8)(2x+3) % AxTAAE?

(A)-3.6 (B) 3.6

(C) 2.4 (D) 2.4

If 3% | 4% _ 3% then the value of x is :

AR 3% L 4% _ 3B, WX AR ¢

(&) 8 (B) 2

(€) 4 (D) 1
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41.

42,

43.

44,

43.

47.

48.
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Ifx = 2_./3 then the value of x* - x7 is :
AMx=2_/3 WX -x*FARE :
(A) =303 (B) 3043

(€) -3042 (D) 3042
Ifx-8)*+(2x+ 16" +(2x-13)*=3 [x-8) (2x +
16) (2x — 13), then what is the value of x?

afz (x — 8)* + (2x + 16)* + (2x — 13)* = 3 (x - 8) (2x
+16) (2% — 13) , T X &1 711 T Hifer ?

(A) 0.7 (B) -1

<1 Djo

If 3¥x | 4% _ g%, then the value of x is:
qﬁ 3 ‘UX + 44\.‘21 — 5 ix %, Fﬁ X EFI IH—"I %:

(A) 4 (B) 2

(C) 8 (D) 16

Ifx=2+ /3 then the value of x* + x%is:
AMex=2+ 3 T, A x*+ xF AR I K ?
(A) 52 (B)-52

©y-523 (D) 52./3

Ifx =2+ /3, then the value of x* —x 7 is:
g x =2+ /3 ¥, x* - x * W AE 6 FiE ?
(A)-52 (B) —303

(€) 3043 (D) 52

If 64&"; n 8*&-’? = 10-‘@'? , then the value of x is:

qﬁ 6%'; + 84\'; = 104&';; %—, f‘ﬁ X =hl HMH F1d _m'gl'%l'qj
(A)2 (B) 16

(€)4 (D) 8

Ifix-7)+ (2x+ 8 =3(x—7) (2x + §) (2x - 3),
then what is the value of x?

Tl (x—7)* + (2x + 8)* = 3(x—7) (2x + 8) (2x— 3) T,

AT x AT T4 FIAC ?

(A) 1.6 (B) 2.4

(C) 1.2 (D) 0.4
Ifa’+b*=1344 and a+ b = 28, then (a + h)? -
3abis equal to:

A at + b= 1344 eiRa+b=28 %, 1l (a+b)2-3ab
T T :

(A) 24 (B) 16

(C) 32 (D) 48

Ifx=2+ /5 then the value of (x* - xV) is :
MEx=2+ 55T (X -x3) FARE :
(A)-52 (B) 52

(C) 76 (D) =76

19,

S50.

S51.

52.

S53.

54.

Ifx'"+x"'=47, (x> 0], then the value of 2{2x -
3)¢is:

A xt+x*=47, (x> 0) % T22x- 3P WMIAAE
(A) 2 (B) 3

(C) 5 (D) 10

Ifx=2+ /5 then the value of x* + x * is:

FMx=2+ /5 & Wx®+x° A E:

(A) 40 /5 (B) 34 /5

(C)46 . /5 (D) 36 /5
[fa’-b*=899 anda-b =231, then (a- h)*+ 3ab
is equal to;

Az a’— b =899 aaa-b=31%, 9 (a— b)*+ 3ab
ERCIE S

{A) 35 (B) 31

(C) 16 (D) 29

Ifx*+ x*% =194, (x » 0}, then the value of (2x -
4)2 is:
A+ x1= 194 %, (x > 0) &, T (2x — 4)2 % HA 71

i |
(A) 15 (B) 20
(C) 12 (D) 16

1 1
I[fx - — =7, then x* - —7isequal to —
X x"

— ]- = 1 =

AEx - =7% Wx® - — FAW TG HT ?
X

(A) 480 (B) 364

(C) 376 (D) 500
Ifx*+x*=1154, (x » Q), then the value of 2(x -
3)7 is:
e x'+x 1= 1154, (x > 0) T, W 2(x — 3)2F HH 71

it ?

(A) 16 (B) 12

(C) 20 (D) 15

[fa*-h*=899 and a-b=29, then{a—-b)*+ 3ab
is equal to:

e a® - b* = 899 sfTa-b =29 &, dl (a-b)2 + 3ab
= A T4 Ao 2

(A) 35 (B) 29

(€) 16 (D)

[f{3x+ 1+ (x-3)P*+(2x-4)*=6 (3x+ 1) (x - 3)
{x — 2], then x is equal to:

Afe (3x + 1)* + (x—3)* + (2x-4)* =6 (3x + 1) (x - 3)
(x—2) &, 9 x AR T 7

(A) 3 (B) 1

1
(€) 2 (D)-3
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57.

S58.

59.

61.

62.

Mother's T0Sa19 » dizmfvr

The value of the expression %{|\a+g/| —|\a——|}
is: : - :

SO Ly
& T = 41 a asg ) A

1
(A)

2 (B) 7

;o

(D)4

a, b, ¢ are three positive numbers, such that,
{(a+h+c)=20,a*>+ b*+ ¢?=152. The value of
{ab + bc + ca) is equal to —
a, b, ¢ T ATE TEAG T YA E ffF (a+ b + ¢) = 20,
a?+ b+ c2=152%1(ab + be + ca) FAF AT E—
(A) 124 (B) 110
(C) 112 (D) 102

1 1 1 _
f{x+y)5+(y+2)3 = -(z+x)3. then (x* +y* +

z’) can be expressed as —

—

= =

1 1 .‘
AR (x+y)a+(y+z)5 = -(z+x)3. 5T +y'+

2%) 1 59 YR = o T ka1 §—

(A) 3 xvz (B) (x+¥)(y *+2)(z +x)

8

(©) (< +)ly + 2z +) (D) Sy

1 1
If a+ — = 2, what is the value of (31 ~ a_4j ?
a

1 Lo 1 “
Mat — =2%, T | & — T m AR

(A) 0 (B) (€)1 (D) 4

1

4
1 FE |

If a+ — = 3, then the value of | & +; is
a

equal to:

— ]- ) » ]' — -
Tga+ S =3% @ [a°+a—ﬁj TR THE B ?

{A) 319 (B) 322
(C) 780 (D) 730
1 1 1
If 2 ps;es =0 then(a+b+c)’is equal to:
1 1 1 .
M 45, pe Loz =0 & T (a+ b+ o) e wam
B ?
{A) 81 abe (B) 729ab*c?
(C) 729 abc (D) 81 a*b*c?

63.

64.

67.

68.

Ifatbh-c=12anda*+ b?*+c¢?=110, then
AFa+b-c=12%a’+b*+c2= 1108,
(p) ab + be + ca= 34

(g ab+bc—-ca= 17

(r)ab-be +ca=17

(s)ab-be-ca=17

which among the following relations is true?

frefefea § & A g gay g2 2 ?
(A r B)g
C)p D) s
Ifa*+ b?= 169, ab =60, (a > b), then {(a*- b? is
equal to —
qfg a? + b2 = 169, ab = 60, (a > b) ¥, 9 (a2 - b?)
TR T B ?
(A) 149 (B) 129
(C) 119 (D) 139
. 1 1 1
U/ X= 1573 "13.14 14.45 12304

1 1 1 1
= + + TS
Y~ 3627 37.38 3839 " 71.72°

then /1, % is equal to /g% THH g ?
1
(A 35

10
If7 (1-2.43x107=1.417 +x, thenxis equal

to:
.10 N
afe 7(1 -2.43 x 10%) = 1.417 + x %, @ X 90
F_
(A) 0.0417 (B)0.417
(C) 0.0081 (D) 0.81

If(3x+ 1)°+ (X —3)7 + (4 - 2%)* + 6 (3x + 1)(x - 3)
(x-2) =0, then x is equal to:

g (3x + 1)° + (x—3)* + (4 - 2x)° + 6 (3x + 1)(x - 3)
(x-2) = 0%, & x qqaT —

1 1
(A)-1 (B)- 5 €1 (D) 5
If (1.25)(1 - 6.4 x 109 = 1.2496 + a, then a is
equal to:
ST (L.25)(1-6.4 x 107) = 1.2496 + a% o aae:
(A)0.0016 (B) 0.00016
(C) 0.0032 (D) 0.00032
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Mother's Advance Maths « Algebra [Previous Year Questions]

69, If/sTR (a+b+4)fab+4 (a+b)i-4ab=0 - K b 1 . a4+ b — 3ab
a= Jg_. : a= — %, —_——
and/TTa--4,bz-4, 8-V7 b a2 tab+b?
]. 254 I\E‘SE‘E‘S 3k l%:ITITj
: o a4 | ise .
ﬁhen/%, Na+b+a) is equal to /=T . o7 . 27
(A) 1 (B) L 29 29
117 HLIT — =T
4 1 2 € 33 (D) 53
C) =4 (D) O 72. Given that x, v, Z are positive real numbers, if
2 \ p
(x+y)-2"=8, (v+zf-x*=10and (x + 2)* —¥*
. 1 : =7, then (x +y + z) is equal to:
F0. Given, a + — = 2, what is the value of ? o
| a | T T ® fF x, v, z YOI IRAaE WA €, AR (x +
e 1 Y-z =8, (y+ 2 -xt = 108 (x+ 40 -y2 =T,
[a +a11?]? dl (x + y + z) fHass w9 g ?
(A) 5 (B) 7
1 o fe s
Wa+;=2%’,ﬂ1[ 118+W]?ﬂqﬂamaﬂﬂ—ﬂ? )8 (D)6
A 118 B) 1 73, Ifatb+c=5andab+cbhtca=4, thena*+b’
{C]) 9 ED)] 117 + ¢® - 3abc is equal to;
Fcat+tb+c=58Tab+chtca=4% Ma’+b+
1 a’+b?_3ab ¢* — 3abc FEF TR T 2
71. Ifa-= \/g_ﬁ and a = E,thenm (A]GQ [B]72
is equal to: (C) 68 (D)65
Solution
4 A 3 4. (B) a*+4b*+49c*+ 18=4b+ 56c-2a
s . S s {82 (% + 2a+ 1) + [(2b)° -2 (2b) + 1] + [(7c)* ~ 2
' <Y by) (xy) (7¢) (4) + 4] =0
Yy fa+ 12+ (2b-1)2+ (7c-4)2=0
7y =3x10 43— 133
=() >i(x7:343 210=.l v 1 4
10 1000 1000 =a=-1,b= 7:¢% 7

2, B 8x*+y*-12x-4xy+9=0
(4 +y*—dxy) + (4x* - 12x+9) =0 1 4
(2x-y)2+ (2x-3)?=0 :>3(—1]+2(E +7[;]
= 2x=y 2x=3

3 _ s = -3+1+4
=5 y= =2
3
= 14x - 5y = 14 x 5—5><3=21—15=6 5 (A) a*+b*+c¢*-3abe
5 4ol = 2 24+ gi—

3. D) }_(y;{z;)z Sxyz=(xty+z) (CHy -y ={a+b+c)(a*+b*+c*—ab-be—ca)
(19 =x"+y"+2°+2 x114 (25-27)
=x*+y*+z*=361-228=133 125 — 3abe = (5) 27—
=x*+y*+2°-3xyz=(19) (133 -114)= 19 2
- \/x3+y3+z3—3xyz+4xyz 125 -3abe = 5(28)

125 - 3abe = 140
= J197 +4x216 = /361+864 3abe = -15
= 993 =35 = abc = -5
1225 N 4abe = -20
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11. (B)
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(\ix)q - (-\.-"E_y)s = (\."Ex— \/5\!) (3}(2 + 2__\#2 + (ix__y)
Comparing with original equation
A=3,B=-/,C=2
AP-B*+(C*=9+4-6=7

(Zﬁx)h\ + (\/Eyf = (2\/5): + \/Ey)

(12x2 +2v° + 2-J€_wx}r)

Comparing with original equation
A=12,B= 2/ C=2

2(12)+ 6 (246 ) -
24-12-2=10

a*+ b*+ ¢ - 3abc

—(a+b+c) [([a+b+c)-

=(4) (4*-3(1))
=4 (13) = 52
at+h*=(a+h)(a®+b?-ah)
=(a+b) [[a+ b)?-3ab]
Required

3 (ab + be + ca)]

110 = 5(R)
R=22

(5*- 33)}

a*+b* + ¢* - 3abe = (5) {33— 5

nmn
|l ]
[#s]
w

5) (33 + 4)
% 37

(248x) ~(V3y) =(25x~3y)
(20x +'%y +2\/Ex3)
JBP+C - A

= J60+9-20
= J69-20 =49

14. (D)

15. (B)

17. (B)

1
2—_. =5
X Xz
= {x”—l&—\%(xg—l,}rl}
XU %
_ { r’———15+1} X 14
. 1
NG

1
x0- —-3x5=125
X

1
=x°— —=140
X

=140-14= 126
2] ]
= (2\/§x+\/5y)(12x2 +5y -2 15}0(]

A=12,B= /15, C=5
. 5A— /158 +C=60-30+5
=35
1
X+t —=7
X
1
X'+ — =343 -3x7 =343-21
X
=302

) ()]

= (5\/5)( — \./gy) (50)(2 + 5y2 + 5\/%)(3')
Comparing with original equation
A=50,B=35/10.C=5

=A+C _flpB =50+5-50=5

2(x*-8) (xe+2x+1) (X +2x+4)
(x*-x-2) (x-4x-5)  3x-15
~ 2(X—2) X(x2+2x+1)
_(x"‘—x—2) (X—i—l)

6(x—2)(x+1)°
" x-2)x+1(x+1 ©
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Mother's Advance Maths « Algebra [Previous Year Questions]

_ _ _ 361-133Y 1
18. (A) x*+y+z° - 3xyz =(19) 133 — — 25, (C) x— ; - 10
228 g ' '
=19 [133—_—J RSN [x—l] +3[x—l]
2 X’ X 'Y
= (19) (133 -114) = (10)*+3 x 10
= 19x19=36l = 1000 +30 = 1030
19. (4 2 xty)) - (x - y)* ) 26. (C) @'+ b= (a+ b)— 3ab (a+b)
=(2x+2y-x+y)[2xt+y)] (a+b)?=88+ 12 =100
-y 2 (x-y) =a+hb=10
= (x+ 3y) [4x + 4y° + 8xy >a+rb=10 =
+ X2+ y2- 2%y + 2x? — 2y?) at+b*=({10"-3x6x 10
= (x + 3y) (7% + 3y% + 6xV) = 1000 - 180=820
Comparing with original equation 1
A=7,B=6,C=3 27. (B) X4+x_4 = 2207
A-B-C=-2
20. (C) [(3a) -2 x (3a) x4+ 42] + [(4bJ> = 2 x (4D) = x4 o =47
3+37+C2=0 X
= (3a-4) = (4b-3)* + ¢2= 0 :
4 3 Wy = T
>a=—- b== ¢=0 4
5 + 4 3 28. (B) a*+ b+ ¢’ = 3abe
:>3a+4b+5c=3[§]+4[i]+5(0) atb+c =20
—41+3+0=7 - 3x—-7+3x-8+3x+6 =0
9x-9 = 0
1 =1
21. B) x+_ =6 X
1
[X_1+ _1] o 29. (B) X'+ = 1442
2 X+ .
XJ__ X §'-3x6 L1
x*+1 ! ¥ wm X+ 7 = 38
X 1
= % =33 = X+ ; = \/m
22. (D) x*+y'+2z'-3xyz=(3)(9+ 36+ 18) 1
AR | 30. (A) x+— =10
23. (A) (2 (a+b)) + (a- b’ o _1
=(2a+2b+a-h) (4 (a+b)?+ (a— by X'+ 5 = (109 -3(10)
—2 (- b) = 1000-30 =970
= (3a+ b) (4a® + 4b% + 8 ab + a® - b?

_2ab - 2a%+2b?Y) | 31. (B) a’+b* = (a+b)*-3ab(a+ b
= (3a+b) (3a2+ 7b? + 6 ah) a?+b*> = (a+b)’-2ab
-A=3,B=6,C=7 99 = (a+b2-2x 11
=A+B-C= 6-7=2 fa+b)? = 121

24. (D) a’+ b+ c® = 3abc = ath =11
atbtc =0 = a’+ b = (11 -3 x 11 x 11
(X—7)+(X—8)+gi+_69) - 8 = 1331 -363
- T3 = 968
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32.

33.

34.

35.

37.

38.

39.

40.

(A)

(A)

(A)

(A)

Mother's T0Sa19 » dizmfvr

a’-b* = (a—h){a*+b*+ah)
fa-b)? = a*+ b*-2ab
= 135-2x7
= 135-14=121
a-b=11
a‘*-b? = (11)(135+7)
=11 =142 =1562
a*+b*+ ¢’ = 3abe
= atb+c =20
2x+7+2x-8+2x-3 = 0
6x-18 = 0
X =3
X"+% = 1442
Y
1
x*+ — = 38
X
1
X+;=m
= 2J10

-t 16V + 3(-2v2)
x

= J16\2-642
= 222
5:4\:& T 123\& _ 133\:&
Fromoptionx =8
a*+b*+ ¢® = 3abc
atb+c =0
(2x+7)+(2x+8)+(2x+3) = O
6x+18 = 0
x=-3
a*+b*+ ¢’ = 3abe
= atb+c =20
X+7+2x+8+2x+3 = 0
5x+18 = 0
18
X = —
5
= -36
By hit & trail
X = 8
1 .
Xx=2_.3 ;=2+\/§
X—t =23 o xte —=-243+3(-243)
x x . -

= 243-6/3 = 23043

41.

42,

13.

17.

18.

(€)

(D)

. D)

- (B)

(D)

a’*+ b*+c® = 3abe
= a+b+c =20
(x-8)+(2x+16)+(2x-13) = O
9x-3=0
x=1
S‘UX " 44%")& _ Six
By hit & trial
x =16
x= 243
lzz_.g
X
1
= X+ — =4
X
_ 1
= x*"+?=64—3><4
= 52
x=2+ /3
ay. .
X V3
1
X+ — =4
x
.
= x°+F = 64-12=352
64\."'; + 84J; = 104\-';
By hit & trail
x =16
a*+ b+ ¢® = 3abe
= atb+c =0
X-7+2x+8+2x-3 =0
S5x-2 =0
_ 2
*7 5
= 0.4
(a+b)*-3ab = a*+b*-ab
a’+ b’ = (a+Dh)(a*+b*-ab)
1344 = 28 (a*+ h*—ah)
= a*+b*-ab = 48
x= 2+ /5
1 —
—=45-2
X
1
x-— =4
X
5 1
X—— = 64+3 x4
x
= 76
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49. (D) X' +x1 = 47 =  2(x-3) = 2x2+18-12x ... (i
1 From (i)...
X+ — =3 2x*-12x = -2
7 Putting value of 2x? - 12x in eq. (ii)
x—;=\/§ = 2+18 = 16
So, x =3+ 5 55. (D) a?+b2+ab
a’~b® = (a—b)(a®+b*+ ah)
22x-3) = 2 (V5] = 10 899 = 29 (a+ b + ab)
o 899
a‘+bhb‘+ab = ¥=31
50. (B) x=2+ /5 —=J5-2 -
V5 V5 56. (B) a*+b'+ ¢’ = 3abe
1 = atb+c =0
x+; =25 Bx+ 1+ (x-3)+(2x-4) = D
Ox-6 = 0
X'+ = = 405 -3(2,5) x =2
* ° ° 57. (C) Put a=1
= 405 -63 L 1y .
= Y +_ - I
= 345 41[3 a) [a a]
51. (D) a%+b*+ab '
a’*— h* = [a_b] [a_'2+b2+a_b] = 1(22)=1
= 2 2 4
899 = 31 (a+ b*+ab) 58. (A) (20)% = 152 + 2 (ab + be + ca)
= a‘*+hb*+ab = @=29 400-152 248
31 :>ab+bc+ca=f=?
52. (C) x'+ — = 194 = 124
1 1 1
59. (C)  (x+vp +{y+z)* +{z+x)3 =0
X£2+ 7 = 14 ( J) (} ) ( )
x 1 N 1
%+ 1 _ 4 = (x+y)Hy+z)+Hz+x) = 3(X+ ¥} [y +2)a (z+X)3
X
o\ W Sty o = o ey et
= x-4x+1 =0 () 8
(2x-4)? = 4x+ 16 - 16x ... (ii) =>x'+ty't 2 13X +y)(y tz)z + %)
Fromeq. (i) 4x*- 16x+4 =0 27
= 4x!-16x = -4 =§[X+y)[y+z][z+x]
Putting value of 4x* — 16x in equation (ii)
-4+16 = 12 5 )
=Xty tz = oxty)y ta)ztx)
1 =
53. (B) x- = 7 60. (A) put a=1
1
[al——4] =1-1=0
xi= 5 = 343+3(7) a
= 343 +21 = 364 61. (B at L =3
&
54. (A) X2+ 5 =34 .
X d\*"r—_.{ = 18
] a’
x+— =6 ]
X a*+ — = 324-2=322
= x+1-6x =0 - ()
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62.

63.

67.

68.

69.

70.
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1 1 1
a'=x b=y =z
x+ty+z =20
(' +y° + 2P = (Bxyz)°
f f o)
36xa’ xb* x¢?
'729a%hc?

fa+h-cP=a*+b*+c?*+2(ab-bc-ca)
110+ 2 {ab - bc - ca)

144
34 = 2{ab-bc-ca)
= ab-bc-ca = 17
fa-b)2 = 169+2x60

= 169-120
= 49
= a-b =17
= at+b = 17
. a?—b? = 17x7=119
1 41
TR YRR ¥
a1+
Y= 3% 72 7

3

12N
72

10-2.43 x102= 1417 x7+7x

= x = 0.0081

a’+ b+ ¢’ 3abe=0
= atb+c =20
=SBx+ 1)+ (x-3)+(4-2x)= 0
= 2x+2 =0
= x = -1

(1.25){1-6.4 x 109 =1.2496 + a
= a=0.0032
jfa+b+td4)j{ab+4(a+b)}-4ab=0

Put a=b =0
1 11
w2 =g oE
(a+b+4) 4 2
1 1
put a=1

1+1=2

required value

71. (A)

72. (A)

73. (D)

12. (B)

a= \8-\7
b= 8+:7

a+b= 2-\/§:>4-\/E
ab=1
a?+b’—3ab _(a+b)’ —5ab
a’+b* +ab  (a+b) —ab
(42) -5
:>7
(4J§f—1 T 321
(x+ 3 -2
v+z)*-x* = 10
(x+z)pP-y* =7
adding all equation

1l
oo

x*+y? 4+ 2xy —z2 =
vi+z2+ 2yz-x* =
X+t 2xz-y* =
XAy + i+ 2y tyz+x =
xt+tyt+tz=35
atbh+c =215
ab+be+ca = 4

a*+b*+ c*-3abc

={at+b+c)iath+c)?-3(ab+bec+cal]

=5(25-3 x 4)
=5x 13=65
:$35J§—7—15+J§_a+bdg

46 23

:>736J;2 22 =a+b\/§

Sa+hf3 =-11+18 f3
on comparing,
a=-11,b=18
b-a=18-(-11)=29

8
10
7
25)
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(SSC CHSL - 2018)

ALGEBRA
stepTfora

(Previous Year Questions)

What is the value ofa- b when a? + b* - 6a-6b
+18=07

a-bhHFHAFNE, T F a?+h?—6a-6b+18=0%?
(A)O (B) 3

(€)6 (D)9

The quadratic equation (1 + a%)x? + 2abx + (b? -
¢?) = O has only one root. what is the value of
ci{1+a?)?

fgama T (1+a2)x2 + 2abx + (b? — ¢?) = O T Had
T® e , a1 c2(1+a2) = |9 71§ ?

(A) a® (B) b?

(C) ¢ (D) ab

4 4

a +b
Determine the value of — e

when a = 2 +

J3andb=2- /3

a2 |_2 . _

d{}; FARTTH, Taa=2- /3 sMb=2~ /3
&

%2

(A) 0.27 (B) 0.42

(C)0.58 (D) 0.93

If 32+ J18+.30 = 15.55, then what is the
value of f372 + 727

g 32+ J1g +J50 = 15.55 %, @ 32472 H
HFNE ?

(A) 13.22
(C) 14.13

(B) 10.83
(D) 16.54

a b
Determine the value of %Jr_— whena+hb=8
and ab=4.

a b = S N
E"‘g Eh‘lﬂ'l‘*lil]‘cfﬂv_{',ﬁﬁra+b=83TRab=4%’l

(A) 4 (B)8

cy12 (D) 14

Find the value of x* - y*, if x—y=4 and xy = 12.
X -y RAFTA R, e x -y =4 IR xy = 12|
(4) 198 (B)208

(Cy218 (D) 228

10.

11.

12,

13.

Which of the following value of 'x' satisfies the
equation 81+ = 2432+

%' = T A H | R W 8144 = 2432008 Ty

T T ?
(A) 3 (B) 4
() 5 (D)6

What will be the value of 1* + p* + s* —rp-ps—rs
whenr=4, p=2 and s =87

12 + p? + 82 - rp - ps — rs T HAF FN A, T&GEF 1 = 4,
p=28Rs=8%"?

(A) 8 (B) 18

(C) 28 (D) 38

Thevalueof 1 + 2+ 25+ 21+ +2%ig
1+ 22422+ 2"+ + 2% 1 q 27

(A) 255 (B) 511

(C) 1021 (D) 2047

What will be the value of 2* + b®, if a* + h* = 32
andatb=87

a® + b = oI TN, ST a + b2 =32 3Ta+ h=
8%F7

(A) 8 (B) 32

(C) 128 (D) 256

Find the value of ‘' if {{fy*)=225

'y 1 = T B, At ({/)TS)=225 #l

(A) 10 (B) 12

(C) 15 (D) 18

Find the sum of 0.00005 + 0.88885 + 0.77775 +
0.66665 + 0.55555.

0.00005 + 0.88885 + 0.77775 + 0.66665 +
0.55555 = AT 7@ L 2
(A) 2.88885

(C) 3.6875

(B) 2.88875
(D) 2.9875

4 .
Ifx + ;= 4, then find the value of X + 1
e x + ;=4%,Fﬁx°+ 1 =1 7 3 2

(A) 51 (B) 65
(C) 78 (D) 82
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14.

15.

16.

17.

18.

19.

20.

Mother's T0Sa19 » dizmfvr

If —zx +2=x-06 then find the value of 'x

a—'l%: et

(A) 1 (B) 2

(€)3 (D) 4

1 . 1

If x+ < -2, then find the value of x*'+—

X
- 1 " a1 “

Txt—= 2%, /A x4+ ey T W F

(A) -2 (B) -1

()0 (D)2

If 9= = /247 , then what is the value of x?

AE9r= yoa3 T, Ax AR FNE ?
(A)5/11 (B) 5/22
(C)5/7 (D) 5/33

1 1
Find the value of 27a* + —,if9a*+ — =43
a a

1 . 1 .
27’ + o T 9 919 L, 95 9a2 + o =43 %I

(A) 240 (B) 280
(C) 320 (D) 360

] :
Ify= 3-2,then find the value of [y_:,_}’"]

¥ ] =h! HI I =h |

1
aey= J3-2 B [}T_

(A) 11 B) 112
(C) 22 (D) 22,2

a+2 ¢
XY = “2= and 2=, then find the value of
. :
x _yl

at2 .y 1 X 4y’

?ﬂ%xy— 3 X_3 s }\2_}’2 =Rl HIH FId
7
(A) 1 (B) 2
(€) 3 (D) 4

Assum 57 + 59 + 109 = 0, then find the value of
577 + 59" + 109"

e ity foF 57 + 59 + 109 = 0 8, @ 57 + 597 +
1093 &1 9 51 57 7
{A) 1099701

(C) 1099801

(B) 1099601
(D) 1098701

21.

22,

23.

24.

25.

26.

Ifx= % andy = y_ 1 , then find the value
of x% — y*

qfg x = ﬁj Ry gi , 1 X% — ¥ I HE
oy

(&) (5 B) 2,5

(€) 35 D) 4.5

What is the value of 'x' in

23x =527 x +108x =217
23x —5427x +/108x =217 & X T A FNE ?

(A)0.33 (B) 1
)3 (D)9

1 5
Ify— ; =4 then find the value of (Y _y_:,]

1
Ay - ;24 g {)f _y:a] 1 T & ET 2
(A) 64 (B) 76
(C) 88 (D) 90
Ifa= j542./2 andb= 5 , then find the
value of a% — b:
AMEa= f5,202 b= J5_2/3 & Wa?-b2=®
T AR 2
(4) 2 (B) 4
C) 242 (D) 442

X+y 2x+y

Determine the value of X+—2ywhen x+—4y= 3
X+¥ 2).+y .
X+ 2y 1 6 o, e ).+4y 3%
Al ml @t o
@Ws B ©F O
If x =4+ f15. then what is the value of

<)
X"r—z 2
AMEx = 4+\/_75‘Tﬂ{x +[1]:|EF|‘I|'|=|‘EE|'|‘3‘?

(A) 62 (B) 64
(C) 34 (D) 36
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27.

28.

29.

30.

31.

32.

Mother's Advance Maths « Algebra [Previous Year Questions]

Ifx+v+z=6andxy+zx+zy= 10, then find the
value of x* + y* + 2° — 3xyz.

AR x+y+z=63Mxy+zx+zy= 108, A +y* +
z¢ — 3xXyz A F@ = |

(A) 16 (B) 26

(C) 36 (D) 46

Ifp& q=p?+ 4pg - g then find the value of
(3&6) + (48&5).

e p & q = p* + 4pq - @2 %, T (3&6) + (4&5) HTAA

EI'I—CT_W'_{ |
(A) 08 (B) 106
(C) 116 (D) 126

1 1
Ifs + §=4, then find the value of 8% + R

N 1 . - 1 .
e S + §=43,?ﬂs3+ = 1 A 1T HL |
(A) 14 (B) 16
(C) 20 (D) 24

4 1
Ifx 205 4342 then find the value of[ XJ.

RIP S ﬁ T [x+%} = HE FA S 2
N (1043 + 1542 A (1073 -15+2)
TR AT
. —(10J§—3.3J5) e (103 +33V2)
. (e

1 1
Ifp+ E:m,thenthevalue of p" + p_4

1

TI'Fq'p-i-E_\/_ %’a‘rp4+p A T
(A) 52 (B) 60
(C)62 (D) 65

|V
Ifz=6 - 2./3, then find the value of [\/_—T]
7

‘ 1Y .
Aez=6-2/3 %, 1 [\/_—$] 1 HH AT R

A 102 —446\/3 B) '102—246_\/5
Q) -102;&-@ D) ’12—;6\/3

33.

34.

35.

36.

37.

38.

fx-7)2+(y+10)° + (z
value of x+y+z
AE (x = 7)2 + (y + 10)2 + (z-6)2 = 0 §, T x+y+z =
T A |

(A) 1 (B) 3

(€) 5 (D)7

The two equations x4y = 0 and 4x + 3y = 19

- 6)% =0, then find the

have a sclution (a, b). Find the value of

-Lb
aﬁmuﬁx—4y=03ﬁt4x+3y=19%ﬁww

YA (a,

—lb

If (8, 2) is a solution of x+4y—2k = O, then find
the value of k2.

=fe (8, 2) 71 &, FHIHW x+4y-2k = O 1, 91 k2 %1 A

T Hifeg |
(A) 36 (B) 49
(C) 64 (D) 81

Ifa*+a-1=0then find the value ofa®+a'"+a
-2,

Teal+ta-1=0% da’+tat+a-2 FAAITEFN
() -1 (B) O

(€)1 (D)2

1
What is value of (6x* - Sy (6% + 5y7), ifx= ﬁ

andy= E?

(6x* —15y~)(6xz + 5y2) FARMFE, A6 X = ﬁ

y=5 &7

(A) 2 (B) 3

(€) 4 (D)5

I[fx= :;Eil and y = %, then what is the
value of x + y?

- f+1 \/3—1

e X = \5_] TMy= \/— ,?ﬁx+yEF[‘=l'F[EP3IT
7

(A) 6 B) V2

(€) 3 (D) 342
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39.

40.

41.

42,

43.

44,

15.

Mother's T0Sa19 » dizmfvr

Determine the value of x* + y* when x* — y* =
54, x-v=18 and xy = 2.
X2 + y2 = A efo, saa x? - y¢ = 54, x—y = 18
diRxy=2%|
(A)Q (B) 1
(C) 2 D)3
If 16%*% = 64, then what is the value x'
=g 1626 = 64 7, T x' 1 A T e |
9 9 18 18

@-7 B ©@-3 O
Find the value of 'x', If 8 x 32* = 2'¢
X' o1 HF T B, AfG 8 x 32 =210 F |

1 10 20 30
Wy ®F ©F O

a+b

I[flla+ 11b=29282 find the value of

. . a+h ‘
ofz 11a+ 11b = 20282 % i %mnﬁmaﬁn

(A)661.5
(C) 665.5

(B) 663.5
(D) 667.5

Find 'x'if \J(2+7x) = J(3x+4)

X' FHE A H, A J2+7x) = J(3x+4) T

(A) 0.5 B)1
({C)1.5 (D)2
\/: i \/J: 5, then find the value of 'x'.
I \/XI;+\/\/:—53 1 "X’ T AH TG T |
(A) 1 (B)2
(C) 3 (D) 4
6]\{;; 7\/\{5;) a+ b\/_ then find the value of%
T \7%17\/\/; a+bye %’Fﬂ aammamam%ml
(A) 9 (B) 19
(C) 38 (D) 42

. in Yn
Fmdthevalueofn+7+j+ ..... oa

+_n+?Tﬂ+ ..... o o1 H I ST |
(A) O (B) 1
(C) 2 (D) Infinity / 374

417.

48,

49,

S50.

S51.

S52.

If 2x? + 2y2 = 4a, then find the value of
2a 2a
x*—a y -
) ) . 2a N 2a
AME 2% + 2y* = da®, W T I _a WA
Eancd
(A)O (B)1
(C) 10 (D) 11
2x+3y M X
3 .~ =, then the value of - is
Ax—4y 7 v
. 2x+3y 11 .
ax_dy % ?ﬁ - A iapll
63 68 67 Hd
(A) 79 (B) 15 © 5 O3
Find the value of ,j 2x o 2(x - 1
l<x<2,
J(2x _5)2 +2(x — 1) = HA I@ A, ARG 1<x<2
Z
(A) 1 (B) 2
(€y3 (D)4

5 iF 7 Hx 1 7 o)
If| = - =|—=| , then find the value of x
7)Ao 5

which satisfies the equation.

. 5 Ax 7‘3x| 7 r)-:l R . .
e | =] | = =13 ¥, 91 X 1 98 HM F1q &L =

7, \5
T T A WO F)
(A) - (B)-7
(€)1 D)7
XZ'SZ _ 1 XW) _ 1
If =5 then find the value of
h 4

L x*t -1 . x% -1 .

qfs ——=5 eI L Hiferg ?
h 4

(A) 40 (B) 70
(C) 140 (D) 180

If the arithmetic mean of two numbersis 7 and
the geometric mean of the same two numbers

is 2/10 - Then find the numbers x and y re-
spectively, such that x>y.
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Mother's Advance Maths « Algebra [Previous Year Questions]

=f T Tt = stwfid e 7 § ofw s & sen Y
TR WM 2,10 &, TEA: x Ry Fen @ Hg, | 56, Determine the value of {Y‘;J when
ﬁﬁ%x>y%l 1
! =34
(A) 4, 10 (B) 2, 5 v r=?
(©) 5, 2 (D) 10, 4
§3. Ify=1°+2°+ 3%+ 4% + 5 + 6% then find the 1y Y B Y
value of y-1. [y y] =1 HH T i, 9 Y v gl
Ay =19+ 27+ 3%+ 45+ 55 + 6 &, 4l y—1 FHF I (A) 1 (B) 2
Hife 2 (€) 3 (D) 4
(A) 429 57. Ifu+v=10anduv = 16, then find the value of
(B) 439 2
(C) 440
D) 441 uv . oy
() Wu+v=106muv=16%‘,?ﬁu’-ﬁrﬂ'ﬁ3ﬁ
e uv
54. If \/ly =4 -6, then find the value of y* - 20y I |
15 15 15
12 o @wo  ®B5 ©5 O
A Jy =4 -6 #, @ y* - 20y + 12 % =F 9@
e | 58, Ifx*+y*+zZ-8x+6y—4z+ 29 =0, then find
(A) 4 (B)8 the value of z(x+v) )
(©) 10 D) 12 e x2+ y2 + 22 - 8x + 6y — 4z + 20 = 0 ¥, A z(x+y)
=R T {0 |
55. What is the value of X' + v when the value of x* (A) 1 (B) 2
+y'=8andx+y=27 (C)3 (D) 4
Xty AN Y, W xS +y* = 8 it x +y =27 | 59. What is the value equation a®+ b®+ ¢® —3abc if
e % ? a’+h’tct=ab+bctcatdanda+tb+c=4.
(A) 2 a’+b’+c? - 3abc A TN ERT A% a2 + b? + ¢ = ab
(B) 8 +hc+ca+d 3diTa+h+c=47%|
(€ 16 (A)0 B) 1
(D) 32 (€) 16 (D) 256
Solution
L. (A) 2\ @gb” - GAQOREARS = § 4. (C) 342+ 18 + 50 = 15.55
a2-2%xax3+9+b2-2xbx3+9=0 © 342+18 '
(a-3)2+(b=-38)2=0 3v2+342+5/2=1555
ng;b(): ¥ 1142 =15.55
2. (B) (1 +a%x2+ 2abx+b2-c2= 0 15.55
b*-4ac=0 V2= 11 =1.413
4a*h? = 4[b? + a?b? — ¢? - a®c?)
¢l +a?="hb? J32+72 5 42 +642
3. (A)a=2+.3,b=2-3, = 102
atb=4; ab=1 =10%x1.413
o \ = 14.13
a’+b? (a+b)" —2ab 2
- - 2 2 ;
ad_,’_bd (a+b)”—3&b(a+b) 5. (D) E E - a“ +b - (a—i—b) —2ab
h a ab abh
lo-2 14
bl S 64-8 519)
:>64—3><4 52 0.27 :)—4 :T= 14
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10.

11.

12.

13.
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y X
=12
f -y = (x-y)P 33Xy (x-y)
= 64 + 144 =208

814x+4 -_ 2432+8

["‘4—)4—3; 4= (35)4—x+8

Bloxt1G = 3 10x+10

l6x+ 16 - 10x-40=20
bx =124

x=4
r*+p*+s®—rp-ps—-rs

=

2 2 ]
" +p°+8 —3rmps
- P p

T+p+s

- 64+8+512-3x4x2x8
14

684192
14
1+22+ 25+ 244
1+4+8+16+

=

392
= 14

2-1

1 +[4(256 - 1)]

1 +(1020)=1021
a?+h?=32,a+b=8
a*+b%+2abh=64

2ab=32

abh=16

a*+h® =(a+h)®-3abla+h)
= 8-3x16%8

= 512384 =128

) 4y* =225

(A)

1
(") =(15)°
yz =152
y=15
0.00005 + 0.88885 + 0.77775 + 0.66665 +
0.55555
= 2.8885

x+d a1
X

x*+4x+4=0
x-2)*=0

x=2
=
=
=65

xX+1
20+ 1

14.

15.

16.

17.

18.

19,
20.

21.

(€)

(€)

(%)
(A)

_5—X+2=X—6
3

-bx+6=3x-18
-8x =24
x=3

1
X+ —=-2 = x=-1
X

X-{'J'JI +

=-1+1=0

Xt3;1'2

a
2
[3a+l] =49 _, 3a+l:7
a a
—5-\2
=J3+4/2

R

l_yzg.\/ﬁ
¥y

(1] 53

:>(2J§)u +64/2
= 164/2+ 642 = 222

57 +59+109=0
atbh+tc=0
a*+b*+¢*=3abc
57+ 593+ 109% = 3 x 57 x 50 x 109
= 1099701
J5+1 J5-1

\/§—1 "5+l
(1] +{s5 -
4

_5+1+2J§+5+1—2\/§
B 4

=

X+y=

=3

x—y=+5 = x>-y? =35
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22,

23.

24.

25.

27.

Mother's Advance Maths « Algebra [Previous Year Questions]

(@] Q@—Sﬁ+-m:—2l
2./3% — 5% 3/3x +/36 x 3x =21
243x —154/3x +64/3x =-21
+743x =+21

J3x =3
x=3
1

B y——=4
(B) ¥

1 1y 1
o s
y y y

= 4 +3x4
> 64+12=76

B) a=+5+2J2,b=+5-2J2

a’=5+2J2.b* =5-2J2

a’- b’ =42
2x+y .
=3

Xx+4dy

2x+y=3x+ 12y

-x=1ly
x 11
y_—l

x+y 1lk-k 10k 10

x+2y 1lk-2k ok 9

A) x=4+15

LN

X

1
=x+—=28
X

:>X'2+i,2=[x+l] -2
x

=64-2=62
C)x+y+z=6

Xy +vyz+zx=10

xX+y2+z2=36-20

xX*+yi+2z2=16

X+yi+ 2 -Oxyz=(xtytz)[xF+yi+z2-

(xy +yz + zx]]
=6 [16 - 10]
=6 x6=36

28.

29,

30.

31.

(€)

pandq=p*+4pq- g’

3ande=9+4x3x6=>81-36=45

dand5=16+4 x4 x5-25 =70
=71+45 =116

5+ 1-4
==
by Lo (g, 1Y
5 + 52—[5+g) -2
=16-2=14
. 4
23432
‘o 4 L 2V3-3y2
o3 +3d2 23-342
:\,M ______________ (i)
3
1 3 (32423
x 2(3f2-2/3) 32+23
3(3v2 +2J3)
12
3J2 +243 ..
g e (i)

Equiation (i) & (ii) we get

1 2(32 - 243 L3242

X+—
X 3 4

. 242 —163 + 92 + 643
12

_, 33/2-103 ~(103 - 332

12 - 12

P2+ —s+8 o, (i)

P'+ — +2=64
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32.

33.

34.

35.

37.

(€)

(A)

Mother's T0Sa19 » dizmfvr

z=6- 23

l: 1 X6+2J§:>l_6+2-\/§
z 6-2J3 6+2J3 z 24

-~ 1Y 1
[-Jz—ﬁ] :X+;—2

6 2ﬁ+6+2\/§_g

:}__—
1 1 24 1

. 144483 +6+2J3-48
24

102 - 4643
24

x-7P2+(y+10P2+{z-6)2=0
x=7,y=-10,z=6
Xx+y+z =7-10+6
=3
x-4y =0
X=4Y i (i)
4(4y)+3y=19
19y = 19
y=1 —=a
x=4 —b

4 1

8 2
x+4y-2k=0
at (8, 2)
8+8=2k
k=8
k* =64
a'+a-1=0

a’=1+a*—2a ... (iii)

Equation (ii] are mult by a we get
at=a-a*........ (iv)

Eq (i) and Eq (iii) and Eq (iv) we get
a'+a'+a=1l-a*+1+a*-2a+a-a’
a'+a'ta=2-(a*+ a
a*+at+ta-2=-1

I
3Jy \/g
el 1
“3Y T3

(6x* — 5y?) (BX* + by¥)

(6xl—5xl][6xl+5xl]
3 5 3 5

2-1)@2+1
=3

V2+1 0 21

38. [A) X:\/E—lsy_\/ﬁ-i-l

39,

41.

42,

13.

(\/5 + l)2 +('\/§— 1)'2

(V2-1){2+1]
2+1+2J2+2+1-242
- 2-1

:>3+2\E+3—2J§
1

=6

xX-yi=54,x-y=18,xy=2

(x—y)(x* +y* + xy) = 54

2+ 2+ —5_4
X +y:+xy 18
X*+y*+2=3
X2+y2=

1626 =54
el =43

4x +12=3
4x=-9

_=9

T

Sx W 32x= 2]_[_1
23x25x=2|0
283;:2]_[_1

8&x =10

_ 10

*7 g

lla+ 11b=2G282
a+b=2662
a+b 2662
4 4
665.5

2+7Fx =3x+4
dx =2
X=5:>X=O.5
\!x+5+\/;_§
Jx+5-4Jx 1

VX5 +dx +Vx+5 —x

Jx 15 +/x —Jx+5+Jx 4

Jx+5 _E

x+5 9

Jx 2:>x 4

IX=4x+20=5x=20=x=14%
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43.

48.

49,

50.

Mother's Advance Maths « Algebra [Previous Year Questions]

6-\/§+7-\/§ Cas
B) o8+ 50

6-J§+7J§X6J§—5J§_a+
63 +542 6352

108 + 424/6 — 3046 — 70 CasbE
108 - 50

b6

b6

38 1126
58
a=20 12
58 58
6a 6x38 _
b 122

2x% + 2y?*=4a
X*P+y*=2a............ (i)

26{ ,,1 + ,,1 }
X—a v -—-a

=0
2x+3y 11
3x—4y 7

14x+ 21y = 33x—- 44y
-19x =-65y

LY &
y 19

J2x—5) +2(x -1

Putx=1

J(=3) +0=3

Putx=2

Jey 2y =1+2=3
@ (3 - -

(A)

(C

[y

(75)'\x | ) .
T
7s) (%)
3x-1-6=4x
x=-7

|

51.

S52.

(€)

x4—-144+40=0
x*-10x-4x+40=0
X(x-10)-4(x-10)=0
x=10,x=4
Case - 1
atx= 10

v= 4
Case - II
atx=4

y= 10
Butgivenx >y
(10, x)
y: 13 -+ 23 + 3-", + 43 +53 + 61‘,
y=1=8+27+64+ 125+ 216
y-1=440

Jy =V3-6
J§+\/5:2

y+6+2\/@:4

y>+ 24y + 2y x 2 fey = 4
¥v:+ 24y + 2y(-2-v) =4
¥v:+ 29y + 4y -2yi=4
¥+ 20y -4=0
yi-20y+4+8=8

vi- 20y +12=8

Study Center : Jaipur ¢ Gopalpura  Lakothi ¢ Jhotwara ¢ Ambabari « Alwar

+ Udaipur



53.

Mother's T0Sa19 » dizmfvr

C) x*+vy*=8, x+y=2
(x+y) (x*+y*-xy) =8
2(4-2xv-xy)=8
4-3xy= 4
xy=0
X*+y*=4-2xy
X*+y*=4
X"+ y'+ 2x%y? = 16
x"+y'=16

=47 x18-3
=843
1
. A A 2 = 17—
13. (A) x"+ v+ x% 16

1
2 4 52 = 5_
X Ty — XY 4

(x* + y* = Xy)(x*+y*+xy) = x*+ yr+ Xy

21 ., 1
— X{x*+ y*+ =17 —
o Xty ) =17

) \ 13
(x +y~+xy):T

17
u 2y 20
(x* +y2) )

(x-y)* = x* + y* - 2xy
=Xy -Xxy-xy

21 21 17 _ 21
= = ot
4 4 4 4

2z 22
x-y9=

57.

S58.

59.

(€ U+V=10, UV=16
U2+ V2+ 20UV —4UV =100 - 64
U-V=6
LP—Vgﬁ(U+VNU—V)
uv uv
10x6 _ 15
16 4

B) x*+y*+2z*-8x+6y—-4x+29=0
X*-2xxXx x4 +16+y*+2xy x3+9 +2z% -
2xz x 2+4=0
x=4,y=-3,z=2
=z(xty)
=224-3)=2

(C) a®+b*+c*-3abe
a®*+b*+c’-ab-bc—ca= 4
at btc=4
(a+b+c)[a*+ b%+ ¢?—ab - be- ca]
4x4=16

W

1
e

I
b | O
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Mother's Advance Maths « Algebra [Previous Year Questions]

(SSC CGL (PRE) - 2021)

ALGEBRA
stepTfora

(Previous Year Questions)

If (x+ 6y) = 8, and xy = 2, where x > 0, what is
the value of (x* + 216y%)?
9% (x + 6y) = 8 3ixy = 2 5@ x > O, T (x* + 216y7)

HHA FE ?
(A) 476 (B) 288
(C) 368 (D) 224

Ifx +y+ 3 =0, then find the value of x* + y* -
Oxv +9,
A x+y+3=0 A x* +y* - 9xy + 9 & HF I

Fifera-
(A) 18 (B) =36
(C)-18 (D) 36

If (4x + 2y)* + (4x - 2y)® = 16(Ax® + Bxy?), then
1;
what is the value of E(__JA'A + B”) ?

A (4x + 2y)° + (4x - 2y)° = 16(Ax® + Bxy?), &

%(m)wmw%?
(A) 8 (B) 7
©)5 (D)3

1
If x=4+.15, what is the value of [Xer;J?

E g ]' )

(A) 54
(C) 72

If a? + b* + ¢* = 6.25 and (ab + bc + ca) = 0.52,
what is the value of (a+ b+ ¢),if(a+b+¢) <D
P

A a2 + b2 + ¢2 = 6,25 $iT (ab + be + ca) = 0.52, ¥,
@ (a+b+c)MIATAR, I, if (a+b+c)<0F?
(A)—2.7 (B)-2.8

(C) 2.7 (D)£2.8

Find the value of 70* + 20% — 0%,

70° + 20° — 90° = W T FH{To-

(A) -300000 (B) -378000

(C)0 (D) 378000

(B) 62
(D) 48

10.

11.

fx+v+z=11l,xyv+yz+zx=-6, and x* +y* + z*
= 1604, then the value of xyz is :

A x+y+z=11,xy+yz+2x=-6, IRx* + y* +
z+ = 1604 ¥, a1 xyz I | a1 grm 7

(A) 5 (B) 1

{C) 25 (D) 4
[fatb+c=6,a2+b2+c2=32,anda*+b*>+¢*
= 189, then the value of abc - 3 is :

afe a+b+c=6,a%+b?+c? =32, 3Ta’ + b+ c*
=189 ¥, 1l abe — 3 &I 9 FaEU |

(A) 2 (B)O

(€3 (D) 1

I[fa? + b2 + 49¢® + 18 = 2(b - 28¢c - a) then the
value of (a+ b -"7¢) is:

g a? + b2+ 49¢? + 18 = 2(b-28c—a) ¥, (a+ b

~ 7¢) I =T qAEE-
() 3 B)2
(€) 4 (D) 1

If 8k* + 151c* — 2 = O, then the positive value of
1
k+—1|is:
[ k] is:

. 1
ofz 8k + 15k* -2 = 0 %, [k"‘_]ﬁh"l Y HIF

k
FNE?
1 1 1 1
(A) 2 (B) 85 ()25 (D)8
2 2
y: X
Ifx —y+z =0, then find the value of -
. 2xz 2yz
22
T 2xy
X z

5 _ v X
Wx—y+z—0%,?ﬁ2xz oyz ~ 2xy
it

(A) -6 (B) %

© Y ) -%

I HIS W
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12.

13.

14.

15.

16.

17.

Mother's T0Sa19 » dizmfvr

What is the value of x, if

-3

1
— — - — — £ 2
(5-x) 200 of (20 —x) = 0.08:

1 \
ofx 5(1—%} - (5-%) - 55g of(20-X) = 0.08%,
Al X o1 HH = E 7
(A) 36 (B) 18
(C) 24 (D)9

fx+y+z=18,xyz=81 and xy + yz + zx = 90,
then the value of x* + y* + 2% + xyz is :

T x+y+z=18, xyz=81 $ilxy +yz+2zx=90 %,
I X + Y + 2 + xyz B HA H=E 7

(A) 1321 (B) 1250

(C) 1296 (D) 1225

Ifx+y+2z=18,xyz =81 and xy + yz + zx = 90,

then find the value of {/x*+y*+ 2% + xyz .
AT x+y+z= 18, xyz=81 s xy+yz+2x=90%,
Y5 +y* 4z + xyz 1 HH T BT |

(A) 6
(C) 12

(B) 10
D)9

[f 247 %~ 33" = (V3 — VBy) (Ax - By + Cy?
), then the value of (A* + B? +C?) is :

T 22 x - 3.3y = (\/EX—\/E_Y)[AXQ - Bxy +
Cy?) &, 1 (A2 + B2 +C2) 1 T N & 7

(A) 11 (B) 16

(C) 18 (D) 19

fx+v+z=2 xv+yz+zx =-11 and xyz=-12,
then what is the value of x* + y* + z* ?
Tex+y+z=2,xy+yz+zx =-11 3inxyz=-12
LA HY + P MAFAFOE ?

(A) 42
(C) 36

(B) 38
(D) 40

1 . . (1
Elﬁ[xz"‘_zj=23:ETGI%TX>O%",FIT(XJ+_]W

X x®
H 1 L
(A) 140 (B)-140
(C)-110 (D) 110

18,

19,

20.

21.

22.

23.

Ifatb-c=5andab-bc-ac=10, then find
the value of a2 + b2 + ¢“.

g a+b—c=53Lab—bec—ac=10%,d a* + b2
+ ¢ %] 9 T I |
(A) 15

(€)5

(B) 45
(D) 40

If a2 + b? + 49¢2 + 18 = 2(b - 28c - a), then the
value of (a-b -7c)is:

AT a2+ b2+ 49c2+ 18 =2(b-28c-a) ¥, @ (a-b
— 7¢) I | 47 E 2
(A) 2

(C)3

(B) 1
(D) 4

If 22 x* - 3.3y = (_'\/EX— \./gy) (Ax? — Bxy +
Cy*), then the value of \[A?+B%+C?) is:

jTFQ' Q.JEXS_ 3\/§y3 = (\/EX_'\/EY)(AXQ—BX_Y-F

Cy*) %, T (A2 + B2+ C2) & 91 9azq |
(A) V11 (B) vo1
(€) V19 (D) V17
1
If Jx — Nl J3 , then what is the value of X"
s Lo

x'

. 1 o 1 .
qﬁ\/_—_\/_—=\/§%",ﬂTX"+;ao‘quWW7
(A) 7 (B) 527
(C) 531 (D) 623

Ifx+y+z=7,xy+yz+zx =8, then what is the
value of x* + y* + 2% - 3xyz? :
j5I'Pq'x+y+z=7,711y+yz+zx=8,%_‘?ﬁx3‘+y3‘+za‘—

3xyz FHF FANEM 2

(A) 200 (B) 150

(C) 125 (D) 175

Ifa*+b*=218 and a+ b = 2, then the value of
Jl-ab is:

g a® + b* =218 3Ra+b=2,8d 1_ap F 9H
FAENT ?

(A) S (B)3

(€) 4 (D)6
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24.

25.

27.

28.

29.

Mother's Advance Maths « Algebra [Previous Year Questions]

If a2+ b* + 49¢2 + 18 = 2(b + 28¢ - a), then the
value of (2a - b+ 7¢) is:

A a2 + b2+ 49c2 + 18 = 2(b + 28c —a) &, M (2a-
b + 7c) T HAE FART |
(A) 5

(€) -4

(B) -3
(D)1

If x* — 5x - 1 = 0, what is the value of

x" —-x"+x%-1

- ?
XJ
. R 2_1

e xt—6x-1=0% d % & =1
X

%7

(A) 145 (B) 140

(C) 130 (D) 135

Hix+y)P-ilx-¥)*-3v(2x*- 3¥?) =ky*, then find
the value of k.
A (e + y)* - (x-y)° - By(2x - 3y) =y B, A ke

oM A1d ifsg |
(A) 10.5 (B) 8
(€) 11 (D) 10

Ifatb+c¢=11andab+ bc+ca= 28, then find
the value of a® + b3 + ¢* - 3abc.

g a+b+c =113 ab+ he +ca= 28 g, 1 a* + b*
+ ¢* — 3ahe % HM TG HifoTd |

(A) 1639 (B) 407

(C) 2255 (D) 1093

1f [0‘4)( + l) =
X

1
[0.0645{‘* +— J >
X

5, what is the value of

afe [O.4X + éj = 5%, ar [0.064X"" + é] FARTE

Ead
(4) 125 (B)110
(C) 119 (D) 105

1
If X'“r; = 18, x > 0, then find the value of

L, 1
X+ —,
XS

1 , 1
X2+ — =18, x> 07 X*+ — T AE T@ 7T
X X
(A) 52
(€) 3445

(B) 175
(D) 465

1
30, If & -——==+b , X # 0, then what is the value
Jx
[X“ + 1,))
of X/
(x2+1)
<)
1 . _—
i '&_T: 5 x#0% @Y X mmmen
X (x2+1)
-
(A) 42 (B) 44
(C) 48 (D) 46

31.

32,

33.

34.

If 66 P+ 22 d* = (V6P + /2] (Sp* + Ma? -

Npq), then the positive value of /g2 + M2+ 2N2
is:

o2 646 p* + 2v2 o = (V6P + v2a) (Spt + Ma? -

Npq) &, 7 /82 + M2 + 2N2 = o= 7 0 8 ?
(A) 10 (B) 8
(€)9 (D) 12

1 1
If 53X——5X—-— =6, x > 0, then find the
4x 4x

value of 25x2 —

16x*
?:Fq'Sx—i5x—i—6 >0 %, q125x2 =
4x R T
HM T/ ey |
(A) 641 (B) 36
(C) 246 (D) 6.4/31

Ifa?+b*=65and ab=28, a>h >0, then find the
value of a* — b2

e a2+ b2=653Nab=8,a>b>0% Ma?-b2H

T 4 AT |
(A) 72 (B) 60
(C) 65 (D) 63

Ifx'-79%x%+ 1 =0, then avalue of x + x ' can be:
G x— 79x2 + 1 = 0 ¥, A x + x1 AR T P
g2
(A) 9
Q)7

(B) 5
(D)8
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35. I[f4x-3y =12 and xy = 5, then find the value of . 1 -
16%? + 9y? 86. If/=fz |a+—+3) =16,
where a is a non-zero real number, then find
T dx -3y = 12 itxy = 5,8 D e 1
e TR ' 8 ' the value of a*+ e
m l i = r + =% =, 1
(A) 33 wET a Wh FEal A 9 T, a1 a"‘+—2-‘m"r1:n=lsn’rr
a
(B) 18 RIS |
C)3 (A) 3 (B) 47
(D) 44 (C)49 (Dy7
Solution
1. D) x+oy=8,xy=2 6. (B) 70*+20°-90°
= x+6y)*=8" (70 + 20)*
= x% + 216y + 3 x X X 6y (X + 6y) = 512 70%+20°—70°-20°-3x70x20x90
Sx*+216y*+3x6x2x8=512 -378000
= x*+216y*=512-288 =224 7. (C) x*+y*+z* = 3xyz + (xX+v+z)[(x+y+z)*-
2. (C) x+ty+3=0 3(xv+yz+zx)]
putx=-3,v=0 1604 =3xyz+ 11[121 + 18]
=X Ey -Oxy +9= (3 +0-0+9 1604 — 1528
=-27Y+9=-18 —— bxyz
Method II k
x+y=-3 75
[X+y]3 =_07 ? = 25
XP Ay + 3%y (xHy) = =27 8. (B) a+bi+c = 3abe+ 6[(A+B+C)*-3(ab+be+ca)]
X3+ y¥ - Oxy = -27 _
i 189 = 3abc + 6(36-3(ab+hc+ca))
addQ both sides 189 = 3abe + 6(30)
X +y -Oxy+9=-27+9=-18
3. (C) (atbh)®+(a—bh)® = 2{a*+3ab?) 9 _ abe
= (4x + 2y)° + (4x-2y)° = 2{64x™+3 x4x*x4y?) 3
= 2(64x* + 48xy?) = 16(Ax® + Bxy?) 3=abc
A=8,B=6 abc—3=0
1 1 9, (C) a*+2ath’™-2b+49c¢*+2(28¢)+16+1+1
L oVAT+B? = —x10=5 {atl)? + (b-1)*> + (7c+4)2 =0
2 2
1 a=-1,b=1,7c=-4
4. (B) x=4+ 15, _=4-V15 4
ath-7¢c=-1+1-7 )= 4
1
nxt =8 10. (C) 8K’ +15x*-2=0
8k + 16k*-k*-2=0
X+ —g4-2=62 Bk (k*+2) —1(k*+2)
x” 8kt =1
5. (A) a*+b*+c*+2{ab+betea) = (ath+c)? 1 1
= atb+c= ,/6.25 1 2x0.52 kK=o=3
= J6.25+10x = \7.29 =+2.7 L1 1
~oathbte< 0 k+E=§+T:2_
soatbte=-2.7 2
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